EEF/NRHEX
TRE284F98

G I |2 0 28 o B e

= == — iﬂ% e

Y 2 ] O A mE | o | o | e
~/ \i_—r_ = o o IJ.I JQ 23 BT% iﬁ]'

S TYES i 3w I A | 16 |1 I N
FINRFETH]6 23;9 HiEH | 485 112 14 DVRATH 21 #S % HIB.
SENETi il a BT ITERE NRATE |21 &7 £t 83.96 | & 6
FINRFEEAIE  H2 =i 38.75 [114 3 DIMRATHIT #IS T 162120 15t
KEINSF = BRI |9 pai] 42 25 |/MRATH | = fiﬂ 125.84 | &6
= \iﬁ-aaﬁﬁi 2 1 8 |Eih 21,05 | B 6
T Es I T i = e
A% \’ifzﬁ'%gg - g; Eﬂﬁ mwaez[108 1 [hEA A7
;;: :yi:i.'.?ziﬁ 1 %3 =3 13 RBATHI|2 &5 |TH - SEE
RIS TERNC B T T I
42 FEEA|12 ik 231 [10 — Hi
FINRFEERH13 §2 LLIFA 590|104 B |1 2 = 226.60 | &
KENS=EEa 14 &2 LLI#K 61 1108 INRRTH[23 FE 6 i it} 95 |&6F |
FINRFE BRI LAk 49 6 INRIRTH |22 AErE 95 |&f
EEAx?*#EEEEH 14 &3 LK & 2 Eith 146.20 =

FARFS TR = 42 |10 = '
F/INRFETRI5 e LI 46 8 13 UNRATHI22 % = HR
KFNRFEEA|15 §l LA 144|108 - 22680 1B
= NE TR LLI#k T8 2 |INEATH |22 _ ER
EE/]\QEE%EEH 15 #3 Lk 7 |%H 131.45 =
TV ES | 11N TR—T TEAmIID B E
F/NRFEBHIS gg LI 146 108 ? MNRATH 17 #2 | HL
FNRTERA]15 B IE:S 142 108 18 INRATH 22 &8 Eiﬁ 98.94
ii/]\iza%%ﬁﬁ T LK 139 108 INERTH 22 & 4 ft-h' 133.24
AFNRFEBAI HO LLI#A 146 [108 ? MNRATH [22 % 12 fﬂ; 12947
TR FEBAI5 HI0 IESS 148 [108 0 INRATH |22 & 11 Eith 127.09
FARFEEE5 E LA 113__[108 E ASRATH 122 % 10 L 197
AN EEE |15 & 12 mzi 3.66 |108 1§ ’j‘?%/"iTE 22 % 13 E;gg% 13463
EEIJ\%EZ%%E\T v U\Y /_IQTE 2 Ay 18 103
= 15 &13 i 172 48 i 2 %6 |HE
E N LLIFF 157 NELTH ]| Mg [ 333
T eS| L[ SLE T ST iz PhatTHs Bo oM 10
EN-EL TG §15 LIk 163 |28 3 [hRETHIY H 12 i 132.23
EN N EL L IIE §16 LIk 139 [49 13 [INEETH[9 & 11 i 138.21
ENCEL A §1; Wk | 1530 _[110 7 _[INRETHE[4 %4 i | 13500
kfﬂljx,lizaéé@éﬁﬁ 16 &1 LLIA£ 1,530 [108 17 MRATH[7 F 1 igiﬁ 121.58
FINSFEERI LI #£ 1559 4 INERTH (22 Ei 953.04 |5 =Z
— 3 EEHI16 FE?2 = . 110 |2 TNE &3 LLI%K A5
FNRFEBRI|16 &3 £ | 30806 111 A[2 MRATHE[17 #4  [IL# 238 I
FEEAl LA 194 6 PNRATH (19 =t 1177
FEERIIC &4 =i 1103 [/hRK # 14 |5 272
FEERI|16 &S T 23.23 RATH[17 & 11 |Fih 154'i0
= H E .
EE/]\%EEEE%% }g zg LLI#% 2;; 110 : SHIR
AFNRFETH17 H | LLIA 500|110 :; ASRATHE 7 # 12 [Sih Hif
FONRFEEA7 2 =i 7459 [111 A LRATE]T &3 |2 20276
x:_;]\igagg%ﬁﬁ 7 %3 TIESS 26 20 Ij\i/_'{TE 19 % ) q%—iig 397.13
= NB R LL#A 100.89 | &6
FANVRFE BRI _ S
FNRFEBHI[17 §§ = TN (WY MRATHIO #S % S5
FINRFEERI1T BT Eith 230.56 [111 A 24 UNRATH9 & 12 ;—fiﬂj 11318
XFLRFERA[17 B8 Eith 2827 1111 A 22 [MRATH[19 & 10 £ 166.91
i-/]\;izagg-%ﬁﬁ 7 &9 ITEZ3 102 1111 A 20 [/MNRATHI[19 #S8 ;::'-,iﬂ“' 212.25
Xii/{\égggg%_ﬁuﬂ T8 §1 [ITE S 6.41 19 /J\;?(/_'(TE 19 % 7 5:i$ 100.89 ‘%ﬁ."_
FINS EEE%W 18 Eih 11438 = 102.56
= pre 2 i z - 0 114 L 3
AFNRFEER|18 23 A8 895 115 23 NEATE|1 _&13 |2 B
= NEEEEE IS 290 INRAT H [21 T 1,073.38
TV Eai[18 %4 115 |6 AR 7 |E
FINRFEERI[18 &S L% 166|115 NRATE |21 &7 = 1621.26 |5 6
LIk s50—Tioo g 'J\’%fﬂ_g TR X ;.Eﬂ: 1621.06 & 1%
IMNRATHI20 % =t 35301 | &
1 Eih =N
E 29455




FEH/PNRE
Er284F9A

— . |IBFrith FEXFBESR
S S ; g | B e d
eI BE [ | -
KEF/ \;EEEE:-?;EH }8 E6 [IIESS 276 |109 |3 EH-T'-% E s o A =
ﬁEaniEEEE-F;EEH 8 &7 L&k 35 |115 ,\%/":TE L ot = 247?1
=, \%Eafé."i:'ﬂﬂ 19 Z 1 1 99 [114 3__UNRATHE 121 # 16 1t 14215 &%
ﬁ.—a/\%ea;:ﬁﬂﬂ 19 %2 I 330 27 MMNRATE[1T  F 11 |4 200 e
e T S 2 o
Jt_-a/\%:.;é'.'éiﬂﬂ 20 %2 Lk 33 111 e o) ﬁw
S :-:EE%H” 20 %2 L4 1TA[14 |INs/A<THI|19 &2 == 196.64 | & 4
FNRTEEA[20 &4 R L NEATHE |19 %2 e hoeei o
S0 L O E— o i te el
K=/ \%::iﬁ?ﬂﬂ 20 #6 LLI#K 23 e
I, FEE[2f 1 LAk 169|111 A[5 =] ’E’ﬁ
EAS EF SN -:—< AT TS = 5
T LA il S TG
sadx%:.;é'.';;?ﬂﬂ 21 %2 s 337 111 A 31 UNRATHIO %3 £ 29.46 i
EEII\%:-;EEI;EE 21 &3 ARFER 99 12 IMNRATH[9 F 31 [FEih 28 o ?\ﬁl
= E :_:EEQ.EEH 21 &4 AR FEEE 36 — *]‘j“ﬁl
c;‘:}:é::izﬁlj 21 &5 Eith 117.69 [111 A i
e i £ ] 9 INR X — S
FINRF ?&ﬁé 2: §3 fiﬂ 116.91 |111 A]10 /}\§£$S o Ty -
e TR £ 118.03 [111 AJ11_ |/ = N L %0
ngll\iﬁ_?ffﬂj -2 = 505 MEATH 19 & 30 [Eih 1
EE/]\%;;:;‘EE‘! g: 9 Eih 102-86 111 B[4 MR - e
F B ES . LEL = -
AFNRFEEH][21 F 12 ’A"’:);‘Efrﬁ o — —
:;}::‘ijiﬁ?%@ 21 & 13 :w'éﬂhL 1028744 i
j(EEI]\%ir:;EE: ER1I21 %15 ) 93.26 |11 T PhEATE $o I8 wEE
T ;:EEEEH” 2L F 15 = ] 1 B3 INRATH |18 & 6 E-= 104.06 | & 6
FINEFEEHI 21 106.94 [111 A |8 INR TN = e st
S NEEEBE #18 LLI#K 38 RATE 0 B2 = = h
XE_/]\%:.;TFEEE 22 &1 LA o181 -5
.::-/J\7 :_:-;T;;E.'EH 22 &1 LAk 515 6019 INREOTH |1 &F2 L #K ;ﬁfﬁ
E:/Jéfi%iﬂﬂ 22 &2 LI 459 :(15(2) 16 [/MEATHI|3 & 11 [IU¥ 3?6 ﬁﬁl
tsam%:.; S S22 %3 J 243|107 T R T 312 -
EV- e EA22 #4 1 416 107/? e e Tom o 18264
EEIJ\%H;E?;%EH 2 21 I 401107 A 6 UNRATHIS #4 |4 300 NET
E_/]\%'(:; S A2 %4 P 416|105 e 5 ﬂﬁl
ATIRTERN (2 ES i s s (LRATE IS &0 2 i
= 7] :_EEI E.HI |22 %6 A : -
;:/]\if%%‘éﬁﬁ 22 &7 EHh 55 -
_;/J\i:f =T |22 %8 LIk eoiiiz 2 UMRATES B0 =S 1
FEER[22 O I 13'30 Eith 32193 | &6
: ?EEH 22 & 10 P 32 lﬁﬁ
EE/J\%E;%;ES% 22 211 :H.--.Etﬂ 198.34 {112 12 MRS lzg
KFENRFETA22 12 £ 363.78 |[112 |3 /J\%{QTE 3 216 =t s :A%#
EE/J\%EWEEEE_J 16 Eih 34.16 |107 B : /":TE ; 2 =0 T -
s_ljx%z;é'.';fﬂﬂ 22 %17 P 214 [107 B 10 {NRATH4 &3 =i 103'01 =k
ﬁEa/J\%{E;;EE{ 22 & 18 Eih 69'50 107 B : IJ\%QTE ; AL 3.84 =
E_II\%E;-;T; fﬂﬂ 22 &19 L 22 46 10 |/MRIRTH |4 &3 551& 103, ; =%,
EEIJ\%E;;;EEE 22 #&20 L #K 411 118 L AREIRe 21U 32.34 =
= S = 7 | FH
*:-ﬁ}l’%éé%ﬂﬂ 22 Z&23 LLI#k 5(1)3 Hg i ppanlid £ b gﬁ }2222
EE/J\%EE;EE-EH 22 #24 A 244 107 B 17 IJ\%ETE o 2 = 80.66
XEE/]\%{EET%E{ 23 &1 LLIFK 485 112 ; IJ\il‘:TE 3 o= 182.58
x= \%eaé'.';aaﬂﬂ 23 %2 Lk 1018|112 e R B 72 7
EEI \%::Eﬂzﬂﬂ 5 B2 e RKIT 5 INRIRTH |3 & 21 %:"iﬂ’, T
e - 710.84
KEINDFEER L 18110 A -
FINRFEEHI23 FES Eih R = -
= 44958 [112 |6 INRIRTH |3 %g jziﬂ 70505
2 |EH 409.09 | & {3




FERH/INREX
TRi284E9H

G2 2 [ 5 2t 28 5 B %
KENRFEERI & e J4e S
S =.g|;ﬂ_._.£ 23 &6 =i His HEX |EHh A
KF/ \,isggg-;g.'ﬂﬂ 23 &7 IJ.M"E 165.63 (112 |7 EH_T._% Hh &
=/ \izgfgﬂﬂ 23 %38 =it 147 [112 ]9 INRATHS &2 rﬁiﬂ‘]‘E his LES
N 0 10 EH | 17002 [112 RATH[3 Eih | 14784
KF/ \%{sgéﬁéﬁﬂﬂ 23 #& 11 Z;?i 183.18 [112 }i NRATH I3 gg = 161.79
= \,izaéﬁgziﬂﬂ 23 #&12 — 13 IMRATH|3 & £ 165.39
XF/ \%EEEE:IEEH 23 #13 IJL%E% 13 9 [Ei 174.64
EE/\EEEEE-;EEH 23 & 14 IJJ: 13 ) ER
K=/ \%EEE‘;E’EH 23 _&FE15 = 7.83 I‘I
e T 23 %16 =4 9.79 bl
X/ \zig; L1 24 &1 ,J:ua*k 85 |112 |6 lzg
EIYVES L LR B 30 2 DRATH[S #F2 |% S
Eall\ifaa?@éﬁé gj 23 =i $:7.74 T3 8 [hEAT it 409.09 g'{#
FINR T E B 4 = 350 [113 RATH 12 = E)
2T IATERM &S EE T VA T 16 IhRATE I BT =8 | e HR
FINRFE BRI 6 =1 7323 113 |2 RANTHI[2 #& £ 176.76
= Eh |24 & Eits 133 INS AT 9 |=ih '
NS EER 7 F 651113 7 :.: B [2 = 103.78 | &4
EEI]\%EZEEF:EEE 24 ZES8 J:E'Emtih 6.61 INRIRTH |2 g:; fi’(ﬁ 108.00 ZE%
ﬁEE/]\izghfﬂﬂ 24 FE9 —"'E"it; 188.42 [113 |19 — EHth 197.79 )
sg,]\%gzg',';;gﬂﬂ 24 %10 =i 199.23 [113 |20 MRATHI[2 FI1 |=E Dﬁ?&
ETY £ Fi 24 11 a‘—-:iti 6562|113 |21 NRATHI2 #E8 THh | 181,87 =
NS T 24 E12 = 2963 [113_[2 NEATH[2 #09 el | 18568
EE/Jx;ﬁEa%éﬁ:Eﬂ 24 %13 = 2721113 17 /J\%QTE EEE j’fitﬁ 103.78 | & B
= Na= ;'E:‘EH 24 FE14 1 9872 [113 |11 ,J\;l/_:TE 2 % 15 fiﬂ 108.00 213‘4:
kgg,]\%ﬁ%%% gj §15 e 123 INRIRTH [2 Z 19 %iﬁ 197.79 gmg
= NE T EEE 16 ; 65 [113 — 17348 [ &6
E?/]\,‘iza;;ﬂ'ﬂ 24 &7 kﬁ.i 50 10 /MNRINTHI[2 # = nﬁ
EYE 1 24 %18 = 8268|113 |11 18 [=t | 16157 Hi
if—/l\%zaziﬂﬂ 24 #F19 ?Ef@ 115.74 [113 |1 MREATH]2 #H19 1% &R
EEIJ\%Ezggﬂ 24 %20 =1 66.90 |113 |5 MRATHI]2 % 10 £ith 173.48 'A,%
et %01 o Sosoi1s b MRATH 2 E IS EH | 10067 =
KAEINR=F S SAIl24 % 22 =3 7.45 NeaATH]|2 & E) 103.09 | &5
e 24 %23 =i 15.11 13 1=t 103.09 i
Ede,i:;EE:';.EEH 24 %24 jf.iﬂj’ 741 . Dﬂ
E_,j\%ié%ﬂ 24 FE25 ;;15 47648 [171 |2 /DR — lzg
;tsg,]\%ﬁﬁ%g:g 24 Z 26 51:—3'112 225.86 (171 |1 ,}\’Q:TE 24 FH 4 = :ﬁ',-ﬁ
E_/J\,isaaaghi 26 1 T 143.65 [171 |2 VRZTH[24 & £ 75620 | 26
= e i 26 %2 i 583 [171 |6 NR=TH [24 §5 EH | 16541 ait
FEER[26 B 16 e A SamE 15620 |5
FEEATI6 &4 =it 661.76 [171 F2 T 567. St
EE/J\%EE%%% 2; # | i 294 171 |15 [/hRZ 3 =i 496.26 BB
PN EE L P &2 T 190 111 Ala ,J\" ITE 24 E 15 |= ER
FINREEER 7 &3 i 3.30 RATH[19 % 22 actic T
E—I]\izg%%_g% g; %4 o 68 1113 115 hE~ Eih 173.91
KENERZEER] |27 zg 1 ?2; 113 [22 ,J\%.(/_.f$§ 2 & 23 |Em SHR
FINSEFEERI [ 113 ZRl 2 = 128.15
5-/1\%52%%52 2] #8 1 121|115 |3 IJ\%‘QTE 2 &3 %iﬁ 120.60
xfilj\iggéé%g% gg el =7 63 [115 |4 ;}:’%LTE 27T = 16 ;‘:51113 164.05
FINEFEEERI2 =2 I 282.84 |114 |11 /J\7 /_-:TE 21 & 10 "—Eiﬁ 142.15 [ & 6F
S NEEEEE 4 y 65 [114 375.76 | & 6
XE/ %ri@ﬂﬂ 28 %5 8 25 4 s AATB L B o
EEI\%E;EEI.?;'EH 28 76 Etﬂ 271.14 |114 §° MRATHN & A 211 Hif
ﬁzﬁllxisr%gﬂﬂ 28 %8 : 136|114 1_PhRIRTH [ 3 | 22144 |5
B EEE28 I 13 |INRATE E4 =1 44 | &3
9 1 193 |114 |30 ,\7 /_:T: 1 = 25 |) i 315.18 | &1
36 114 |30 ,1\7%2"1' 51 %3 kﬂ 114
RATHNM #S3 ;Eiﬂ 42144 | &6
= 42144 |56




FEH/NRIEX
TRi284E9H

— - BB B
= ,j_| iﬂ% 44
S LTI —— I
N 58.7
TN £ LR 7 = 615114119 [NRATE 1 ig | W5 [ W HE
TN ES § i 7 =it 76.03 |114 o B
TS i i T Eih | 3209114 16 hRATE L B 29 o L
FINRFEBAIS B2 £ 28594 [114 23 MRATH U # 29 =i 30004 EA
KENRFEER32 &1 LLIAR 66 114 21 "%QTE 1 E2 :"'Ei}h’ 35664 1551
e =i Bt /\EQTE YD 318.13 | & f#
AT NETEEE 32 & E 44820 [114 0 MMNRATEN &2 Hﬂit; 315.18 |5 fF
xEEI B =R |32 §2 fiﬂ 148.20 [114 ;2 ;1’%’57_5 1 # 22 %iﬁﬁ 282'13 et
N £ 150.14 RATHE N =i 2
eV T =i 95 INRATH N E-= 375.76 | &
F/INRFEERHI33 %10 ﬁtﬂ 52.25 [ 114 ‘71 ;:7%:?5 1 &6 %;ﬂ ;22.01 et
= NS R , 1,409 RATH 1 = .
/1N R 85 BRI {33 %1 A 1409|115 f MRATE 1 H 14 (B A8
EN L E i il 1409 [115 1 UNRATH 21 # 2 *fﬂ 11733 |7 8
F/NRFE AT [33 %Z i 1400|115 3 NRATH (21 % 17 %}; 1499 A
RFNRFEER 33 E3 £ 12030 [114 NRATH |21 %18 | 106,33 |53 &
e PR 7 e AT R TéﬁTE1 - N 7531 |52
=INSEEEE A 103 INRATH N =il 125.84 | &4t
Yt i T T <t oz 14 125 ﬂ\’%f\‘ra e e ek
FINRFEER Eih 255 VRWT H |1 = 200 _|&56F
chE"‘%EE%.'.?%Eﬁﬁ 34 %2 @1@ o it 1o ﬂ:ézﬁa 1 # 10 :1—51}5 oo Rl
EN T Tl = 117 RATH 21 & o .65
¥ 3 17 [114 |25 |IhEA 7 |=# |1 :
T RTIEA[ & il E TRl T T T aee
= 4 114 27 /MR 8 Eih D
EYN-EX TR 1A 20 1 EARTH =11 | 4105 | &
KEINEFEEH #5 pui] 5 110 UNRATH |2 A 200 | &6
== 46 AN 1 &1 = Wi
ENRETER 35 %4 LIk 584|109 ? MRATH (21 %8 =35 11176 &bt
N -Ex L rara ﬁ 204109 I ;}\,%/\TE =i aecs &
=INREE ] ! 836 VRATH |21 = 28,69
e B TR gﬂ Lk 223 156 5 INEATH |22 %1 E th 711.37 | Zl
TN E}gg = TS ; /}\;%tTE 1 %5 E;ﬂ;’ 22213 [ E
FINRFEERG & =it 129.34 MRATHE 4 & = b
= 152 = 34 (114 119 /hRIS UL i
FINRTEBAIB & = 75.37 RATHEN &1 |= 2
1 N . - 114 2 7 L :E-;i :
& %135 %13; iﬁi%% 130 4 VNRATHU &7 %tﬁ e it
FEERI35 #1174 =it 71.74 [114_ [23 ~ SE
FEERI[35 & 17 A 91115 1 MREATHN &6 |Eih HE
FINRFEER I35 §175 i 56 |115 13 IJ\%QTE 21 &S 55111_“. oz
AFNRFE B35 %136 A 456|115 12 MRATH 21 i) O s
= NB S EER 3 ARAEHE| 2,990 MRATH |21 & = 111.76 115 f
E-/]\;‘iza;%ﬂﬂ 35 #1184 NERFER ’ 3 a2t 359.99
TN e T 2185 L# [ os 10 e
f-/}\,;zagg%ﬁﬁ 35 %123 kué]l" 142 [115 Z ;}:§§$E 17 %6 Eih 930 :HB
SN R=TERI[35 & j 21 i RATH [21 & | X o
= = 188 j 15|15 [/NRIN 4 |k
ZRFESRI®% & X8 113 RATE |21 & 122
= =T — 189 #4 115 4 INR IS S %iﬁ
RFNRFEER[35 % 190 L% 121 [115_[2 /}\%‘QTE 21 # 10 |%ih 15503
"’}‘iff%%ﬁﬁ 35 & 191 m"‘ 123|115 |16 ,N%i.ﬂﬁ 21 % 13 |ILH B2 &bt
FINREEER M 158 RNTH |21
AFINRTS RT 3 H 18 [/NRXTH |21 s 135
e SR%[48 FE?2 = 19 178 Al18 |/"hNR= F 15 IR 1 &5
AT EXT TALTHE 5 =t [ 20020 RTINS T
FINRFSEE|52 &2 il 478 320
F | 621 e
7B
JHiR




EEH/INRMX 5
TR 2849 A

. |B 3 ith 2 X3 BR 2R
H1 % HE TR ks LLTE

FINRFESR%E[52 &3 L 51 [0 AjE I LE & WE | W |

e PAREEY, T =95 RZTHI|9 %4 [£H 101.50

= EEA 2 N

Py ,

ETN EZT VAT ¥ 10 D40 146 90 PARTE 16 EE EB s ghl

=y \ifa—e;%fﬁ 64 %4 =1 2 — /ﬁ:ﬁ

FINRFSRE[64 &S .--.J[; 39.15 1180 B |3 IJ\E:TE 1 % 1 Eih 221.94

= NE=5 51464 %6 ;ﬂ; fgg'gj }28 S 0 "7%—-1_5 1 #HF3 |EH 221.30

EMEETY-Y = : 6 [MRZTH[1 &4 |Ei '

= 135. = = '

E N ET Y- ITEE-T 0 S MNRZTH[1 #5 [=# | 13652

=y \éfiﬁéf& 64 Z&10 =i 5:89 lﬁlg

FINRFSRE|64 F11 1A 13 148 Hi

= = 4 1 £ =
PEJY ELT I P S A I W '
jc':"_‘ 2 :_:lﬁiﬁ 67 #&?2 i 8.27 HiBl
sl T i

7/ FESRZ|67 4 J] 395 |180 = = Hif
o Ly 1 0 _e0ae IR-TBSO @2 T L W04
x;;;}:’%il’?iﬁ 67 &7 ARMER] 19 L
T e
ifi:}:éfi%fﬁ 68 &2 T = 17 /NRE—TH[17 &9 |EH 25078 ]
j(:-»'_' 7 ;:l’iiﬁ 68 #3 pui 198 l‘ﬁ'ﬁ&

;:’]\%:ivﬁiﬁ 68 #DS il 11 /ﬁ:ﬁ
EAVELTL I ¥ S5 VA L

5 7] :'—77 M 74 21 — = ; ;"
i::}téfi’&hﬁ 69 #2 pi 441 R L 0350 |5
TN EEI I I M | sii2[23 [10 [Ng—TH[17 &3 [e# [ oiis i
S EIYELT CIGIE T =t 7960 1213 111 UNR—TH 17 #4 1 7372
SEIN Ex 3 EATIE AN B | 64aif213 13 [AE-TH[17 @6 |2 | oso
S E Y- EZY-FATEE 3 ;;% ggg; g:g 15 Php—TH[7 %7 [t 53.67
Sl o o i e e

FNRFTRIE|S &SI Eih 127.81 |21 = = el
ST L2 Taim V— ——— nE B &5 JER LEivlan
kEa/]\%;;;%;ﬁ ;g gj A 28 [179 [8 DUNR_TH[2 #S5 [EMH 182,04 lA?
AFNRFERE[16 &5 EHh | 420631216 120 DNR—TH |16 #3 [Eih 93442 &4
ST ET T VAN 3 Etﬂ s i0fzi6 Do PAE-—TE o §o el | wiw s
AENRFERE[T] B ; 1789 [213 |7 _|NR—TH[17 &2 [ | 84771 5%
- Er Y VAEE X A 1789 1209 [16 [/NR—TH [20 # 1 [ 5 5%
SEIY EX3 CAGIE 3 I R 216 |58
AT NRTERETT E2 0 L 93 Al [MRATHI[20 #3 |8 ]
STi ey I P -

FTIRFSRETT E4 i 6.65 : Hi

= /NR = P ’ 5‘,5 ry
SEAN EXI VI T EE 2100 (213 5 hE—TE6 H0 |28 | o]
iﬂ}:’;fi%@: 77 &9 aRmEE| 191 S e 8
xéu\%ééé’zg ;; §:? Eih 10876 |216 |21 |/ E—TH [16 =4 |=i 3739 B
ST ELT Ciulk 5T T 10450 [216 22 [hR—TH |16 #H5 [Eih 11071 | &5
ST ELT CIiE 5K =it 130.44 1216 |23 DIR—TH [16 #6 _|EHh 13105 |

Y- Er Y FATEEE 3T ;iﬁ 10;;; g:g 8 [ha—TH[17 %20 [Ei 107.41

FNRFERE]8 BT ARFEE| 99 22 MR-TEI6 &S5 [T 11071 | &
XFINRFESR%E[78 &2 Ta 991 Hik

JHiR




FEF/NRIEX
T 28498

— i |B 3 ith 2 X3 BR 2R
L Hh 2 e | e HEX (Eih T4

= o AN 7.
TIRTSREE &3 CS R AR 2 I T Y= T 0
sa/\%:.;l’?ii 78 #4 EHh 115.71 [213 1_PhR—TH[7 %16 [Fih 1163

=, \%:-;Z%ﬁ 18 &S Eith 114.88 |213 NE-TH[7 _H 15 |k 115'39

=, \%;;Z’?iﬁ 78_Z6 =i 145.86 |213 19 [he—TH[17 & 11_|=Hh 11 -

TARFIRGE IS B = | 137 2 [h=TE[7T %13 |2 oo

= :ézgiéfﬁ 78 &9 e YRR S — g

ETYETT ¥ = ~ 0 [hE— _ i

ff'\%afae%}i T 3 T RE=TET E T e | ]

= :’%E:ﬁéf‘g 79 %3 il FRNAT E%

FINRFEREIT9 E4 j 8 [INR—T =

ENELT VA0 25 %t{: 12 B #®24 =8 | e of

FARFHRENO BE = o0 s BT F5 T A
xf;:ﬁ%;;;%& 19 E7 T 131.50 218 16 [NR—TE[I #20 [=ih 18;38
j(Ez/]\;i;;;;zg ;g gg =i 101.57 |210 :2 ;ﬂ’%:$g g: 25 £ 5216
KENRFESEZ[79 & 10 Eih 121.07 [210 {13 /]\%_T 28 |5l 101.41

= = 7. E.Et‘t_'-‘, Z E 21 % 6 E=H#h
PEIY ELT T AN UM el i e Pl e o S oelE
qua,]\%:-;l’iiﬁ 79 12 A e e A The 2o =R ool ot
ﬁEE/]\%;;Zé}i ;g §13 ARAEHR| 22 10 PMNR—TH[21 25 [|armus 7{99 =4
XEL RS 2% [19 %12 it 132.26 [210 |11 [/NR— Bl

= = ~ £} = TH |21 2 = =
R I NS IR B
xEE/]\%;;Zﬁiﬁ 19 17 i 191|210 24 PhE—TH[2l o [e 146.72 Y
ifgll\%;;lﬁiﬁ 80 1 pi 272|179 9 PhR—THI21 % 1 T 194.80 2134
xsg,]\%:.;l’?fﬁ 80 %2 i 968 [179 9 VhR_TH]? &2 e 165.37 =1
jtsz/]\%:-;l’?iﬁ 80 &3 A8 272|179 ? MR—TH12 &1 E 586.76
xsillx%:-;l’?ﬁ 81 %1 i 471|179 0 UNR_THI2 #3 M 16507
ksadx%;—;l’iiﬁ 81_#2 i 25T Ti7s T3 NR=TH|o #10 [ | o805
xsgm%l;l%iﬁ 81 #9 1H B PR =i 2 M| 15031
;tsa,J\%:.;Z’iiﬁ 81 &4 P 514|180 2 NRZTH[1  #Fi13 [EHh T16.1
xzallx%:-;l%‘iﬁ 82 1 puil 231|179 B ,J\’?ETE 1 & 14 551& 323.8‘61
xza,h%:.;l’?iﬁ 82 %2 = AL INR-TH[2 %5 = | 18204 |50

£/ :—7§1§ 82 X4 =i . 78Al9 [/NRZ=TH |7 =6 '_':iﬂ_ﬂ, 82.04 [ &
x;ill\%‘(r—:ﬂ’%%fﬁ 82 25 ié 68.88 |178 A |9 ,J\%:TE 7 % 6 j:i 8757 | &
k;:’l‘%jz‘%‘%fﬁ 80 E6 3 139 |[178 A[10 |/Ng—TH |7 & 4 j_f,im 87.57 | & f
P EIN EZT VI 1 < 12053 178 A[i3 [hE—TB T &2 igiﬁ 139.89
AFINRFGRHE]S #8 =i el w4 17841
SIS EST V1NN CN—E L, i

TIRFTRESS F ] : 5 [NE=TH[I = 2
RS R — ) Tl e
) 23 I —O ——— ) S A 0 —
xsa,]\’%:.;l’?ﬁ: 83 #4 A 215|180 B 48 UNR_THI4 #7 |5 63.63
ksz/]\%{;%%& 83 29 2 191 [180 B 14 AR_THU H10 i 765.00
an/]\%E;#§ 84 1 1 2087 |174 |9 MNRZTHIL  #9 |EH 126.75
N EES S gi §§ Jtﬂ] 814__[180 A[9 ;}:§:$E ;4 §§ =it 171139
F ST R A
xfall\%;;#i 84 #3 ARFEE| 76 7_PMRZTH (11 F25 |E 138.83 A5
ﬁEE/]\%;;‘#i 54 F4 ’ 299 [177 |4 = ' E”I
xfadx%z;#i B4 50 i 502 1177 |5 MR_TH[10 #H 1 |FEH 37099 ] B
XEEIJ\%{E;‘#i 24 il 512|177 |6 ARTHII0 #E2 |Hih 355.70
ﬁfflj\%{Eﬂﬁi gj zg i 493 177 7 ;}:§:$S 10 #3 Eih 362:88
S EI-EES ST dtﬂl s 177 T he——TH :8 gg #iEH | o0 [5F

T IR R
xsw\%:.;#i 84 FE 11 1 301 887 8 |/INR—THI|10 %5 |/ 675 2194:

FINRFEE (84 %12 i 01188 ; /J\;iﬁTé 33__& 13 | o &6

VA _ = =
R-TH[0 #7 [iEmH [ sea [&fF




ERTNRIBR TH28%9A
B #ith 2 et BR R

2] . #HT &

G2 S B | | o | RE | e | WE | e
FINRFEEFE |84 13 J 155 [176 B[1  ['MNRZTH|11__FE 15 [Eih 115.78
ENCEET S SR @ 93 [171 (38 PIRZTH[24 6 |3iEh 63
FINRFEHE |84 & 15 1@ 1057 1177 |13 [/MNRZTH([10 ZF8 |Eib 657.74 [53&l
=/ hmrxE 84 &K 15 P 1057 [176 Bl9 [/MNE=TH[11 Z&2 [/ 44 |5E
FINREEE |84 & 16 P 82 [113 [13 [/NVRINTH [2 2 21 |3fEH 59
FINRFFR |84 FE17 *H 141 _[180Al2 |"MNRZ=ZTHI|9 F71 |Ei 108.52
FINRFEFERE [84 FE18 Je 143 |180AI3 [/RZTHI[9 F9 |Eih 109.22
=/NE=EE |84 ZE 19 £t 19677 |178 B|3 [/MNR_TH (8 6 |EHs 159.19
FINEFHFE |84 %20 1@ 180 [178 Al21 ["NRZTH |7 & 17 |/@ 753 | &6
ENCEES S X I 798 |178 Af21 [/MRZTH[7 & 17 |4H I =i
FINRFEE |84 & 22 1@ 761 (176 B10 [/MNR_TH [11 #HF3 [Eih 582.17 | S
ENCEE S S EEYE 1 200|175 [3 [/MNRZ-TH[13 FE 10 [£i 155.84 [ &
ENCEES Y I 114|114 [12 [[MRATEH[  F24 |48 90
ENCEES TS @ 865 [175 [1 [MNR=-TH[13 &7 |4 647 | &H

AFNRFEHEE (84 % 26 E£ih 41333 1174 [17 [/NRZTH [14 F 14 [Ei#h 34257
KF/INRFHE |84 FE27 Eih 15199 [174 |26 ["NRZTHB |14 F 23 |E#s 146.23
AF/NRFFE |84 728 AREEH| 35 JH R
KFINRFHE |84 2529 1 14 JH R
KF/PNEFEHE (84 %30 =it 6312174 [3 [NMNR-TH [14 %38 |Eih 55.29
KF/INSFIFE |84 231 1M 228 1174 (45 [/MNRZTH [14 7 42 |Fih 182.95
KF/NRFFE |84 732 J 125 [174 (42 [/MNRZTH |14 &5 |Eth 104.01 | &6
AZINRFHE |84 233 1 56 [174 |50 |[/MNRZ=TH |14 # 50 |Eih 4048
P ECEE S R I 200 [178 Aj20 [/NR-TH|[7 & 16 |4 141
KFINSFIFE |84 &35 1H 561 (178 Al1 /MRZTH |7 & 19 [EHh 396.60
AF/INRFFE |84 236 P 60 1174 [5 [/MR-TH[14 F43 |Eih 43.97
KFEINSFIFE |84 %37 Eih 22328 |174 (21 'NRZ=TH [14 & 18 [E# 189.35
AXFNRFHFE (84 %38 Eih 17547 [174 _[19 ["MNR=TH [14 F 16 |E 180.57 [ & 6
KRENRFEE (84 239 e 16029 [174 |23 [/NRZTH [14 % 20 |Eih 158.09
RFENMNRFFHE |84 &40 Eih 15468 [174 [22 [/"WNRZTHI[14 & 19 |E# 14151
KF/NREEE |84 K44 ST 2317 (174 |19 NRZ=TH [14 % 16 |Eth 180.57 (&
KF/INRFIFE |84 +E 4D =i 546 (174 |19 [/NRZTH [14 F 16 |[Eih 180.57 | &4
P EE T TG =i 074174 |19 '"NR=THE |14 & 16 |E 180.57 | &
P ENCEE S T J 2.62 JH R
AZNRFEHE |84 248 1A 51 JH B
P ENCEE S T P 14 HiB
KFENRFFE [84 F50 1 133 1176 B|8  [/MNRZTH [11  FE 1 Eith 133.86
AFMRFFH [84 &S] Eith 125021176 B|6 [/NRZTH [11 % 24 |Eih 125.07
AF/INRFEHE (84 %52 P 165 1176 B[4 [INRZTH |11 #& 22 |48 161
KE/NRFFHR (84 %53 1 184 [176 B|5 |'MNRZTH |11 & 23 |Ei 173.93
KF/INEFFE (84 Z5H4 I 138 |78 12 [MNRIANTHI([4 F2s [ 110.04
KF/INRFIFE |84 55 I 137|178 Al14 'MNRZTH|[7T FH 1 Eith 137.89
XF/NRFFH 84 56 X 297 [178B[8 |/MRZTH([8 #&2 |Eih 254.03
P ENCEE S T i 50 JH ik
KZNREEHE |84 258 1 58 JH B
KF/INEFIFE |84 59 I 240 1176 B3 [/MNR-TH [11 & 21 |Eih 213.54
KF/INRFIFE |84 60 S 6544 (178 B|5 ["NRZTH |8 FH8 |[Eib 11008 | &5 4F
PN EES T 55 [178B[6 [/NR_-THI[8 & 10 [Eih 61.23 |5
KENRFEFE |84 %62 e 6793|178 B|5 [/NR-TH[8 %8 |Fih 11008 [& 8
KFINREEE |84 363 1@ 362 |180 A7 [/MNRZTHI9 #H3I [Ei 256.88
AXF/NRFFHE |84 o4 X 14 |178B|6 [/NRZTH |8 #H 10 [Eih 61.23 [&f
KFINRELE |84 265 =ih 1947165 |12 /NRZTH[15 &3 [Eib 90.84 | &5
RFENRFIFHE [84 66 +H 41 _[178Bl4 |MNRZTHI|8 &1 |Eih 33.55
KFENMNRFFEHE [84 FE67 Eih 33103 |178 B[1  ["NR=TH |8 &4 |Ei 262.50
KENR=HE |84 268 @ 105 [174 |2 [/NRZ-TH[14 #3717 [£ih 87.72
P ENCEE T R ] 21 JHiR
FINEFHFE |84 F T A 13 1174 (35 [/NRZTH |14 32 [Eih 14.21
FINREEE |84 K2 sgmEE] 710 iR
AXF/NRFEFH [84 FEI3 sgmEn| 514 JH iR




EEH/INRMX FR 2849 A

| #Tith 2t R
IE 442 %ﬁm%

G2 hE e | wE | 2o | BE | WE [ R |
FINRFFER (84 E74 ARAEE[ 579 JH iR
FINEFEFEE [84 FETS Eih 11667 (174 |28 ["MNRZTH |14 F 25 |Eih 116.90
FINRFEFE (84 K6 Eih 104111174 129 [/MNRZTH |14 F 26 |Eifh 104.92
FINEFEFEE [84 FET7 Eih 10352 [174 |15 VNRZTBH 14 F 12 |EH#s 103.59
FINRFEHE |84 %78 =i 101821174 |14 [/MNRZTH [14 F 11 |EHb 102.07
FINRFTEHEE (84 & 79 Eih 10406 (174 |31 [IRZTH |14 28 [Eih 103.96
FINRFFE |84 %80 Eih 102.90 174 132 [/MNR-TH |14 F 29 |Eih 103.41
=NEFEE (84 281 £ 10407 |174 |33 [NRZTH [14 % 30 |Eth 104.34
FINRFEHE |84 %82 ) 12030 (174 134 [/MNRZ-TH [14 FH 31 |[EH 121.76
ENCEES S TR 1 473 SHIR
FINRFEFE [84 FEs4 Ji 106 (174 |10 MNRZTH 14 &1 Eith 87.83
ENCEES TS I 127 [165 [3 [VNRZTHI15 ZF 16 |EHs 127.65
FINRFEHE |84 %86 ) 13645 (165 14 [/NRZTH[15 FH 171 |[EH 136.39
FINRFFHE [84 F8T Eih 13691 [165 |5 [/NRZTH 15 18 [Eith 137.00

AF/INRFFER |84 288 Eih 137421165 |6 [/NRZTH (156 #F 19 [Eih 137.15
KFE/INEFEHE (84 %89 £ 13438 (165 |7 [/NR-TH[15 & 20 |Eih 134.31
KF/NREEFE 84 290 S 134971165 |8 [/NRZ-TH |15 #FH 21 [Eih 135.61
KF/INRFIFE |84 &1 1H 248 [174 1 [/NRZTH[4 FE35 [Eih 213.17
P ECEE S T 1 100 [197Bf4 [/NVR=TH[25 % 13 [Eih 88.03
AXF/NRFHFE (84 ZEO3 Eih 080 (165 |12 [/MNRZTH |15 #HF3 |Eih 90.84 | &
AFIMRFFHR |84 FEO4 X 4851178 B|6  [/MR_TH([8 ZF 10 |Eih 61.23 | & #
PN EE T T =Hh 87401165 |12 [/NRZTH |15 #FHF3 |Eih 90.84 [& i
KE/NEFHE |84 296 ] 48 188 [2 [/NRNTH([33 #F 14 |4 9.32
P EE T BTy I 40 [177 [2 PhR-TH[10 #F7 |3fEth | 584 [&6F
KE/NRFIFE |84 2598 I 19 [176Bl12 /MREZTH |11 &S5 [Eih 9.54 [& 6
KENS=%E |84 %99 1 23 [176B[12 "DMR=ZTH[11 &5 [Ei 9.54 | &6
KF/NREZE |84 2100 J 36 (177 [2 [IR-TH[10 7 |3iEH | 584 [Sff
KF/NREEE |84 2101 I 42 (113 [12 PMRATH[2  # 20 |3iE 8.55
P ENCEES B 14.95 JHR
KF/NSEEEE |84 2103 8 10 |178 AJ21 MNRZTH |7 & 17 [ 753 [
KENRFHE (84 2 104 1H 31 78 Al21 MNRZTH|[7T 17 |ME 753 | &
KENR=EE (84 105 I 29 178 Al21 [NRZTH |7 & 17 |4 753 |5
AF/INRFHE_[84 ZE 106 1 28 1176 B|10 [/NRZTH [11 %3 |Eis 582.17 [ &
KF/INEFHEE |84 ZE 107 1 3 176 Bf10 [/MNRZTH[11 #FHF3 |Eis 582.17 | &4
KE/NE=FHE |84 Z 108 I 649175 [3 |/NRZTH |13 FE 10 |Eih 155.84 [ 5
KE/INEFHE |84 ZE 109 1 8171175 [3 |IRZTH |13 F 10 |Eih 155.84 | &
KE/NEFHE (84 110 M 23 114 |20 [/DRATH|1 #F2 |Eib 318.13 | S #
KF/NREEE |84 H1l1 I 34 114 [20 [/MRF<TH [ E2 |EH 318.13 | &
AFENGRTEE (84 112 P 23 J175 |1 MNRZTH[13 #F7 |4 647 | &
KF/NSEEEE |84 F113 1 35 [175 |1 NWRZTHNS &7 [/ 647 | &6
P ENCEE T R T 15.23 JHB
AF/INRFFH |84 #HI115 Eih 3.77 SR
KF/NBrx| |84 K116 I 20 [174 (4 [hRZTH[14 #E41 |Eih 168.54 [ & 6
AFENRFEFEF [84 F 117 P 20 174 |6 |NRZTH |14 #FH 45 |EHh 453.68 | 5 OF
P ENCEES S EEE 1 19 [174 |7 [MNRZTH[14 %46 [=Eih 444.09 | 5{
AENm=EE  [84 119 @ 38 178 Al24a NRZTH 7T # 18 |Fih 350.26 | &
KENE=®m |84 %120 1 19 [178 AJ24 NRZTHI[|7T %18 [Eih 350.26 | & {
KE/NRFHE |84 2121 H 17 1178 A[3 [/INRZTH 7T #&23 [Eih 3.48
KFINREEE |84 2122 BT 5.28 JH ik
AF/NRFFE |84 2123 Eith 10.65 JH R
KFINREZE |84 5 124 Eih 13.63 JH ik
AF/NRFFE |84 K125 Ehh 5.40 JH R
KFNREEE |84 2126 J 3.95 JH ik
KENRFHE 84 & 127 1 5.02 JH B
KFNREEE |84 2128 1@ 253 (169 [4 |/MRZTH[20 14 |3fEh | 180
=FINREFE |84 2129 e 125 1169 [17 [/NRZTH |20 F® 15 [Eih 89.83
FINRFEE |84 25130 I 417 1175 |6 [MRZ=TH[NS &HE1 Eith 286.18
KFNRFEZE |84 2 131 1 262 [175 10 [/MR-TH[13 %2 |1 179




EEH/INRMX FR 2849 A

BT B xR R
I=] i EES
e BE mE [ EE | X (B e BE | BE | WE | =
FINEFEFE [84 Fi132 1 68 [175 |9 [/NRZTH[N3 ZFHEie |EH 47.01
FINRFIFE |84 FE133 i 248 (176 B|11 |[/'hNR=TH [11 & 4 EH 172.68
FINEFEE [84 Fi134 1 142 [180 Al10 ["NRZTEBI[9 Fs8 [EH#t 108.65
FINRFIFE |84 FE135 P 52 [176 B2 [/NREZTH[11 K18 |EH 38.83
FINRFFER (84 FE 136 I 138 (176 B|13 [/MNRZTH |11 #FE 19 [Eih 103.22
FINRFIFE |84 FE137 P 157 [176 B{14 [/"hNRZTH[11 FE 20 |EH# 116.83
FINRFIFHE [84 F138 JG 145 1176 B|15 [/NRZTHB |11 Z6 Eith 108.09
=/NE=ZE |84 ZE 139 I 130 [176 B[17 [/MNRZTH |11 FE8 |Eih 97.13
FINEFEE [84 F140 1 926 [176 B[16 ["NEZ=TB 1 F7 [E 455 | &6
e S S I 11 [176B[16 [NR-TH[11 &7 [Eith 455 | & B
=NSEEE 84 K 142 I 15 [114 |14 [MRATEH[ 26 [4H 1
FINRTFIFE |84 FE143 [ 11 (114 29 [/NRATH |1 % 27 |/ 8.47
FINEFEE [84 F144 1 297 [175 2 'hNRZTHB[H3 FEEs [ 226
FINRFIFE |84 FE145 i 318 (175 |11 ['"NR=TH |13 &6 Eih 24187
RKFENEFIEFE [84 K146 Eith 164651174 |39 "NREZTH [14 FF 39 |[E#h 143.86
KENRFEH (84 FE147 Eih 12938 [174 (40 |'NREZTHB [14 & 40 |E# 113.21
KFINRFHE |84 2 148 ES) 12110175 [7 PIRZTH[13 & 14 [Eis 10.12
KFNEFHE 84 2149 £ih 10346 (175 |12 [/MRZTH [13 #3 |Eih 85.86
KFENRFFE [84 FE150 *H 134 174 [38 ['"NREZTH[14 FHF 36 |Eih 112.52
KF/NREEE |84 3151 I 209 [175 [13 P/MRZTH[13 #H 4 |Eih 161.48 | 5
KFENRFFE [84 FE152 *H 169 [175 [14 /"WRZTH[13 &5 |EH#h 130.76 | & 6F
AENmFEE  [84 & 153 P 192|175 [15 [/MRZTH [13 & 11 [EHh 148.23 (&6
KFNRFEZE |84 2 154 J 59 [175 [16 ["MRZ-TH[13 #E 12 |Eih 4557 56t
KF/NRFEE| |84 2155 H 673175 [13 [MNRZTH |13 F*4 |Eih 161.48 | 5
RF/IDRFFE (84 FE156 i 545175 |14 [WR=TH[13 &5 [=Ei 130.76 | & 6F
AENmFEE  [84 & 157 P 6171175 [15 [/MRZTH |13 & 11 [EHh 148.23 [ 6
RF/PDRFFE (84 FE158 i 190175 |16 [/"MNRZTH |13 #FHF 12 |Eis 4557 | &6
KF/NRFEE |84 2159 H 846 (175 [13 [INRZTH |13 F*4 |Ei 161.48 | 5
AFNSRFEE 84 Z 160 P 686 175 [14 [/NR_TH[13 S5 [Eih 130.76 [ &
KENRFEFHE [84 FE161 *H 778175 [15 'MNR=TH [13 & 11 [E# 148.23 [ &6
KRFENRFFE [84 FE162 1 242175 |16 [/NRZTH 13 FE 12 |Eih 4557 | &6
KF/NRFHE 84 2163 1 203|176 B[18 [/NR=TH |11 # 16 [ 1.51
KRFENRFFHE [84 FE164 1 90 [176 B[19 /"MNREZTBH |11 #F 171 |EHs 67.22
KFENBFFHE [84 F165 *H 94 [176 B[22 '"MNRZ=ZTH |11 F 10 |Eih 70.38
KF/INRFIFE |84 2 166 I 155 (176 B|23 [/DNRZTH |11 & 11 |EHh 115.68
KF/INEFFE |84 ZE 167 I 155 [176 Bl24a [/NRZTH 11 F 12 [E# 115.63
RFENRBFFHE [84 FE 168 1 132 [176 Bl25 [/"NREZTH |11 & 13 |E#s 98.78
KF/NSEEEE 84 2169 I 64 [176 B[20 ["MNRZ=ZTH |11 F 14 |Eih 48.24
XFINRFFE 84 170 J 60 [176Bf21 [/MRZTH[11 29 |Eih 4543
KE/NSFHFE |84 E 11 1 78 175 [17 MNRZTH |13 #HF9 |EHs 59.24
P ENCEES SRR =i 86.37 [178 B[10 [/NR=THI[8 #&9 [=i 71.19
KFENRFFHE [84 F173 J] 161 |88 4 |INRIRTH |33 #F 23 [Eih 138.90
KFENRFFHE [84 FE174 I 161 |88 16 [/MNREANTH 33 ZF22 |FEih 138.92
KRENRFEFH (84 FEI175 H 180 |88 17 UNEARTHB (33 #FHE 21 |[Eih 155.18
KFNREEE |84 176 I 135 (88 |3  |/MRANTH |33  #F 26 [#iEth | 334 | &6
KENRFIFHE [84 &E177 *H 429 [178 Al24 [!WNR=THI[7 ZE 18 [=Ei 350.26 | &
KFE/NRFIFE [84 FE178 A 143 [180 AJ11 ["NRZTH |9 & 10 |=ih 109.31
KENREFFE [84 F179 *H 150 178 Al2  [/MNRZTHI[7T  #F 20 |Eih 104.69
KFENBFFHE [84 F180 1 150 [178 Al26 ["NREZTHB |7 FHF 21 |E#s 104.37
AKFENEFEFE [84 F 181 ] 154 [178 Al27 ["NRZ=—TH |7 # 22 |=Ei#h 106.31
KF/NREEE |84 25182 I 14 113 |14 MNRATH |2 F22 |[MigH 10
KFENRFFHE |84 F183 P 161 (178 A[16 "MNRZTH |7 &F 11 |Eith 119.91
KF/INEFIFE |84 184 i 55 [178 A[28 [/NRZ-TH |7 FHF 12 [Eith 40.49
KENRFFR [84 FE185 I 219 |178B|7 [/MRE=THI[8 &H1 Eih 159.69
KFE/INRFIFE [84 K186 G 19 174 42 [/NREZTH[14 &S5 Eih 104.01 | &4t
FINEFEFE [84 F187 1 144 [174 |43 VNRZTB 14 F6 |E# 103.81
FINRFFHE [84 Fi8s P 624 [174 |6 [/INRZ=TH[14 FE45 [Ei 453.68 | &4
KE/NRFFR [84 FE189 I 25 1174 &1 [MNRZTH[14 F4 £ 147.65 | &6




ERTNRIBR TH28%9A
B #ith 2 et BR R

[} & #HHET B
3 BE e [ mE | = B g RE [ BE | BE | e
= NREEE |84 25190 J 179 (174 |41 [/MRZTH |14 F4 |EHh 147.65 58
ECEES SRR I 21 1174 149 [MRZTH[14 F49 |[EHh 15.41
FINRFEE [84 FE192 I 611 (174 7 /MNRZTH |14 % 46 [Eih 444.09 [ &6
=/\E=ZE |84 % 193 1 240 174 |47 [PMNRZTH[14 FE9 [Eis 191.65
ECEET SR P 230 174 |46 [/MNRZTH[14 ZFS8 [Eih 184.01
=INREEE |84 2195 @ 205 174 |4 [INRZTH[14 FE41 [ 168.54 [ &
=NSEEE |86 &K1 H 194 [111Bf1 [MRATH[8 #HF4 [H 141
FINEEEE |86 &2 ] 16 178 Al17 [/MNR=TH|[7 F#13 |=EHs 7333 | 5
FINRFEHE |88 %6 H 97 [178 A17 /MNR-TH |7 #F 13 [Eih 73.33 | &
=FINEEEE |88 &7 ITESS 270 (165 [13 [/MRZTH([15 #4 |Eih 236.42 | &
FINRFFE |88 28 S 096 [165 |16 [/NR=TH 15 &7 [Eth 141.23 | &5
F/INRFIFE |88 29 E£ih 1476 1165 |15 [/MRZTH[15 #6 |Eih 136.03 | &5
=INREHFE |88 K10 LLI#k 182 JH iR
e B3R ] 748 [178 Al17 [/NR=TH[7 & 13 [£i 73.33 |56
AXFDNRFFH (92 & P 2444 (172 |8 [/NR=TH[22 &2 |4 828 |7&l
P ENCEES S 1 2444 (173 |1 [MRZ-TH[23 #He6 [ 1147 [ E
P ENCEES WY 1 83 [172 |6 [/MR-_TH[22 %8 [ 19
KF/INEFIFE |93 H 1 LLI#£ 165 173 [3 [/MRZTH |23 2 [Eih 181.43 | S H
PN EES W EREER IS 6.61 JH R
KFNRFHE |93 &4 LLIFK 703 JH R
PN EES R IS 41 JH iR
KF/NEFHFE |93 &8 1 83 JH R
AF/NRFEHE (93 ZE 12 LSS 45 |173 |3 PNRZTHI[23 #E2 |Eih 18143 | &5
KF/INSFIFE |93 & 13 LAk 199 1173 |4 [MRZTHI([23 FE3 |Eih 189.88
PN EES RS ITEZS 12 JH
KF/INEFIFE |93 & 15 LAk 165 1173 |2 [/MNRZTH[23 F 1 Eith 162.57
AFNRFFRE (94 Fi p 126 171 [12 [[MR-TH 24 F12 [Eih 95.37
KFINEFHFE |94 B2 H 42 JH R
KF/INRFHFE |94 %3 I 360 (173 [5 |"MRZ=TH 23 &4 [=Ei 267.24
RENRFHE (94 &4 I 1 [171 14 MRZTH[24 F 14 [Eih 8.44
KFINRFFE |94 &S I 51 171 |4 |IMNRZTH |24 F71 |[Eib 126.82 [ &6
AFENRFHE |94 %6 P 173 171 11 MR=ZTH [24 & 11_|[E£He 132.34
KFE/INRFHFER |94 &7 I 173 (171 |10 [/MRZTH |24 #F 10 [E#b 132.50
P S BT 1 173 171 _[9 [/NRZ=TH 24 &9 |[Eth 132.27
KF/INRFHFER |94 %9 I 164 171 |8 [MNRZTH[24 FEs |Ei 125.56
KE/NSFHFE |94 ZE 10 1 23 171 |13 MNRZTH |24 #HF 13 |EHh 18.32
RKF/NRFFHE (94 FEU I 151 171 |4 [MNR=ZTH[24 F7 [EH# 126.82 | &3
KENSm=HE |94 K12 1@ 181|171 |5 [MRZ-THI[24 F1 |Eih 132.56
P ENCEES WS I 1137 [169 [3 [/NR-THI[20 ZF 13 |4 941
KFE/NRFIFE |95 K2 SgmEn| 262 JH R
KF/INRFIFE |95 &4 Eih 52075 1169 (1 [/MRZTH |20 #FHF 11 |Eith 216.64 [HZ
KFENRFFE (95 &4 E£ih 520751169 [2 [/NR-TH |20 F 12 [Eih 214.36 |53 &
AFPNRFFER [95 &ES Eih 11826 [170 |16 [/MNR=TH [21 & 11 |=EHs 118.14
AFPRFFERE |95 K6 £ih 17746 1169 16 [/MNRZTH [20 # 18 [Eih 154.56
P ENCEES S J 44 JHB
KF/NRFFE |95 28 ] 6.61 JH R
P ENCEES I EET) J 29 JHB
KZE/NREFE |95 10 1 26 JH R
KENRFHE |95 211 =it 24198170 [5 [/NERZTH 21 #H 19 |Eih 246.65 | & i
AFPNRFFR |95 &H12 £ih 19989 1170 |17 [/MNRZTH [21 #8 [Eih 187.93
AXFPNRFHFE (95 %13 £ih 22500 [170 [20 ['DNR=TH [21 #F 14 [=h 210.37
AFENMRFEFF (95 Fi4 P 133 1169 [14 [/MRZTH |20 8 [Eih 224.85 | 5
KF/INSEFFE |95 &5 ] 211|169 [16 [/MRZTH[20 ZF 10 [/ 145
AFNMRFEH [95 F16 @ 214 1170 |1 PNRZTH |21 #& 15 |EHh 200.09 | &
KFINREEE |95 K17 1@ 732 (169 |15 [/MNRZ-THI|20 &9 [/ 5.03
FINREEHE |95 18 S 76.03 [170 |14 [/NRZTH [21 %9 [Eih 76.40
FINRFIFE |95 2519 Eih 14853 1169 |14 [/MNRZTH (20 # 8 [=Eih 224.85 |55t
KFEPNRFEFE |95 %20 Eih 158231169 |9 [/MNRZ-TH[20 FE3 |Fih 15548

10




EEH/INRMX FR 2849 A

|BEth B xR R
IE 442 %ﬁm%

G2 S B | wE | oo | - R
FINRFEER |95 221 Eih 32726 1169 (7 [/MNRZTH |20 F 1 Eith 278.73
FINREEE |95 322 I 14 JHIR
FINRFFER (95 F23 I 3131169 [5 [D/MRZ-TH 20 16 |Fih 259.09
FINSTEIE |95 & 24 SRAEE[ 293 HIR
FINRFEEE |95 &K 25 Eih 198441169 |18 |/MNR-TH |20 FHE 2 |Fih 186.44
FNREEE |95 %26 =i 2747170 1 [NR-TH[21 #E 15 [=Eith 200.09 | &{
=hNSEEE |95 K27 1@ 50 [170 [5 [/MR=TH[21 FE 19 |=E#s 246.65 | S ff
FINRTFEE |95 2528 1 48 [178 Af24 [/MRZTH[7T # 18 |Eih 350.26 | &5 {
FINRFEHE |95 229 =i 148791170 |7 [/MRZTH([21 #F 1 |EHb 149.25
FINEFIFE |95 %30 Eith 13887 (170 |9 |MRZ-TH |21 #FHF3 [Eis 138.67
FINRFEEE |95 & 31 Eih 139.35]170 |10 [/MR-TH |21 HF 4 |Eih 139.43
FINGRTFEE |95 232 Eih 39.49 SHIR
FINEEEFE |95 & 33 I 07 172 (2 [/MNR-TH[22 #F4 |Eih 252.04
FINRFEHFE |95 234 Eih 20827 1170 (12 'MNRZ=TH|[21 %6 |[EH 195.18

AF/INRFFER |95 &35 ESFT) 13935 |170 |13 [/MNRZTH (21 #7 [Eih 139.34
KF/INREEE |95 336 3 13306 [170 |3 [/NRZTHB 21 FHF 17 |E#s 13276
AFDNRFFR |95 ZFE37 Eih 35590 172 |1 [/MVRZ-TH[22 #HE3 [Eih 292.00
AF/INRFFH |95 #H38 ARFEH| 055 HR
XF/INRFFE |95 ZE39 =i 4224|174 |36 [/MNRTH[14 33 |Eih 111.14 | &8
AFENRFFRE (95 %40 =i 67231174 [36 [/MRZTH |14 33 [Eih 11114 (56
KENSFEE 95 &K41 BT 1.06 JH iR
KF/INRFIHFE |95 +E42 Eih 148771172 |5 |!MNRZTH |22 H 7T |Eih 149.24
KE/NEFHFE |95 ZE43 1@ 49 178 Afl19 [/MRZTHI([7 & 15 |4H 719 | &
KF/INREEE |95 343 1@ 49 [172 3 /'hRZ=TH[22 %5 |=Eih 26.62 [
AFENMRFFHE (95 Fda4 pi 6.50 JH R
KFINRFHE |95 &4 ] 2.69 JH R
KENS=EE |95 K46 Eih 13.73 JH R
KFEINRFHE |95 47 ] 3.32 JH R
KENR=EEm |95 K48 M 3.53 SHIR
KF/INRFIFE |95 +E49 Eih 40.94 JHIR
KAFNE=%E |95 ZE50 ] 122 (175 4 |MRZTH[13 F 13 |Eis 9351
KE/NEFHE |95 E5 Eih 17575 (169 |18 [/MNR-TH[20 F 17 [Eib 152.92
KF/NRFFE |96 21 Eib 876 [161 [10 [/MNRZTH[17 &1 |ZHh i | &6
KE/INRFFE |96 K2 ARAEH| 85 JH R
KF/INRFFE |96 &3 =i 13 161 10 MNRZTH[17 #®1  |Eib 1111 | &6
KENR=EE (97 &Hi T 23471 (161 [8 [/NVRZTH[17 #2 [IHAH | 504 [S6
KFINREEZE |97 &2 SEmEE| 155 HiR
KFNEEEEm |97 &3 IL#k 46 1161 |9 [NRZTH[17 F 17 [ERNH 34
AZhREEE (97 &4 LLIAK 45 J162 |7 [MRZ-TH[18 F19 |oxmem| 45 |&6
K= NE=xE |97 &5 S 388 [161 [8 [/MRZTHI[17 %2 AWt | 504 [&6F
P ENCEES I EET IS 11 JHiR
AF/INRFFR |97 F7 Eih 134241162 |6 [/NRZTH [18 #& 18 [Eih 134.00
KF/NRFFER |97 &9 Eih 188.00 (162 |4 [/MNRZTH[18 FH 16 [Eih 182.10
KF/NRFFE |97 HKil LLI#K 137 [162 |1 PMRZTH |18 % 13 |Eih 138.03
KF/PNRFEFE |97 E13 ITEZS 130 162 |16 [/MNR-TH[18 #FH9 |FEib 130.14
P EES W D ITESS 119 (162 |13 ["hMER-TH[18 &7 [t 120.12
KFINREEE |97 H15 Ehh 89371162 |8 |/NRZ-TH |18 #H 20 |Eih 89.65
KE/NRFIFE |97 &K16 ARAER| 455 JH i
KENSFHE |97 K17 [ITEES 520(162 |7 P/MNRZTH |18 & 19 |semEm| 45 (Bt
KE/NRFIFE |97 K18 SRAER| 747 JH i
P ENCEES S LLIAK 14 HiB
KFINSFFE |97 ZE22 £ 9508|163 |5 [/MNR-THI[19 1 |Eih 95.59
KFINREEE |97 323 L#k 97 1163 [3 [MRZTHI[19 &FH4 |Eih 97.54
P ETCEES MO L#k 97 163 [1 [MR-TH[19 &6 [Eih 98.04
KFINREEE |97 225 Lk 105 169 |12 [/MRZTH[20 ZF6 |Eis 105.58
=NREELE |97 326 =i 9601 (162 |9 [/MR—TH |18 =& 1 Eih 95.08
FINREEE |97 K27 ITEZS 120 [162 |17 [/MRZTH |18 ZF 10 |Eih 120.79
AXF/NRFEFHE [97 F28 sgmEn| 349 JH iR

11




EEH/INRMX FR 2849 A

| B 37 3h 2 ot R 2%
[3] . FHT £
G2 % e | R | oe | BE | WE [ R | e
=NEFEE |97 % 29 ITESS 3.49 JH iR
FINEFIFE |97 &FE30 LUK 13 JHIR
=INREFE |97 & 31 ITESS 13 JH iR
FINREEE |97 332 LAk 13 JHRk
=INREEHE |97 233 ITESS 13 JH iR
=R E |97 X34 g 107 162 |10 [/MRZTH([18 ZF2 |EiHs 108.04
FINRFEEER |97 %35 Eih 107.37 1162 |11 [/MNR-TH |18 H 3 |Fih 107.78
ZFINREEE |97 236 IS 11 JHk
FINREEE |97 37 ITESS 11 JH iR
FINGRTFEE |97 239 Eih 21.72 SHIR
=INREFE |97 &40 LLIFK 10 JH B
=INREEE |97 &4 LAk 10 JHIR
FINREEE |97 42 LAk 10 JH R
FINREEE |97 343 LAk 4.32 JHIR
AFNRFFHE (98 #Fi tLiAk 169 161 [7 [MRZTH[17 S5 [Eih 131.28
KF/NEFIFE |98 &3 ARAER| 168 JH B
PN EES Y g 36 SHiR
KF/NEFHFE |98 &S IS 167 [161 [18 [/MRZTH |17 #H 4 |Eih 129.45
KFEINRFFE |98 %6 L #k 167|161 |17 [MR-TH[17 #F3  |EiHb 129.41
KFNEFHFE |98 &7 IS 171|161 |16 [/MRZTH 17 % 16 |Etih 133.21
AZ/hR=EE (98 &8 IS 107__[161 |15 [/MRZTH |17 & 15 |Eth 128.92 | &6
KE/INEFHE (99 &K1 Lk 152 JHiR
P ENEEES I EEER I#k 49 SHiR
KF/INRFIFE |99 &3 =it 106.00 [164 |1 INEZTHI[16 FH6 Eih 106.41
KFENRFFEFE [99 FE4 Ll #£& 87 JHIR
KF/INRFIFE |99 &7 Eih 10637164 |9 [/NR_THI|16 F4 |Eih 101.58
AKF/INRFHFE |99 %8 £ 10644 [164 |8 [/IR-TH[16 F®3I [FEih 101.73
AFPDRFFERE |99 79 ) 10572 |164 |7 [/NR-TH[16 FHF2 [Eih 103.20
RFENRFFR (99 F10 =i 103.70 [165 |14 ['"NRZTH[15 #HS5 [EiH 102.55
KE/NEFHE |99 FE 11 LL#£ 46 JH B
PN EE S SRR IS 479 JHR
KFENREFE |99 %13 LLI#£ 15 1165 [18 [/MRZTH |15 4 [EHh 236.42 &
KF/INRFIFE |99 K14 B 13993165 |16 [/NRZTH |15 #H7 [Eih 141.23 | &6
KFE/NRFFER (99 &5 Eih 10596 [165 [17 ["NR_THI[15 ZH8 |[Eih 106.18
XKF/NRFHFER (99 & 16 Eih 11737 (165 |18 "MNRZTH[15 &H9 [=EiH 117.59
KENR=ZZE |99 &7 Eith 12123165 [15 [/NRZTH[15 &6 [Eih 136.03 | & 6
XKF/NRFHFER (99 %18 Eih 10350164 |6 [/MNR-TH([16 ZF1 |Eis 103.05
KE/NE=%m  [09 E19 EHb 3602 [165 [19 ['NR-TH[15 & 10 [Ei 100.21 [ &6
KE/NEFHE |99 F 21 IS 100 164 |2 [NRZTHI[16 ZF7 |Eis 101.68
KENSTFIFE |99 FK22 £ 10252 (164 |4 [IMR-TH[16 F9 [Eib 102.56
KE/NRFFER (99 23 Eih 10331 (164 |5 [/MNRZTH[16 &H 10 [Eih 103.64
AFENRFHEE (99 %24 =it 64301165 [19 [/MRZTH |15 & 10 [Eih 100.21 [& 6
KF/INRFIFE |99 %+ 25 IEsS 101 [165 [20 ["MNRZTH |15 & 11 |Eih 101.36
KE/NRFIFE |99 26 1L #& 101 [165 |21 [/MRZTH |15 #F 12 |Eh 101.56
AFDNRFFE |99 FE27 IS 100 165 |1 PMRZTH|15 F 14 |Ei 101.22
KE/INSFEE |99 28 1L #& 15 JH i
KENS=HE 99 K29 I 13 JH ik
KF/NRFHFE |99 230 £ih 5.77 JH R
KF/INREZE |99 31 Eih 6.35 JH ik
KEINSFEE |99 K32 Eih 6.37 JH i
KF/INREZE |99 333 Eih 6.77 JH ik
KF/NRFHE |09 234 ] 5.15 JH B
KF/INRFIFE 100 &1 J 179 [161 |5 |IMRZTH|17 ZF 11 |4 146
KEINEFHFH 100 & 2 KA 72 JHiR
KF/INEFIFE  |100 &3 I 526|187 [8 [/MNR=THI[33 #F2 [/ 388
FINREFE 100 & 4 J 164 [187 |11 [MMNR=THI|33 F 11 [ 121
ENCEES SR I 164 [187 |10 |[/MR=TH |33 # 3 |/ 121
KXFINEFEFE 101 & 1@ 526 (161 [4 [/MR=TH17 & 10 [/@ 395

12




FERF/NREEX FRL2849 A
|BEth B xR R
J=] .
B3 HE R | S B B | e
FINRFIFR |102 & 383 166 [4 [/ = H 243 | E
ENCEES SIS 383 156 [5 [v E H 41 |7E
FINEFEE 102 &2 274 HR
FINRTER_[103 & 601|166 |1 T 304 |5 Z |
FINRFEER [103 F 601 [159 [25 XA 187 |H&
FINRFFR  |104 F 1 1,256 |159 [15 P 972
FINRFFER 104 2 49 JH B
ENECEES SR 92 JHk
FNRFIFER (104 &4 39 JHR
FINRFFHE 105 F 1 985 [166_[10 4 861 | &Ht
FINRFEE 105 &2 92 [166__[10 4 861 | Bt
ENCEES SR 16 JHk
FNVRFIFE 105 &4 23 HiR |
FINRFFHR 106 F 1 188 [205 |10 12 16891 [&
AENR=EHE 106 &2 62|77 [14 5 329 |BfBt
AFENMRFEFE [107 F i 234 205 3 & 11 172.21
AFDRFFR 107 F2 89 [77 14 5 329 |&ft
AXFDRFFER 107 &3 41 [205 |10 %12 168.91 | &
PN EES IS 545 [167 |7 'S 399
AFENMRFEFH (108 F2 172|167 |1 5 #&E6 131.16
AFDNRFFE [108 &ES3 174|167 |9 5 &7 132.22
AFDRFIFR 108 F4 188 [167 |10 5 %8 143.16
KE/NRFFE 109 & 267|167 |2 5 &4 805 |&6t
AXFDPRFFR 110 F 429 [167 |2 5 &4 805 |&ft
AENRFFE 111 & 145 [183 |2 9 &1 8.22 [7E
AFEMRFEFEHE (111 F 145 [181 |17 4 FEs 10 |53
AXFDRFFR 111 E 145|181 |11 34 FE 10 83 [HE
AFE/NRFEFH |11 &2 3.30 JH
AF/NERFFR 112 F 76 [167 |8 5 F2 = 18251 [S8F
AFPRFFR 113 F1 71 [161 |3 17 %9 |H 47
XKFE/NRFHFER 113 &2 244 105 [10 15 F 1 |Eih 166.39
AFE/NMRFEFH [113 &3 64 161 |11 17 %6 |H 42
KFENRFFERE [113F4 191|168 |10 3 F29 |[EH 129.83
PN FIEER (114 &1 249 [167 |6 5 #F 1 |Eih 177.87
x5 FEE (114 &2 179|167 |8 5 %2 (=i 18251 | &6
PN FIEER (115 &1 127|168 |28 3 #FHF6 |[Eih 101.00
PN I [115 %2 30 [168 |27 3 FI =t 112.88 | &
P FER [116 & 112 [167 |2 5 #F4 |4 805 | &ft
A5 FrEE 117 & 135 [167 |2 5 #HF4 |4 805 |&#t
A5 FEER  |118 &1 806 [168 |7 3 #F2 [MA 48 |HE
x5 FEE (118 & 1 806 [166 [7 4 E1 @ 368 [HE
X5 FEE  |118 &1 806 [167 |3 5 %3 [ 229 |5HE
K= “LH 118 &2 13 JHIR
PN PR (119 &1 905 166 [5 4 &2 701
K= SEH (119 &2 19 JHIR
x5 FER (120 &1 112 [168 |27 3 &I 112.88 [S 8
K= =EH 120 & 2 23 JHIR
A5 P [120 &3 127 168 |26 3 &8 101.01
x5 FEE (120 &4 142|168 |25 3 &I 112.72
P PR |120 &5 127|168 [24 3 &10 |% 10081
K= S 120 256 142|168 |23 3 &1 |5 112.66
P PR (120 &7 127 _[168 |22 3 FE12 |5 101.00
K= S 120 25 8 142|168 |21 3 #H13 |5 113.53
P FEER (120 &9 127|168 |1 3 F14 |3 101.38
K3 PR [120 & 10 127|168 |20 3 &5 |¥ 101.10

E FEE [120 F 11 2.55 [168 |29 I3 &Fi6 |3 1.98

= S (121 & 1 12824 |168 |18 H[3 #F2 |=E 101.14
DN FER 121 &2 19 JH iR

13



EEH/INRMX FR 2849 A

|B 3 ith 2 X3 BR 2R
IE 442 %ﬁm%

E HE oy - Ml M RE [ ®E | BE | e
FINRFFHR 121 &3 i 3.30 JH i
FINRFEFERE [121 &4 Eih 2468168 |2 [/NRZTHI[3 FHFE 17 [E# 126.57 | &
FINRFFR [121 FES Eih 12424 (168 |19 'NRZTBH[3 F 21 [E£# 101.03
FINRFEER 121 &6 Eih 14086 [168 |2 ['NRZTHI[3 FHE 17 [E£i 126.57 | &6t
FINRFEFE 121 &7 ) 168.37 (168 |17 [/NRZTH[3 FH 19 [EH 126.58
FINGFEFE [121 B8 Eih 13427168 |16 ["NRZTH I3 #F 18 |E#s 101.02
FINRFIFR  |122 F 1 P 1857 (209 |1 P/MR—THI|20 &5 [/ 115 |HE
= NE=Em 122 1 1 1857 [210 [26 [/MR—TH[21 & 12 [ 297 [ &
FINETEEFE 122 &1 I 1,857 1179 |2 [/'NRZ=TH |2 7 |/& 2771 __|2E
EINREEE 122 1 1 1857 (194 |11 MR=THI30 &6 [/ 28 |53
FINRFEE  [122 &1 1@ 1857 125 |9 [/MNRETH[29 ZF7 |4 709 |5E
NS EEE 122 &2 SEmE%[ 36 IR
=INREFE 122 &3 1A 39 JH iR
=INEEEE 122 4 1 198|168 |3 [/MNR-THI[3 30 |EiHs 128.01

AXFENRFFER [123 F 1 nRmEE| 164 JHiR
AF/NRFFR (123 F2 SRAER[ 19 JH B
P ENEEES IIIERER J 29 JH iR
KENSFIFE |123 £4 Eih 107211209 |5 |/ME—TH |20 ZH9 |Eih 107.34
AFINRFFE [123 FES Eih 103881209 |2 [/NR—TH |20 #H6 [Eih 104.25
KENSFIFE |123 &6 Eih 133221209 |7 |'MNR—TH |20 ZF 10 |Eih 144.87
AF/INRFFER  [123 F7 Eih 115351209 |8 [/MNR—TH |20 #F 11 [Eih 116.48
KENSFIFE |123 &8 Eih 10000 (209 |11 [/MR—TH [20 FH 14 [Eih 100.52
XFE/NRFHFR 123 &9 Eih 12591 (209 113 [/MNR—TH [20 FH 15 [EHh 137.06 [&6f
KE/NEFHE  [123 & 10 Eih 11957 (209 |14 [/IMR—TH |20 ZF 16 [Eis 120.01
KFEPNRFFE 123 F11 =i 164209 [13 |[/MNR—TH |20 ZF 15 [Eith 137.06 | & #F
KNS =HE  |124 & M 161_[168 [6 ["NR-THI[3 F25 [Eh 753.39 | &6
KENRFHFE 125 & H 353 1209 [18 [/NR—TH[20 #3 |H 137__ |52
KEINSRFIFE  [125 & H 353 (168 [8 [/MRZ-THI[3 #27 |H 54 |5 E
KFENRFFE [126 F 1 H 953 (168 |11 |[/MR-TH 3 #H2 [EHh 646.58
AKFNRFFERE [126 F2 H 569 1168 (13 [/MR_TH I3 #FF3 |Fih 385.42
P ENCEE S IREX J 548 [168 [6 [/NR-TH[3 & 25 [Eih 75339 |5
KF/INRFIFE |12] &2 H 76 168 |14 ['NR_THI[3 FHE4 [£ih 51.46
KFNRFHE 128 & H 125 168 [6 [NR-THI[3 #F25 [Eih 75339 | &
KF/INRFIFE 120 & H 780 (179 [3 [/MRZ=THI[2 #s8 |[H 453
KENRFIFER (130 &1 I 49 1105 |14 [/MRATHI[S F7 |Ei#s 35.01
KEINEFHE (130 &2 B 105 105 [13 |"DNRATH[15 FES Eih 88.87 | &
AFIMRFIFHE [130 &S H 20 [105 [13 [/NRATHI[S #FHFS5 [Eih 88.87 | S
AFENMRFEFH (130 F4 H 64 105 [16 |[/MNRATH|15 #H6 |EHs 45.25
P ECEE S MR [ 105 [105 |17 [MRATH 15 #FE8 [Eth 74.72
KE/INEFEHE  [130 X6 1@ 181 (105 |18 [/MRATH[15 &9 [t 128.06
KE/NEFHFE (130 &7 I 233 (212 (25 |[/MR—TH|18 FE 11 |Eh 158.69
AF/NRFFH [130 &S H 232 212 (19 [/MR—TH[18 FE 10 [Eib 157.91
KFNREEE 130 &9 I 230 (212 (26 |[/MNR—TH|18 FE 12 |Eih 156.39
AXFNRFHFE |131 & H 697 179 [4 [INRZTHI[2 #®9 |H 405
KENS=Fm  |132 & M 360 168 [6 [/NR-THI[3 FE 25 |=Eih 753.39 | &
KF/NEFHE 133 & H 1,365 [210 |29 [/MR—TH 21 #F15 [H 743 |5E|
AFINRFFHE [133 F H 1365 [168 |9 [NRZTHI[3 %28 |H 89 |2 E
KENSRFHFE  [134 &1 H 102 1210 |28 [/MR—THI[21 #F 14 |H 95 | &ft
AFNRFEE  [134 &2 H 56 210 |28 [/NgE—TH |21 % 14 |H 95 |5Hf
KE/NSFHFE 134 K3 H 991210 |27 [/MNR—TH |21 #F 13 [H 451 | &6t
AXFNRFFH [134 F4 H 661210 |27 [/MR—TH |21 Z 13 |[H 451 | &6t
KE/NEFHFE 135 & H 69 210 [27 [/NR—THI[21 #* 13 |H 451 | &6t
KE/INRFFE  [136 & H 697 210 (27 [/NR—THI[21 Z* 13 |MH 451 | &6t
AXFENRFFERE [137 F 1 H 220|178 A5 D/NRZTH 7 27 |Fih 205.39
AFENMRFFHE (137 F2 H 97 [178 A[29 [MNRZ-TH|[7 #H9 [T 92.79
FINRFFE [137 &3 H 262 |178 A[15 [/MNR-TH |7 #F 10 |Eih 249.69
FINREEE 137 &4 H 156 [180B|11 [MNRETH |1 ZF 11 |Eh 126.21
AXFENRFFR [137 FS H 28 [180BJ12 [/MRZTH |1 #F 12 [Eih 23.58

14




EEH/INRMX FR 2849 A

|BEth B xR R
IE 442 %ﬁm%

3 BE e [ mE | = B g RE [ BE | BE | e
FINRFIE 138 & H 12 110 |1 PMRANTH |17 #F9 | 11250 (S8
=INREEE 139 &K1 H 49 [110 [1 PPMRANTH[17 29 |EiHh 112,50 | &5
FINRFEHEER (139 &2 H 143|110 |8 PIMRISTH |17 % 10 |5t 100.00
FINGRFEE 139 &3 A 161 (110 [10 [/MRATH 17 &S |Eih 112.35
FINRFFE 139 F4 H 27 (110 |9 PPMRATHI[M7T #HF71 |EHh 19.36
=FNEEEE 140 & 1 H 109 (210 |5 |MR—TH|21 ZF21 |Eih 109.79
=FINREFE 140 &2 H 26 JH B
=INREEE 140 352 JKERER 29 JHiRk
FINRFFE 140 EF3 Eih 12271210 |7 |/MNR—TH |21 #F 23 |Eih 122.41
FINREEE 140 & 4 H 20 210 [t [/MR—THI[21 16 |Eih 120.63 [&
=NREHE 140 B5 B 166|210 |4 [/MMR—THI[21 %20 |H 160
=INREEE 140 &6 H 11 f210 |1 PMR—THI|21 ZF 16 |Eih 120.63 [ &
=NSREEE 140 &/ H 10 1210 30 /MR—TH |21 F 17 _|Eih 59.02 | & 13
ENCEES ST H 55 (210 [30 [/MR—TH[21 17 |Eih 59.02 &

AXFDRFFR 141 & H 142|219 |7 PMR—TH |11 25 |Ei 181.44 [S 6
KFINREEE 142 B 1 H 211212 |35 [/MR—TH[18 F 24 |Eih 90.36 | & fif
AF/INRFFE 142 FE3 H 83 212 [3 [/MNR—THI[18 23 |Eih 116.64 (5 #F
KENB=E (143 H 1 I 92 [219 |7 [PMR—THI[11 25 |Eih 181.44 | 56
AXF/NRFFH [143F2 H 19 [219 |7 PMR-TH |11 ZF25 |EHh 181.44 [
KENRFEE  |144 & H 849 1209 |17 [/NR—TH |20 %2 |H 491
KENRFEFE  [145 &1 J 1485 [212 1 [/MR—TH[18 & 18 |Eih 547.34 |53 E
KFINREEE 145 1 1@ 1485 211 |1 [MNR—TH[19 #F4 | 569 |5 &
KF/NRFFE 145 22 sREESE| 19 JH iR
KFNRFHFE 145 &3 1 33 JH R
AFENRFFER (145 F4 Eih 17062 (211 |3 [/MVR—TH[19 #F*F2 |Eih 481.16 |5 F
PN EE S IS 1 143 212 |2 |MR—THI|18 F* 20 |Eih 104.17
KEINREHE 146 52 I 219 211 [6 [/MNR—TH[19 &1 |4 187 | &6t
KEF/INRFIFE 146 253 H 213 211 |5 |/MMNR—THI[19 &7 |4 193 |&5#
KEINSFHE  |146 24 I 18 211 |5 PMR—TH[19 ZFH7 |/ 193 | S5
KE/INRFFE 146 &5 1 12 211 |6 [MNR—TH|19 &HF1 [M 187 |56t
KF/INRFIFER |146 &6 I 143 212 |32 [/NR—TH[18 F19 [=Ei 104.13
AFPNRFFER [146 B 7 P 143 1212 |33 [/MNR—TH[18 F 21 |EHs 104.01
KE/NEFIFER |146 &8 1 160 212 |34 [/MNR—TH[18 #FH 22 |Ei#s 116.36
PN EE T I IET) 1 771212 |13 'MNE—TH |18 #FH 23 |Eih 116.64 [ 6
KE/NRFIFER |146 & 10 I 17 1212 136 |"MR—TH |18 & 36 |Eifh 13.51
KE/NRFFE 146 11 1 73 1219 [9 PMNR—TH |11 #F27 |4 48
KENRFIFER (147 &1 I 138 1211 |4 [R—THI[19 FHES5 |Ei#s 128.50
AXFDRFFR 141 52 SRAEHR| 39 JH B
P ENCEES IIGESR J 56 HiR
AT EINEY £ 39670 211 [3 [/NR—TH[19 FH2 [Eih 481.16 [B
KFE/INRFIFER |14] &5 I 138 211 |7 [/hR—THI[19 #FH6 |Eih 128.50
AKFDNRFHUT 142 F 2 H 3.30 JH B
KEINR =B 148 51 I 234 219 |6 [/MNR—TH |11 #F24 |Eih 219.09
KE/INREFET [148 2 2 ARmER| 23 JH R
AEINRZHEITF (148 &3 J 13 HiB
KEINREHEIT 148 2 4 P 191 [214 J40 [/R—TH[14 FEs |[Eih 173.01
KF/INSRFHELF 148 &5 I 183 214 |41 [[MNR—TH[14 F9 |Ein 166.03
KEINSFHEIF 148 X6 H 166 (214 |1 |[/MNE—TH[14 & 10 [Eih 150.37
KNS FHELF 149 & 1 1 15 [196 B[10 [/MR=TH [29 % 23 [=ih 11.45
KEINRFHETF 149 & 2 P 1213 [214 39 [/MNR—TH 14 F71 [Eih 894.71
KENEFREAT (150 & 1 Eih 15788 1214 |16 [/MR—TH [14 F 22 |Eih 157.54
KEINRFHETF 150 & 2 H 56 [214 [36 [/MR—TH([14 %39 |H 50
KF/INRFHEEF 150 & 3 Eih 2955|214 |30 [/MR—TH([14 36 |Eis 29.55
KNS =S EF T 150 & 4 =i 4391 (214 [34 [/NR—TH[14 F?2 |Eih 4391
KNSR ERELF 150 &5 e 108.57 JHIR
FINSFREIT|150 256 £ 14289 1214 |18 [/MNR—TH [14 ZF 24 |Eih 142.78
FINRFFREL T [150 25 7 Eih 105311214 |11 [/MNR—TH[14 F 19 |EHs 104.71
KFEINSFHREAT 150 % 8 Eih 10541 (214 |10 |[/"MR—TH |14 #F 18 |Eith 105.95

15




EEH/INRMX FR 2849 A

|BEth B xR R
IE 442 %ﬁm%
S hE =T - Mkl L I 2 RE [ ®a [ BE | e
KPR EHELF 150 259 EHb 1463214 19 PIR—TH[14 F 17 [Eis 107.35 S8
KE/INEFHELF 150 Z 10 Eih 12210 1214 |17 [/MNR—TH [14 #H 23 [=Eih 122,01
KENRFFEAT[150 & 11 Eih 104411214 |12 /MNR—TH |14 F 20 |Fih 104.29
FINEFREIT [150 & 12 Eih 145.64 1214 |13 [/MNR—TH |14 F 21 |Eih 145.95
KE/NSRFHETF([150 2 13 Eih 36.12 JH iR
=INREHELF 151 251 £ih 192.17 JHk
KEPNRERETF 151 &2 szmEn| 33 IR
FINRFRELF 151 253 1 3.30 H
KE/NREHELF 151 2 4 B 11231214 |2 [MR—TH[14 ZF 11 |EiHh 12.78
= NS =HBIF|151 %5 £ 104091214 |5 [INR—TH[14 & 14 |Eih 106.09
XFE/NRFFHEIIF|151 &6 Eih 6301214 20 [/MNR—TH[14 ZF 26 |Eih 10375 [S 8
= NREREAT 151 &7 e 97.35 214 [20 [/NR—TH[14 % 26 [=ith 103.75 | &6
KENRFREAT|151 &S Eih 11162 1214 [19 [/"NR—TH [14 #F 25 |Eih 119.36 [ &4
= NREHEAT 151 &9 e 9259214 |9 [/NR—TH[14 #E17 [Eih 107.35 | S 6t
=INRERELF 151 2 10 Eih 778 1214 |19 [/INR—TH [14 25 [Eih 119.36 [& 6
FINRFFHELF [151 & 11 Eih 10378 [214 |21 [/INR—TH |14 F 27 [Eis 105.62
=INSERELF 151 312 £hh 105071214 |7 [NR—TH[4 F15 [Ei#h 105.15
FINRFFHELF 151 25 13 Eih 135101214 |18 [/MNR—TH[14 F 16 |EHs 135.10
KENS=HEIF 151 %14 e 10730214 |4 [NR—TH[14 F 13 [Eih 107.67
=INSEHELF 152 35 1 e 13091 |214 |26 [/NE—TH [14 32 |Eih 229.94 [ St
FINRFREIT 152 2 2 SREEH| 19 JH iR
KEINREHELF [152 23 1 3.30 JH R
KF/INRFRET |152 2 4 AREEH| 16 JH iR
FINEFRHET|152 &5 SRAER[ 13 JH
FINERFFHEIT[152 F6 Eih 20303 (214 (29 [/MR—TH [14 #F 35 [EiHh 189.39
KEINSEFREI R [152 & 7 I 11 JHIR
=N F5ELF 152 % 8 J 13 JH
=INREHELF 1562 250 I 152 (214 |24 [/MNR—TH |14 ZF 30 |Eih 152.24
FINRFHEIT[152 F 10 Eith 205.38 (214 |22 |'MNR—TH |14 T 28 |EiHh 195.84
KEINE=HBF 152 Z 11 1 123 (214 26 ['"NR—TH|[14 #F 32 [E#h 22994 | &6
FINRFEREAT |152 25 12 sREES| 275 JHiR
FINREREI T [153 & 1 Eih 267351214 (33 |/MNR—TH |14 F 1 Eih 23797
=INRERELF 153 25 2 B 8.77 JH R
KF/INRFHEITF 153 & 3 nREEE| 76 JHi
FINRFEREIT 153 2 4 srmEE] 10 HiR
FINRFEREIT 1564 & H 234 214 |42 |MNR—TH|[14 #4 |H 214
FINRFFEIT[155 F 1 H 257 (212 (17 [/PMR—TH 18 #H 1 [EH 185.40
KEINSRFRHELF 155 % 2 H 3.30 JHIR
= NS FFELF 156 & 1 P 647 214 [38 [/NR—TH[14 Ee6 [Eitb 319.51 |53 &
FINRFRET 156 & 1 1 647 212 |9 [/MMNR—TH[18 ZH 34 [Eih 202.72 [ E
FINRFEHELT 156 2 2 J 13 J105 |12 /MRATHI|5 FHF3 |4 324 |&Eft
KEINREHELF 156 2 3 1 19 JH B
EINREREL T 156 2 4 1 9.91 JHIR
=INREHELF 156 &5 1 208 JH R
=INREREL T 156 256 i 23 JH ik
KE/INREFET [156 2 7 AREEH| 66 JH B
ENCEE S S IE-X H 29 (212 [8 [/MR—TH[18 & 33 |HiEth 25
NS ERELF 157 & 2 H 6.61 JHIR
FINEFEREIT [157 &3 H 438 215 |14 ["NE—TH[15 &7 H 23 |RE
KRENRFHEAT [157 &3 H 438 212 |7 |/MNR—TH[18 # 32 |3iEHh | 342 |53
FINSERET 157 &4 AR FE 1.92 iR
FINRFFHE T [157 &5 AR FAEH 1.90 JHIR
=INRERELF 157 &6 A 57 JHIR
KFINSFEREIF|157 &7 Eih 104001215 |2 /MNE—TH |15 &9 |Eih 119.17 | &6
FINREREITF|157 &8 Eih 10944 215 |3 |"MR—TH |15 FE 10 |Eih 109.86
KENRFREHET[157 &9 Eh 10449 1215 |14 |/NE—TH |15 FE 11 _|Fih 104.66
=INREHELF 157 %10 =it 10808 {219 [27 [/NR—TH [11 F 17 |E#h 108.91
KEINRFHIF 157 & 11 =it 10282219 [1  [MR—TH[11 #E 19 [E#h 103.46

16




EEH/INRMX FR 2849 A

|BEth B xR R
IE 442 %ﬁm%

3 BE e [ mE | O B g RE [ BE | BE | e
FINEEREIF 157 & 12 Eih 0.95 JH iR
=NREFELF 157 & 13 ARBEE| 81 HiR
=/NREFREIT 157 & 14 H 149 1215 [1 [/MR—THI|15 #8 |[H 124
=INREHEL T 158 25 2 I 6.61 JHIR
=INREHELF 158 2 3 1A 6.61 JH iR
FINRERE T [159 2 1 Eih 14.83 JHIR
=INRERELF 159 2 2 H 16 JHIR
=INREHELF 159 2 3 2] 16 SHIR
FINEEREIT|159 &4 Eih 21.71 JH iR
FINRFHEI T [159 &5 Eih 11077212 |15 [IMR—TH |18 ZF5 [Ein 110.70
FINREREITF[159 &6 Eih 116.69 1212 |13 [/MNR—TH |18 H 3 |Fih 116.77
FINRFFEI T [160 1 Migth [ 194 212 |10 [/MNR—TH[18 %35 [Eih 182.55
FINRFFHET [160 & 2 SgmEH| 55 IR
FINRFFHEL T 160 25 3 agmEn| 31 JHi

KE/INRFERIT [160 2 4 FEEH 23 [216 [1 [/MR—TH [16  # 13 |3fEH 10 [53
KE/INEFHEIT 160 2 4 HMiEHh 23 210 |3 PMR—TH |21 #H 19 |EH 13.26 |53 &
AF/PNRFHEIITF[160 &S =i 15731210 |2 |/MR—TH |21 FE 18 |EiMh 3413 | &6t
KNS EHELF 160 256 £ih 9576 (215 [13 [/MNR—TH |15 #*6 |Ei 104.34 | &5
KFEPNRERETF 160 & 7 Eih 5501215 |12 [/MR—TH[15 ZF5 |Eih 11259 | &5
KEINRZHEIF 160 &8 P 12 1210 [2 [/MR—TH |21 % 18 [Eih 3413 |5
KEINREHELF 160 259 M 12 1216 |2 [/MNR—TH |16 & 14 |1H 12
RE/NS B R 160 2 11 e 3332216 [5 [NE—TH[16 %16 [=ih 100.69 | & 6
KFEPNREREETF 160 & 12 Eih 10517 (216 |4 [/MNR—TH[16 FH 12 [Eih 105.93
KENRZHELF 160 5 13 MiEH 53 214 |37 [/MNR—TH |14 #H5 |HiEH 44
KE/NREHELT 161 251 SREEE| 43 JH R
KNS5 161 &2 =i 6679216 [5 [NE—TH[16 %16 [=ih 100.69 | & 6
XENRFHETF 161 &3 =ih 100211216 |7 [/MNR—TH[16 F 18 |FEib 100.16
KFE/INRFRIAT 161 & 4 SRAER| 69 JH
KE/NRFHEIF|161 &5 Eih 858 (215 |13 [/MR—TH |15 #H6 |Eih 104.34 (5
KNSR EHELF 161 56 £ih 9567 (215 [12 [/MNR—TH |15 #*S5 |Ei 112,59 | &5
KEINSRFHEF|[161 &7 Eith 100841215 |11 [/MR—TH |15 ZF4 |Eis 131.30 | & F
KNS EHELF 161 358 £ih 3044 (215 [11 [IMR—TH|15 #F*4 |Ei 131.30 | &5
KENSFHEIF|161 E9 Eith 1050 (215 |2 [/MINR—THI[15 #H9 [Ei 1917 | &5
XFINEEHEIF 161 & 10 Eih 133881215 |9 [/MR—THI[15 F2 |Fib 134.52
KFENSFEHEIF 161 E11 Eith 11888 (216 |9 [/NR—TH |16 20 [=Eih 118.81
KENRERETF 161 ZE 12 £t 5161210 |1 [/MNR—TH[21 ZF 16 |EHs 12063 | &5 F
KFE/INSREREIF|161 & 13 Eih 2620215 |2 |MR—TH|15 %9 |EHh 1917 | &4
KENRERETF 161 & 14 £t 11331215 (12 [/MNR—TH|15 #FHES5 |EiHM 11259 | S84
KEINREHELF 161 15 Eih 600210 |2 |R—TH |21 ZF 18 |Eh 34.13 | &6
KENRERETF|161 Z 16 Eih 2531210 |30 [/MR—TH |21 ZFHF 17 |Eih 59.02 | &
KEINRERELF 162 251 H 3 |15 B[5 [/MRATHI[14 F 16 |Eih 28.68
KE/NRFRIT 162 2 2 H 36 216 [18 [/NR—TH [16 & 29 |Eih 150.06 | & ff
AFINRFHEEF|162 &3 H 100 216 |17 [/MR—TH[16 F 28 |Eib 133.11 [S6F
KEINRFRIT 162 2 4 agmEE[ 110 JH i
AFINSRFHEEIF|162 &5 Eih 20062 [219 [18 [/MNR—TH[11 #FH8 [FEith 180.29
KNSR EHBLF 162 56 =i 131.06 219 |19 [/NR—TH[11 %9 [=Ei 161.31 (&6
KEINSRFHEI T 162 & 7 Eih 78171219 |20 [/MR—TH [11  ZF 10 |Ei#s 162.89 |5}
KF/INRFHEITF 162 258 Eih 3307 (219 22 [/MNR—TH |11 F 12 |Eih 141.37 | &
P ENCEE el T sgmEn 39 iR
KFEINSFRIAT[162 Z 10 Eih 3435(219 |19 [/MR—TH |11 &9 |Eih 161.31 | &
KEINEFHELT[162 11 Eih 8714 (219 |20 'MNE—TH |11 & 10 |Eih 162.89 | &4
KENSRFHET 162 12 H 34 216 [18 [/NR—THI[16 F29 |Eih 150.06 | & ff
KEINREHELF 162 25 13 H 25 216 [18 [/NR—THI[16 F29 |Eih 150.06 | 5 {5
KENREREF 162 & 14 H 12 216 |18 [/MNR—TH[16 Z 29 |Eih 150.06 | &}
KEINREHIT 162 & 15 Eith 10817 (219 |22 IR—TH |11 FH 12 [Eih 14137 [&Hi
FINRFREIT[162 F 16 =i 13177 (219 |23 [IR—TH |11 ZF 13 [Eih 163.68 | & fF
=FINEEREI R 162 & 17 H 15 (89 |3 |/NRATHI|34 FHF34 |Eih 9.74
KE/NRFRIAT[162 & 18 H 35 1216 |18 [/NR—THI[16 F29 |[Eih 150.06 | & 3

17




FERF/NREEX FRL2849 A
| B 37 3h 2 ot R 2%
[E| " T4
S hE =T I Mkl i I 2 RE [ ®a [ BE | e
FINEFRET[162 F 19 ngEEE| 116 JHiR
FINSFREIT|162 2 20 A 160 |89 4 [DRATHI[34 FE 11 [FEih 127.62
FINRFFHET [162 & 21 sgmEn| 89 IR
= NE BT 162 & 22 EH | 10196216 |16 [/NR—TH[16 2 26 |=H | 121.03 [&HF |
FINRFRELTF [162 2 23 =i 33551219 |23 [/MR—TH [11  #F 13 |EiHb 163.68 | &
FINRFFHEIF 162 25 24 H 1951219 |24 [/MNR—TH [11  #F 14 |Eih 1.95
FINREHETF [162 & 25 Eih 13235 (216 |11 [/MNR—TH [16 FH 22 [Eih 130.22
FINRTFREIET 162 2 26 £ 10043216 |13 [/NR—TH [16 % 24 |Eih 100.96
FINRFERET 162 25 27 ) 11281216 |15 [/ME—TH[16 %26 |Eih 121.03 [ &6
= NSRBI |162 % 28 H 160 89 [40 [/NRATH [34 #FE 35 [Eih 127.55
FINRFRELT [162 2 29 =i 28311216 |15 [/MNR—TH [16 F 26 |Eib 121.03 | &4
= NS =BT 162 Z 30 | 930 (89 |39 [/NRATH |34 #FH 13 |Eih 5.92
FINRERETF 162 & 31 H 49 (216 [17 MNR—TH |16 #F 28 |Eih 133.11 | &4
=INREHEIF 162 X 32 H 167 216 [16 [/NR—TH |16 & 27 [Eith 14388
KE/NRFHFEAT 162 & 33 H 6.36 |216 |17 [/MNR—TH [16 & 28 [Fih 133.11 | &4
KNS EHELF 162 25 34 H 31 1216 |18 [/MNR—THI[16 F29 |Eih 150.06 | & ff
KFEPNREREF 162 & 35 H 68 1216 |19 [/MNR—TH |16 F 1 Eih 15357 | S
KFINSRFREIF|163 & H 245 1214 (32 [/NR—TH [14 7 38 |Fith 216.15
KFEPNREHIT 164 &1 i 170 |9 6 [MWERATHI[19 FE11 [/ 129
KNSR =B 164 52 |0 57 [184 22 "NR=THI8 FHF 17 |EH#s 14721 [ &4
XE/NSEFHETF 164 &3 H 482(89 |21 [/NRATH |34 FHF 12 |Eih 3.75
KFE/INRFHET |164 & 4 1H 1351212 |4 [R—TH[18 F25 |Eih 116.08
KF/NREFHEI R 164 E5 1H 10 219 [3 [MR—THI1 #&H21 [EHh 9.41
KFE/INRFHEIT|164 &6 A 209 (219 4 |MR—TH |11 22 |[Ei 18043
KE/INRFRIT 164 &7 P 160 [212 |23 [/MR—TH |18 #H 26 |Eih 137.07
KF/INRFHEIT |164 &8 1H 135 (212 |24 [/DNR—TH |18 F 27 |Ei#b 116.00
KEINRERELF 164 259 H 27 184 [26 [/NR=THI[8 & 16 |=ih 22.14
KE/INEEHELF 164 2 10 1 113 1212 [27 [/MR—TH |18 28 [Eih 97.17
KEPNRFEHET 165 & H 125 [184 [22 /NR=THI[8 & 17 [Eth 147.21 | &6
KEINSRFHEIF 166 & 1 82 (218 (40 [/MR—TH |12 3 13 |1 21 |[5E
AEINRZHELT 166 & e 82 218 [8 [MIR—TH[12 #H26 |Eih 41.13 |5 E
KEINSFREIR[167 1 H 238 (218 |41 [/MR—TH[12 ZF 14 |4H 181
KFEINREREF|167 &2 Eih 0991218 |5 [/MNR—TH[12 ZF 23 |Eih 179.53 &6
KEINREHELF 167 33 Eih 41841218 |7 [R—TH[12 F25 |EHs 148.00 | &5 F
AEINRZHEITF 167 & 4 H 7.62 HiB
KFINEFEHEIF (168 &1 H 245 1214 (31 [/MNR—TH [14 7 37 |Fith 216.31
KF/INRFHEET|168 &3 B 2860 (218 |9 |/MNR—TH 12 #FH 27 |[Eih 174.15 &6
KEINSRFHEIF 168 & 4 H 7.86 JHIR
KE NS THE T 169 & 1 HiEH | 28 i
KE/INSRFHETF 169 & 2 H 54 1217 [20 [/MNR—TH[13 #FHE5 |Eih 17383 [S 8
KFE/INRFEHEETF|169 &3 Eh 2131 (218 |9 |[/MR—TH 12 F 27 |EiHs 174.15 | &6
KEINSFHEIF 169 2 4 Eih 134041218 |7 [/MNR—TH[12 F 25 |EHs 148.00 | &
RENEZHET 170 5 1 MM | 44 HIR
KFINSFERHEEF 170 & 2 Eih 78.96 1217 122 /MNE—TH |13 &7 |Eih 176.37 | &
RENRZHA T 171 &1 HiEM | 68 S
KE/NRFRET (171 &2 Eih 24751217 |25 [/MNR—TH |13 ZF 10 |Eih 11342 (56
KF/NRFEFET 171 23 H 77 (217 [24 [MNR—TH|13 F*9 |Ei 179.05 [ & 6
KEINSRFZREF[171 K5 Eih 18448 1218 |5 [/MNR—TH[12 ZF 23 |EiHb 179.53 | &
KENBR=HEIF[171 56 H 70 218 [2 [RER—TH[12 F20 [EiHh 60.70
KFINEEHEIF (172 &1 Eih 38451217 |25 [/MNR—TH[13 F 10 [Eih 11342 | &6t
KFINRFHET [172 B2 MiEMh | 56 HiB
KEINSFREAT|172 &3 Eih 17377 218 [1 INR—TH[N2 F19 |E# 149.41
AFEINRFEHT 172 2 4 srmEsE] 10 JH ik
KENRFHETF|[172 &5 sgmEn| 368 JH i
KFINSRFREIF|172 &6 Eih 49301217 |26 |[/MNR—TH |13 ZF 11 |Eh 123.07 | &6
FINSERE R (172 & 7 Eih 455 (217 |26 |/MR—TH |13 #F 11 |EMh 12307 | &
=INSERELF 173 5 1 =ih 9085 (217 [31 [/MR—TH[13 F 30 [EHh 85.29
AXFNRFERIATF[173 &2 AR AER 6.61 IR

18



EEH/INRMX FR 2849 A

| B 37 3h 2 ot R 2%
IE 442 %ﬁm%

B2 WE T I Ml s I 7 RE | WE | R | e
FINREREIT|173 &3 £ 4369 (217 |26 |/MNR—TH |13 FHF 11 |Eih 12307 [S 8
EINREREI T 173 3 4 ARAER[ 253 iR
FINRFRET[173 FS £ 2531217 |26 |[/MR—TH |13 #F 11 |EMh 123.07 | &4
FINRERET 173 26 e 3461217 [25 [NR—TH[13 10 [Eih 11342 | &6
FINRERET|173 &7 Eih 29401217 |26 [/MNR—TH[13 F 11 |Eih 12307 [S 8
=FINEEREIF|173 &8 1 250 217 |28 [/MNR—TH[13 ZFH 13 [Eih 234.89
=INREREIF 173 &9 1A 16 IR
FINRFHEIF[173 & 10 Eih 166.15 (217 |1 [/MNR—TH [13 FH 14 |[Eih 153.92
FINRERET 174 % 1 £ 4629 1217 |10 [/MNR—TH 13 #FHF 22 |Eifh 108.38 [ f
FINSERET|174 &2 SRmE%[ 16 IR
FINRFRE T [174 %3 E 89.00 1217 |8 [/MNR—TH[13 F21 [Ei 133.70 | &6
FINERFREHTF[174 F4 = 139941217 |5 [/MR—TH[13 ZF 18 |EHs 139.81
=INREREIF 174 &5 Eih 14077 1217 |4 [/NR—TH [13 #F 17 [EHh 140.46
FINRFRET[175 & 1 Eih 71821217 |11 [/NR—TH [13 % 24 |=Eih 137.54

KEPNREREF|175 &2 sgmEn| 39 IR
KFNRFHEIF 175 &3 JEREM | 15 HiR
KE/NRFRIIT 175 & 4 Eih 59.30 {217 |10 [/MNR—TH 13 #F 22 |Ei#s 108.38 |5 fif
KEINREHELF 175 &5 E3 4458 (217 18  |/DR—TH 13 #F 21 |E#b 133.70 [& 4
KENERFRHAT|175 &6 Eih 69.12 {217 |29 |[/MNR—TH |13 #F 25 |EHs 132.27
KNS FHEIR[175 &7 =i 4723 (217 |30 '"MR—TH 13 F* 26 |[Eih 90.39
AF/NRFHET 176 &1 H 127 217 |20 MR—TH[13 FES5 |Ei 17383 | &6
REINSR 5B 176 5 2 KEEER | 51 Hik
XFE/NRFFHIITF|176 & 3 H 2101208 |18 [/MNR=TH[1 F 71 |[Ei 1271 |56
KRENREREIT 176 & 4 H 11217 (24 [/MR—TH[13 %9 [Ei#h 179.05 [ 6
KENSFHEIF[176 &5 METEHD 76 JHIR
KNS FHEIF|176 % 6 =ih 10404 217 |22 [/MR—TH[13 F7 |Eih 176.37 [& 6
KENRFRIAF|176 &7 Eh 183331217 |18 /MNER—TH |13 & 3 |Fih 206.87
KEINEFHEIF|176 %8 Eih 12255 (218 |12 [/INR—TH |12 3 30 [Eis 122.54
KENS =B R [176 &9 H 6.24 JHR
KEINEFHEIF|176 Z 10 2] 161 (218 |11 [/MR—TH 12 ZF 29 [H 169 |&6F
KFEPNRFREIATF (176 & 11 Eih 12322218 |9 |IR—TH 12 27 [Ei 174.15 | &6
XFINRFFHEIF[176 & 13 KERER 7.26 HiR
KFEINSRFEHEIF|176 & 14 =i 17901217 |25 |[/MR—TH |13 FE 10 |Eih 11342 |54
KFINSFHELIF|176 & 15 H 22 218 [11 [/MNR—THI[12 #F*29 |H 169 |&8t
AFDNRFEREF[177 & H 350 (219 [11 P/MR—TH([11 1 |FE#h [288003 [5Hf
RENRFRET 178 & H 783 (219 [8 [/IR—TH |11 226 |H 630
KF/INRFEHEIT 180 &1 *H 24 (216 |19 ['MNR—TH |16 &1 Eith 153.57 | &
KENREHELF 180 & 7 1 265 JH B
KEINRERELF 180 259 semEn] 36 SHIR
KEINR=HEIF 180 & 10 P 11216 [19 [/MR—TH[16 &1 [EHh 153.57 (&6
KFE/INSFHEIF 180 & 11 ] 63 [216 |19 ["MNR—TH |16 &1 Eith 153.57 [ &4
KENREREATF 180 & 12 i 588 1216 |19 [/MNR—TH[16 ZF1 |Eih 15357 S8
KNSR EHELF 180 25 13 sgmEn] 13 HiR
KNSR LRI 180 5 14 1 146216 |29 [/NE—TH[16 F2 [ 1.25
KEINRERELF 183 25 2 H 347 JHiRk
KEINSFHREAT|183 &3 Eih 10205 (219 |16 |[/MNR—TH |11 & 6 Eih 102.17
KNSR EHELF 183 256 3 806|154 |9 [/MREETHN7T &HE?2 [Fi 7.86
KFINEEHEIF 184 F 1 2] 951 (219 |15 [/MNR—TH |11 &5 [FEih 246.55 [ &6
KEINRERELF 184 25 2 H 337 JHR
KE/INRFERET 184 25 4 H 240 (219 |15 [/MR—THI[11 5 |Eih 246.55 (&
AFNRFRIAT[184 &S Eih 19721 (219 |13 PIMR—TH |11 #H3 [Ei 190.58
KF/INRFHELI T |184 &6 Eih 111.87 219 |12 /MNR—TH |11 &F 2 |Eih 11.77
KENSFHEIF 184 F 7 ) 3434[219 [14 [/MR—TH[11 FH4 [T 34.32
AFE/NRFFHEIITF 184 &8 H 25 1219 |15 [/MR—TH |11 #FHES5 |Eih 246.55 | &6t
KEINRERELF 187 23 H 4.98 JH
FINRFHE T [188 F 1 H 530 (219 |11 /"MR—TH |11 &1 Eith 2,880.03 [& 8t
=INREHEL T 188 2 2 A 109 JHIR
KE/NRFHET 188 2 3 N R JH iR

19




EEH/INRMX FR 2849 A

| B 37 3h 2 ot R 2%
[E| " T4
3 BE e [ mE | O B g RE [ BE | BE | e
KPR EHELF 189 25 2 H 236 JH i
KF/INRFHEEF|189 & 3 H 179 J219 |11 PMR—TH|11 FH1 |[EH# [288003 |56
KE/INRFHET[190 &1 H 752 (219 [11 PMVR—TH |11 1 |E# [288003 |56
=INREHEL T [190 25 2 2] 60 SHIR
KENREHEF 191 & H 823 1219 (11 D/MVR—TH 11 &1 |Fih [2880.03 [5f
NSRBI 192 251 1 627 (219 [11 [/ME—TH[11 &1 £ih 2,880.03 [& 8t
KEINRERHEF 192 2 2 JKERER 76 JH B
FINSERET 192 &3 srmEn] 92 HIR
KE/INRFERIT (193 &1 198 (219 29 ["hgE—TH |11 %28 |H 146
FINSERET|193 &2 SgmE%[ 330 HIR
KENRFHREAT[193 &3 Eih 102.65 1218 |32 |/MNE—TH |12 FH S5 |FEih 103.93
NS ERELF 193 3 4 ARAE%[ 089 HIR
KEPNREREATF 193 &5 =i 11583 1218 |31 [/MNR—TH[12 ZF4 |EHb 116.04
FINRFTHEIT[193 &6 £t 10034 [218 |30 |[/MR—TH |12 #F3 [Ein 100.52
FINREREF|193 &7 Eih 12248 1218 129 [/MNE—TH |12 FH 2 |Fih 123.35
FINEFHET 194 & 1 N JH B
FINSERET 194 % 2 sgmEn] 661 IR
FINRFREF|194 &3 SRAER| 93 JH
AF/NRFRHIIT[194 F4 Eith 116.88 1218 |17 [/NR—TH [12 # 35 [Eih 117.57
FINRFHEI T [194 255 Eih 11802 (218 |18 |[/MNR—TH |12 3 36 [Eih 118.79
FINERFFHEIT[194 F6 Eih 112801218 |19 [/MNR—TH |12 #H 37 |Eih 111.76
KFE/INRFRE T 194 & 7 Eih 111.83 1218 |20 |/MNR—TH |12 #F 38 |Eih 111.87
RKENEFFETF [194 TS Eih 105.56 1218 |21 |/MNR—TH |12 #F 39 |Fih 105.81
FINSFRE T [194 29 Eih 106.99 [218 122 [/MNR—TH [12 & 40 [Eih 107.48
FINEEHEL T [194 % 10 Eih 114401218 |38 [/MNR—TH[12 ZF 11 |Eih 114.39
KFE/INRFHEIT 194 & 11 Eih 11210 (218 127 [/MNR—TH [12 % 43 |[Eih 112.71
EINREREIF 194 35 12 E3T 1.92 SHIR
=INE=HEL R 194 % 14 E3 12434 (217 |13 "MNR—TH |13 #F 28 |=ih 124.94
FINEFREIT (194 & 15 Eih 10952 (217 |15 |["MRE—TH |13 & 1 Eith 109.18
KFE/INRFHEAT 194 & 16 Eih 10598 [218 |16 [/MNR—TH [12 & 34 |[Eih 106.46
FINEEREI T 194 & 17 Eih 10541 (218 |15 [/IR—TH |12 33 [Eih 105.51
FINRFFHET [194 & 18 Eih 108071218 |14 [/MNR—TH [12 F 32 |Fih 108.58
FINEEHEL T 194 & 19 Eih 15327 (218 |13 [/INR—TH |12 Z 31 [Eih 153.83
KF/INRFHEITF 195 & 3 ngmEE] 79 JHi
ZINREFHEET 195 & 4 J 36 JHB
FINRFERET[196 &2 nREEE| 26 JHi
FINRFEREF 197 22 AREES] 16 JHR
KEINSRFHEIR[198 1 H 526 JHIR
FINRFEHEIT[198 2 2 srmEs] 330 JH R
=INSEHELF 198 & 3 H 3.30 JHIR
EINRERELF 198 3 4 ) 4.04 SHIR
KEINSFREAT|198 &5 Eih 12713 [176 A4 |"MRZTH |12 & 1 Eith 127.07
FINRFREIT[198 & 6 Eih 115741218 |34 [/MNR—TH[12 ZF7 |EiHs 115.37
=INSEHAELF 198 & 7 Eih 1.69 JHIR
FINRFHREIT[198 &8 Eih 111611218 |42 [/MNR—TH[12 ZF 15 |FEiHs 111.90
KE/INEFHEIF[198 %O Eih 1.71 JHIR
=/NE=HEL T 198 Z 10 Eih 10471 (218 |36 |"MNRE—TH |12 &9 |Eih 104.80
FINEFHELT 198 & 11 Eih 3.60 JH i
FINSERET 199 & 2 sgmEn] 29 iR
KENREHELF 199 2 3 H 76 JH R
=EINRERELF 199 3 4 A 66 JHIR
FINRFFRELTF [200 & 1 H 661 (208 [16 [/NR=TH|1 FE i1 |Eih 196.46 | 5> Z
FINRFIFEAT [200 & 1 H 661 208 |15 [/NR=TH|1 # 27 |Eih 386.60 [ I
KEINEFHEIF 200 % 2 H 46 JHIR
=INRERELF 201 251 H 58 |144 |20 |/NREOTHE |3 & 21 |EHh 31.09
KEINSEFHEIF 201 % 2 H 79 JHIR
=INREHELF 201 23 2] 181 SHIR
XEINRFHEF 201 &4 iEth | 170 (207 |5 |/NR=THI|20 ZF4 [HiEth | 156
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FINREFREIF 201 &5 MiEH | 231 SHIR
FINRFHET 201 &6 MEREM | 29 Hik
=INREREIF (201 &7 H 367 SHIR
FINRFIEAT [201 %8 HiEH | 30 R
=NSEHELF 202 3 1 H 204 (159 [14 |/NRPETH [14  F 10 [4A 774 | &H
=INS R 202 3 2 H 125 [159 [14 [/MRPATH [14  #F 10 |48 774 | &6
=N FFELF 203 & 1 H 89 159 (26 |/MNRPATH |14 #F9 |H 62
=/NREFELF 203 & 2 H 721193 [6 [MNR=THI[31 &3 [EHh 52.21
FINRERET [203 &3 H 227 1193 |12 [/MR=THI[S1 H4 [Fih 165.25
FINRFFHELF (203 2 4 H 6701194 118 [/MNR=TH [30 F 17 |Fib 4.89
=INREREIF 204 & I 261 (196 B[14 [/NR=THI[29 5 [ 134 |53
=INEEHELF 204 & P 261|159 (22 [/NRPTH[14 &7 |48 58 |9
FINEERELTF 205 & ] 125 (168 |12 [/MRZTH |3 #HF5 |EMh 69.98
FINRFFHET [206 & 1 Eih 26400 [208 [17 ["NER=TH[ #F2 [=th 238.88
KEINREHELF 206 2 2 1A 79 JH i
KEINREHELF 207 351 H 115 208 |18 MNR=ETH[1T FE7I |Eis 11271 | 56
KNS FHEIF (207 2 H 23 JH
KFE/PNRERETF [207 &3 H 146 1208 |34 [/MNR=TH[1 ZF6 |EHs 140.68
KF/NRFIE T [207 &4 H 31 1208 35 PNR=THI[1 %5 |Eis 1217 | 5 6F
KE/INRFHEETF (208 2 1 10 85 208 [35 [/NR=TH[1 &5 |Eih 11217 (S8
XFE/INRFERHEETF |208 & 2 ] 146 (208 [36 |'MNR=TH |1 F R ES 141.05
KF/INRFHET |208 & 3 1H 117 208 [37 ["NR=TH[ F3 [Ei 112.45
KF/NRFRHIAT[209 F 1 H 162 1208 |19 [MNR=TH[H Fs [Ei 160.03
KEINEFHEIF 209 % 2 H 29 JH IR
KFE/NRFFHEAT |200 % 3 Eih 7913 (208 20 /NR=TH[1 E9 [=i 225.16 | &6
KFE/NRFRIT [210 &K1 Eih 12900 (208 |21 [/MNR=TH[1 F 10 [Eib 135.46
KF/INRFRET [210 2 2 srmEs| 13 JH R
KEINEFHEIF (210 %3 1 79 JHIiR
KF/INSRFEHETF 210 & 4 Eih 158.07 (208 |20 |['MR=TH |1 E9 [Ei# 225.16 [ &6
KEINSFRHEI R [211 1 H 9931160 |16 [/NRPTHI[1 %9 |H 9.43
RENREFHE T (211 52 H 3 (217 |2 [/MR—TH[13 # 15 |FEiHh 30.63
KEINSRFRHEIF (211 &3 H 50 (218 |3 |'MNRER-—TH 12 F 21 |Ei 55.03
KF/NRFRIAT[212 F H 499 (208 |7 |/DMR=TH |1 #H22 [EHh 397.15
KENREREIT (213 & H 228 [160 |18 |/MNRPATH |1 & 11 |H 36 |73l
KEPNRFERETF 213 & H 228 [159 |16 [/MRPATH [14 # 14 |H 133 [53l
KEINS LB 214 351 I 287 208 |4 [WR=TH[ 14 [Eih 176.19 | &l
KENRZHEIF (214 51 I 287 [160 |17 [/hWREETH [ # 10 |tH 45 |HE
KEINSEHELF 214 35 2 | 101 [208 [6 [/DRZ=TH |1 E21 |EH 221.32 | &
KE/INREHET 214 &3 H 59 208 [27 [/MR=TH[1 & 12 |=ih 132.16 S
KAENRFHET [215 & 1 P 181 208 [5 [/MR=TH[1 13 [EHh 604.05 | & fF
KENEFRET 215 &2 B 93 1208 |6 [WR=TH[ #F21 |Ei#h 22732 | &85
KFINSFERHELF 215 &3 H 54 (208 [27 /NR=TH[N #F 12 [Eih 132.16 | 5 4F
KEINRFHEIF (216 251 1@ 307 (208 [5 |MR=TH|1 F13 |Eih 604.05 [ & 5
KE/INRERET (216 2 2 AREER| 39 JH R
KEINRERELF 216 253 J 125 JHR
KFINEEHEIF (217 E1 +H 215|208 |25 [/NR=TH[ 17 |Eih 342,01 | &
KEINRERETF 217 &2 srmEsE] 991 JH ik
KEINSRFHEIF 217 &3 P 23 JHIR
AFINRFERFIT (217 &4 P 154|208 [25 [/INR=TH|1 FE17 |E 34201 (56
KEINSEFREIF (217 K5 P 13 JH i
KEINRERELF 217 56 sgmEn] 18 HiR
KE/NRFRET 217 &7 Eih 16688 (208 |1 [/INR=TH|1 ZF 18 [Eis 161.70
KFE/INRFRHEAT 217 &8 i 168 [208 [2 [/NR=TH |1 19 |=EH 142.01
KEINSEFHEIF (217 &0 P 11 JH i
KEINRERELF 217 2510 sgmEn] 12 HiR
FINSFERE T (218 &1 I 160 1205 |5 [/MNR=TH 22 F 1 Eih 126.96
FINRFRET (218 &2 Eih 19843[205 |6 [/MNR=TH[22 FH 171 [=Ei 160.79
KFINBFHEIF 218 E3 1@ 108 168 |5 [MR-THI[3 #F24 |Fih 78.46
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B3 BE mE [ EE | X (B e BE | BE | WE | =
FINRFHRIAT(218 FE4 I 226 (204 |21 |/MNR=ETHI|21 &FES Eith 182.01
FINEFEREIT [218 &S [ 241 J205 |7 [/hMR=THI([22 &3 [/A 190
=N FFHEIF 218 &6 e 157 [205 |15 MMNR=THI22 ZF2 [ 124
FINRERET (219 &1 I 231|208 |5 [WR=THIN & 13 [Eih 604.05 | &4
FINRFREAT[219 &2 =] 99 (208 |6 INR=ETH N & 21 |=Eih 22732 | &
FINEFEREIT [219 &3 H 58 208 [27 ['"NR=THI[N xE 12 |Eih 132.16 | &
FINRFREFT (220 FE 1 H 423 (160 19 |/MNRIETHE [1 #12 |H 3.30
=INREHBLF 220 2 2 H 51 [197 Al10 /NR=TH 26 #E4 [ 39.18
FINRFFHFEITF [220 &3 H 386 [208 |8 |/NR=TH |1 E 23 [Eih 307.72
FINRFFHEIT [220 FE 4 H 13 218 |4 INE—TH 12 FE 22 |[Eih 10.49
FINRFREIT 221 F 1 H 138|193 [5 ['"DNR=THI[31 FE 21 |Eih 100.46
NS EREL T 221 & 2 I 56 |196 B[15 [/NR=THI[29 %6 |Eih 100.75 [& 6
FINRFFHFEITF [221 &3 *H 80 [196B[15 [/"NR=THI[29 &HEe6 |EH 100.75 | &
FINEFRET [221 T4 H 138|193 [10 ["MR=TH[31 & 1 Eih 100.55

KFENEFEFIAT (221 &S H 151 [193 |11 /NR=TH 31 &E 2 Eith 110.10
KEINEFEHEF 221 &6 1 69 [196B[18 [/NR=THI([29 %7 |Eih 51.63
KENRFRHAT (221 &E7 Je 50 |196B[19 [/NR=THI([29 Fs [Eih 37.68
KENREHEIF (222 &1 P 248 [159 |20 |/MRPITH [14 # 6 |4 174
KFENEFEFIAT (222 FE2 JG 140 [196 Bl16 |["NR=TH [29 & 12 |E# 104.01
KEINREHEIF 222 23 1 110|196 B[20 [/MNR=TH[29 F 10 [Eih 81.83
KENEFRET (222 F4 Je 711196 BJ21 /MNRE=TH[29 FE9 |=ih 52.55
KFEINRFRET |222 &5 1H 151|196 B[22 [/NR=TH[29 F 11 [=EH 112,17
AFINRFHET [223 F 1 H 665 JHR
AFNRFHFUT[224 F 1 H 347 1159 (14 [/MRUUTH [14  #F 10 |4A 774 | &6
KEINRERELF 224 25 2 J 19 159 |23 /MNRWETH |14 #F 13 [ 13
KEFEINRFRBEAT [225 F i 323 [159 |14 [/NEETH |14 & 10 [4A 774 | &
KFEINRFFREIT[226 & 1 H 247 212 |21 [/MNR—TH |18 & 17 |[=Eih 161.40
KEFEINRFHRIAT (226 FE2 H 247 [212 |29 [/"NR—TH |18 F 16 |[FEih 161.39
KFENRFFIAT|226 &3 £2] 106 212 |30 |"MNR—TH |18 & 15 |Eih 69.65
KFENRFHRET (227 &F A 218 1207 8 [/hNR=TH |20 &1 A 693 |&f#
KFE/INRFHEIT (228 & H 119|207 |8 INER=TH |20 F 1 H 693 |&1#
RKENRFEFETF [229 T A 383 207 |8 [/MRER=THI[20 FH 1 [£2] 693 |&H
KEINRFHEIF 230 21 Eih 3601116 [22 [/"DNREAETH[31 FE 21 |£H 36.01
KFE/NRFRET [230 & 2 SRAER| 31 JH B
KENEFHFET 230 & 3 NemEn| 174 SR
RFENRFHEIT 230 F4 Eih 1567 (204 20 'NR=TH 21 F4 |[EH 100.96 | &6
KFENRFFHRETT (230 FES Eih 2828|204 (22 ["NRE=TH |21 #6 EHh 12361 | &4t
KEINSEFHEIF 230 X6 Eih 10002 (204 |18 [IMNR=TH |21 ZFH1 [Eis 130.69 [&
KFENRFFIAT[230 F 7 Eih 96.35 1204 [15 [/MNR=TH [21 29 |E# 101.05 | &6t
KEINSEFHEIF 230 &8 =i 11041 [204 [13 ['"NRE=TH[21 #H 27 |[=£H# 114.70 [ &4
KFENRFHREIT (230 F9 Eih 92511204 |12 ["NRE=THB |21 &7 EHh 112.29 | &4t
AF/NRFFHEIT[230 F 10 Eih 806 (204 |32 |[/MRZ=TH |21 #F 31 |EMh 801 | & pf
KEINEFHELT 230 Z 11 AR R 6.86 SHIR
AF/INRFHET |230 25 12 Ehh 0191204 [32 [/NR=TH |21 31 |Eih 801 |5 ff
KE/INREHET 230 2 13 Eith 092204 |12 [/MNR=TH |21 #&HF7 |E#h 11229 (&6t
KFENEFFEIAT 230 F 14 Eith 043204 |13 !MNR=TH [21 &FE 27 |E# 114.70 | &6t
KE/INREHETF 230 & 15 Eith 3731204 22 [MNRE=TH |21 #H6 |Eih 12361 [S5F
AF/NRFFEIIT[230 F 16 Eih 409 (204 |15 [/MRZ=TH |21 #F 29 |EMh 101.05 [ &6
KE/INREHET 230 K17 Eith 262 (204 |22 [/MNR=TH |21 #H6 |Eih 12361 (&6
KENRFEFEIT (230 F 18 =i 302204 |12 INR=ETH[21 FEF 7 Eih 112.29 | &6
KE/INREHET [230 & 19 Eith 1921204 [13 [/MNR=TH |21 #F 27 [Eis 11470 (&6t
AF/NRFFEIT[230 F 20 Eih 1391204 [13 [/MNR=TH [21 F 27 [E#s 114.70 | &6
KE/NMNRFFEIT [230 F 21 Eih 004204 |13 [/"MR=TH[21 F&27 [FEih 114.70 [ & 6F
AF/NRFFEIIT[230 F22 Eih 0211204 |13 [/MRZ=TH |21 #F 27 |E#h 114.70 | &6
KEINRFFHELF [230 & 23 =i 9465 (204 [11 [/MR=TH[21 F 26 [EHh 100.88 | &6t
FINRFFHIAT (230 FE 24 Eih 5881204 |11 [/NR=TH |21 ZFE26 |=Eih 100.88 | &6t
FINRFHEIT [230 F 25 Eih 10054 1207 |4 |/MR=TH |20 #HS5 |Eih 101.61
KENRFERIAT [230 & 26 Efh 3022 (204 [18 |[/NR=TH |21 FH 1 Eih 130.69 | &4t
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FINRERELF 231 & 1 Eih 14.00 204 12|/ H 121 #F7 [Eih 11229 (S8
=INRERELF 231 252 £ih 78.02 204 |20 |/ H[21 #4 |EiHh 100.96 | &
FINRFHET 231 &3 ARAEE| 0944 JH i
FINSRERET 231 X4 Eih 89.32 [204 |22 21 FEe6  [EH 12361 | &5 |
FINRFRELF [231 &5 =i 550 [204 20 [/ 21 F4 =i 100.96 | & fF
FINRFHREAT 231 %6 £ih 1.52 204 |20 |/ 21 &4 [=Hh 100.96 | &
FINEFFEIT (232 F 1 Ji 189 [204 [24 |/ 21 F 13 [Fih 14773
NS EREL T 232 & 2 1 211 (205 [18 | 22 #F 16 |[Eith 164.01
FINRFERETF 232 &3 1 213|205 |17 |/ 22 F 15 |[Ei 164.80
FINRFRET |232 & 4 1 217 {205 [16 |/ 22 F14 [Eih 168.10
FINRERET (232 &5 1\ 212 205 [4 |/ 22 FE13 [EHb 164.56
=INEEHEL T 233 & 1 A 383 [140 |4 |/ 2 &1 Y 255
FINRERET (233 &2 I 156|203 [16 [/ 19 Fb5 |Eih 115.53
=INREHEL T 233 2 3 I 169 [204 [8 |/ 21 #& 23 |[Eh 128.79 [ &
XEINRFHEF 233 & 4 e 152 [204 [30 21 &8 =t 124.65 [ 5 F
KEINS LB |234 351 I 27 _[204 |6 21 21 =i 147.64 | S 6
KNS FHEIF (234 &2 J 6.61 JH R
KEINREHELF 234 23 H 0.98 JH R
KNSR FREIF 234 & 4 J 1.36 JH R
KEINSFHEIF 234 %6 I 5.17 JHIR
KXFE/NRFFHIIT 234 &7 Eih 119.01 [204 |9 21 F‘24 |EHh 119.04
KNS EHELF 234 558 1 119 [204 |6 21 F 21 [Eih 147.64 | 56
KRENRFHET [235 & 1 J 218|204 [1 21 & #igh | 216 |&fH
KEFEINRFFHIAT (235 FE2 M 33 JHIR
KEINRFHEIF 235 & 3 J 5.80 JH R
KEINREHELF 235 &6 1 5.92 JH R
KEINRFERET (235 2 7 J 62 (204 |1 21 i [ 216 |56
KEFEINRFFHIAT[235 FES M 3.39 JHIR
KFE/INRFHEET |235 &9 1A 176|205 |1 22 Eih 151.14
KEINEFHELF 235 & 10 I 11 JHIR
KE/PNRFHELT [235 211 J 121|160 |15 1 X8 104 | &6
KEINSRFHEIF (235 25 12 1 2.35 JH
KENRFREIT [235 & 13 P 98 [204 1[4 21 Eih 108.11 [SHf
KEINREHELF (235 2 14 1A 9.02 JH iR
KEINRFHEAT 235 & 15 Eih 163.73 [204 |2 21 Eith 159.68
KFE/INRFHEAT 235 & 16 ANRFER 8.64 JHiR
KEINRFHIAT 235 Z17 Eih 182.07 [204 |7 21 Eith 172.49
KFE/INRFHEAT 235 & 18 NRFER 8.46 JHiR
KE/INRFEHET 235 25 19 P 7.90 [160 |15 1 %8 |1 104 |56
KEINEFHELF |235 % 20 1 10 [204 |4 21 & 15 [E#n 108.11 &6
KEINREREL T 235 25 21 M 0.94 SHIR
KEINSRFHETF 235 & 22 i 61 205 [12 22 ®9 =i 52.33
KEINSRFHEIF 235 2 23 I 20 204 |31 21 F 17 [=Eis 16.11
KEINSELBLF 236 35 1 =i 76.19 [203 |21 19 %10 |=ih 109.64 | &
KEINRERELF 236 25 2 1 6.61 JHIR
KEINSFREAT 236 & 3 Eih 117.87 ]203 |1 19 F12 |Fih 118.24
KEINSRFHEIF 236 & 4 sgmEn 33 iR
KEINEFHEIF 236 X5 Ei 46.78 [203 |2 19 #F 13 |=ih 126.12 S8
KENEFHREAT 236 %6 Eh 102.14 |203 |22 19 FE11 |Eih 102.23
KENREREATF |236 & 7 sgmEE| 10 JH IR
KNSR EHEL T 236 258 1 15 JHIR
KEINSFHEIR 237 1 1 6.70 [203 |15 19 &F4 |£ih 183.37 | &
KEINRERELF 237 252 i 23 JHR
KEINEFHEIF 237 &3 £y 94.70 203 [14 19 &3 |=i#h 135.27 [S 8
KEINSRFHEIF 237 & 4 sgmEE] 754 iR
=INSEHEIF 237 &5 £ 12153 [203 |15 (19 &4 |=iHh 18337 [S 8
FINSFHET 237 6 Eih 3261 (203 |15 H[19 #4 |EiHh 18337 | &1}
KFINSFEREIF 237 &7 £ 64.03 [203 |15 19 F4 |Fih 183.37 | &8
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FINSRFREIF 237 258 Eih 29791203 |21 [/NR=TH[19 ZF 10 [E#s 109.64 | &
=INREHELF 237 59 I 3.22 JHIR
FINEERELF 237 & 10 A 9.95 JH iR
FINRFFHEIT 237 F 11 Eih 155501203 |20 [/NR=TH[19 FE9 |=Eih 154.08
FINRERETF [237 F12 Eih 12004 (203 |18 |MNR=TH |19 &7 |Eih 121.04
=INRERELF 237 3513 1 10 SHIR
FINEERELT 237 & 14 1A 5.33 JH iR
=INEEHELF 237 & 15 Eh 9.43 SHIR
FINEEREIT 237 & 16 Eih 2.50 JH iR
=INRERELF 237 & 17 Eh 4.27 SHIR
FINREFHETF (238 F 1 Eih 114.11 207 [1 INR=THI[20 F6 |E# 114.31
FINEFHET |238 &2 Eith 38661203 |14 ["MR=TH |19 &3 |Eih 13527 [S 6
=INRERELF 238 &3 i 23 JHIR
FINRFERET |238 2 4 H 9.91 JHk
XF/INRFEREAT [238 &5 AR BER 5.29 IR
KFE/NRFHET 238 &6 SRAER| 54 JH i
KF/NRFHELT [238 Z 7 H 37 1204 10 P[NRZ=TH [21 % 25 |3i&Hh 37
KEINEFHEIF 238 %8 H 9.76 JHIR
AF/DRFHFEIF [238 F9 Eih 136711203 |12 [/NR=TH[19 #H1 [Eih 137.58
KF/NRFFHET 238 Z 10 sgmEn] 13 JH
AF/DRFFHFEIF (238 F 11 Eih 125521203 |13 [/NR=TH[19 #H2 [Eih 125.61
KFE/INRFHEAT 238 & 12 ANRFER 8.13 JHiR
KE/INRFEHET (238 2 13 N 1.50 IR
KNS EHELF 239 & H 214 (207 (8 P/MR=THI20 F*1 |H 693 |&6t
KEINRFHEF [240 21 H 406 (76 (2 /MRIAN\THI|2 Fi14 |H 266
KEINSFHELF 240 & 4 H 3.30 JHIR
KE/INSEFHEITF 240 &5 I 209 |196 A8 [/MNR=TH |28 1 |4 147
KEFEINRFHIAT [240 6 M 69 JHIR
KEINBRZHEIF (240 3 7 P 34 JHB
KEINSRFHEIF 240 %8 H 454 JHIR
KEINBZHEIF (240 9 J 167 JHB
KE/INREHELT [240 2 10 1 22 JH B
AEINRZHELF (240 5 11 P 11 HiB
KENRERETF |240 2 12 P 11 [134 |14 PMRETH|20 F 19 |Ei 71.98
AE/INRFEHET [240 2 13 H 130 [193 [8 |IR=THI31 FE6 |Ei 85.60
KEINEFHELF 240 & 14 H 311 {196 Al7 [NR=THI28 #8 [H 2.26
KFENRFRUT [241 F H 376|203 |10 [/MNR=TH[19 # 21 |H 208 |56
KE/INRERET [242 & H 76203 [10 /MNR=TH |19 # 21 |[H 298 |&aft
KF/NRFFHITF [243 FE H 223 (201 |11 |[/DR=TH 17 #1171 [EH# 199.16
KEINSRFRHEIF 243 & 2 H 10 JHIR
KEINR =B 244 51 sRmEn| 844 JH iR
KE/INRFRET [244 2 2 sgAEE[ 919 JH i
KEINREREL T |244 25 3 =ih 11514 (203 |8 [/MR=TH[19 F 19 [Eth 116.15
KE/INRFRIT [244 2 4 agmEE| 10 JH i
RFINRFFEIT 244 &S Eih 14604 [203 |7 [/"NR=TH[19 FE 18 [=Eih 146.64
K=INR=HBIF 244 6 3 78.42 (203 |2 [/NR=TH[19 FH 13 [Eih 126.12 [ &4
KEINR=HEIF 244 3 7 ) 142051203 |3 [/NR=TH[19 & 14 |[=ih 141.52
KFINRFRELT |244 58 Eih 12401203 |4 |/MR=TH |19 F 15 |Eih 125.00
KEINREREL T |244 259 AREEH| 15 JH ik
KEINR=HBIF 244 & 10 ARBEE| 160 JH R
KEINEFHELT 244 11 Eith 14191203 |5 [/IR=TH[19 FH 16 [FEib 116.12 (&6t
KFINRFRET |244 2512 Ehh 11341203 |6 [MR=TH[19 17 |Eih 142.75 | 5
KFINREFBI R 244 & 13 =it 10158[203 |5 [/MNR=TH[19 & 16 |=ih 116.12 | 5 6
KE/INRFRET [244 ZE 14 Eih 13107 (203 |6 [/NR=TH[19 F 17 [Eib 14275 [S 8
KEFINRERELF |244 25 15 3 4.36 JHIR
FINRFERET |244 25 16 EST) 4.62 JH B
NS ERELF 244 17 E3 4.36 SHIR
KEPNREREATF 245 &1 sgmEn| 52 IR
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FINRERET (245 &2 ngmEE| 51 JHiR
FINRFEREIT 245 &3 Eh 10386 1202 |5 [/MNR=TH |18 &1 Eih 101.91
FINEFHEIT 245 E 4 AgmEE| 31 JH iR
FINRFTRELT [245 &5 Eih 102931201 |14 [/MNR=TH [17 F 3 |Eih 103.00
FINRERET (245 &6 £ 10470 (201 13 [/MNR=TH[17 FHE?2 |[EH# 104.26
FINSFHET |245 & 7 Eith 594 (201 |4 |/NR=TH |17 &9 |Eih 10099 [ & fF
FINRERET (245 &8 £ 10353 (201 |7 [/MNR=TH[17 #H6 |[EH 103.36
FINRFTREIT [245 &9 Eih 10278 |201 |8 [/MNR=TH[17 F5 |Eib 103.26
FINRERELTF [245 & 10 Eih 119.32 {201 |10 MNR=THB |17 #F 4 |Eih 120.02
=INREHEL T 246 25 1 HiEHh 15 SHIR
FINRERET (246 &2 £ 11748202 |1 [/MNR=TH[18 #FH6 |[EH 118.22
FINRFTHREIT [246 & 3 Eih 10216 1202 |6 [/MNR=TH[18 F4 |Eih 102.74
FINRFRELT |246 & 4 SRAER| 34 JH R
FINRFERFELT |246 25 srmER| 21 HiRk

KEINRFRHIAT |246 & 7 £ 10989 (202 12 [/MNR=TH[18 #H3I |[EH 111.73
KNS EHBLF |246 258 £ih 106.39 1202 |3 [/NR=TH[18 %2 [Eih 108.47 | &6
KNS FHEIF [246 59 J 1.99 JH R
KFE/NRFHET 246 Z 10 sgmEn] 11 JH B
KFENREHEATF 246 & 11 semEs| 129 SHiR
KEINSFHELF 246 25 12 Eih 46451201 |1 [MNR=TH[17 F 14 [Ei 101.37 | &6F |
KFEINREHEETF |246 & 13 =i 86451201 |2 [/NR=TH[17 #F 12 |Eih 100.74 | & #f
KFINREHELF 246 25 14 ) 100411201 |3 [/NR=TH[17 10 |Eib 10047
KEINRFHEITF 246 2 15 Eih 9456 (201 |4 [/NR=TH |17 %9 |Eih 10099 [&
KE/INREHELT 246 2 16 ] 2.00 JH
KE/INRFERIT [246 K17 Eih 186202 [3 [/MNR=TH[18 F2 [FEh 10847 [& 8
KE/INREHELT 246 2 18 ) 8.50 JH
KEINRERELF 247 251 =ih 5230 (201 [1  [/MR=TH [17 & 14 |Eth 101.37 | &6
KEINSEFREIF 247 & 2 Eih 15008 [200 A4 [/"NR=TH[16 F3 [=Ei 150.10
KEINSRFHEIF 247 &3 Eih 11447 178 A7 [/MNRZTH[7T #H8 |Eis 114.69
KEINSRFHET [247 & 4 N R JH B
KEINSR=HEIF 247 &5 sxmEs| 577 JHR
KEINSRFRHEIF 247 &6 e 14241201 2 [/NR=TH[17 FE12 |Eih 100.74 (&6
KEINREHELF |248 25 1 ARMEH| 125 JH R
KEINREHELT 248 2 2 HigHh 19 JH iR
KE/NSFHELF 248 E 3 T 10081 [196 B[7  [/MR=TH [29 #F 19 [Eth 101.06
KEINSFHEIF 248 5 4 Eih 11051 [200 A3 [/DNR=TH[16 H1 [=Ei 110.57
KE/NSRFFHEIF 248 &5 Eih 10551 1200 B|7  [/MR=TH [15 #F 3 |Eib 105.34
KFINSFHELF 248 &6 Eih 10046 [200 A7 ['NR=TH |16 &4 |Eih 100.34
KFEINREREET |248 & 7 Eih 9077|200 B|1  [/MR=TH [15 #H8 |Eib 100.13 | & F
KEINSFHEIF 248 %8 S 680|196 Al1  [/NE=THI([28 &H7 [FEi 102.07 [ &4
KEINRERELF 248 259 sxmEsE] 911 JH iR
KE/INEFHELF 248 & 10 g 5.10 JHIR
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=INSEHAELF 253 % 4 H 643 JHIR
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= NSRBI (256 %8 = 943|200 B[1  ['NR=TH[15 FH8 [Ei 100.13 | &
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KE/INRFERET [256 25 18 sgmEn] 931 IR
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K /N o MBAE [259 & 5 Ei 3728 [197 Al9 |["MR=TH 26 %2 [Eih 17801 [S8F
KNSR E B 260 2 1@ 628 (182 (7 |/NR=THI[10 # 22 [/ 451
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KE/NR AR 272 & 1 1209 73 |6 [MMNRATH|1 # 36 |Eih [1,286.26 [&f
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NS EMEAE 277 & I 1110|193 [2 PMNRZ=TH |31 & 15 |/H 779

FINRFHBAR 278 F 1 p 205|193 |13 PINVRZ=TH |31 #H 14 |EHh 132.26

FINRFHEAE [278 &2 P 205 (193 [1 [/MR=THI([31 %13 |Eih 132.70
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KF/NRFHBAE [283 &5 J 201 (194 [17 [/MR=TH[30 # 12 |Eih 132.69
K=/ AEA R 283 &6 1@ 170_[194 |3 |/MR=TH |30 F 13 |Eih 112.36
KF/NREHER R [284 & 1@ 2185 [159 [27 [/MRUUTH |14 #F3 [/ 125 |5&
KF/NRFABAE [284 & I 2185 |46 |2 [INRETHI[16 &S5 |4 1270 |7 &
KF/NREFHEAER (284 & I 2185 145 (23 [/MRETH[18 #FH2 |4 134 |5&
AF/NRFHBAR (285 1 P 79 1219 [5 PMNR—TH |11 # 23 |EH 73.00
KNSR E B R 285 2 2 ARFEES| 56 JH R
KF/INRF#hER 5 (285 & 3 i 19 HiB
KF /R B [285 2 4 J 939 (45 |19 [/MRETH([18 #HF3 |4 855
AF/INRFHBAR (285 &5 P 1059 (194 |9 |/MR=TH 30 #4 |/ 845
K=/ R = 7HEA R [286 25 1 I 677 [159 [13 |/MRPUTH [14 #F 4 |4 0 |7E
RF/NRFHBAR (286 F 1 X 677|112 |4 |MRATHI[3S F 18 |4 195 |93
KNSR E B R 286 25 1 I 677 (46 [6 |[NRETH16 FHFE4 [/ 309 |HE
AF/NRFEEAE [286 F 2 ARAER| 16 JH B
KNS AR 286 2 3 J 36 HiB
AF/NRFHBAR (287 1 P 684 [159 [10 [/NRPUTH [14 FHF 26 |Eih 561.02
KE /R EFHEAE (287 2 2 AREEH| 16 JH iR
KF/INRFHERH [287 &3 i 49 Hifl
KNSR E B R 288 25 1 I 548 1159 (7 [I/NRIEMTH 14 #F 1 |4A 8471 |&ff
K /N o B (288 2 2 Ei 7933|159 |12 [/NRPUTH [14 # 23 [E# | 1.139.23 |G
K /N5 F B S (288 % 3 sgmEn] 661 iR
KF/INRFHBAH [288 4 i 69 Hifl
P EDCES T EARTER 1 485|159 |7 [NREETH[14 #E1 |1 847 |5t
AF/DRFHEE [289 & 2 AR FAEH 9.91 JHIR
KE/NR = AEA R [289 3 3 J 33 JHiRk
RF/INRFHEAE (290 F 1 P 441|166 |2 [/MRZTHI[4 FEO Eih 213.15 |9 E|
KIS E B R 290 25 1 I 441 1208 |23 [/MNR=TH[1 FH 15 [Eih 12437 (3
AF/NRFHBAR (290 #H 1 P 441 208 [24 [NRETH[1 #F 16 |Eih 19.94 [ F
ARF/INRFHBAR (290 2 2 sgmEn 23 HiR
AF/INRFHBAR (290 % 3 4 100 208 [3 |MR=TH|1 F20 |Ei 85.60
KNSR E B | 290 3 4 1@ 190 (208 |9 |/NRE=TH |1 #FH24 |3iEH | 167

F/NRFHEAE [290 &5 I 116 (208 126 [/MR=TH |1 #F 25 |[FEih 102.47

=N R B R 291 25 1 I 330 204 [16 [/MNR=TH[21 30 [/ 289
KF/INRFHEARE 291 &2 i 337 [159 [18 [/NRPUTH [14 Z 16 |4H 283
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KFE/NEFHHBAE 294 &1 JG 595 [159 |8 INRIOTH |14 F 24 |Eih 488.13
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KT /NR T B [295 & 2 KEEB | 39 HiR
KNS EBAE 295 3 3 TKERER 89 JHIR
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KNS EBAE 295 35 5 TKERER 72 JHIR
KF/NRFEEE [295 F6 Eih 7051218 [9 P[MNR—TH |12 27 |FEi 174.15 | &6
RF/INRFHBAE (295 &7 TKERER 12 JHiR
KE/NRFHBAE[295 &8 Eih 8.49 [218 |7 INRE—TH 12 FE 25 [Eib 148.00 | &4t
KNS EBA R 295 25 0 =ih 1771218 |5 [/MMNR—TH[12 ZF 23 [Eis 179.53 &8
KFE/NRFHEAE [295 F 10 *H 145 1158 (3 |/DMRMIETH[13 FEF 21 |Eih 100.90
RF/NRFHBAE (295 & 11 Y 145 158 [30 [/NREUTH [13 F2 [E# 100.93
KE/NRFHBAE [295 & 12 1A 1482 159 [6  [/MNRIUTH [14 #F 22 |4H 1,030
K /NR FrHBA R [295 & 13 1 100 (166 |8 |/MNR-TH |4 #F5 |Eih 63.66
RFINRFHBAE [296 A 1434 160 |3 [/IMRETH |1 F 20 |Eih 978.45
KF/INRFrRAAE [297 F 1 *H 268 [160 |2 [/hERETH [ % 18 |/ 172
KFINRFHBAE (297 &2 1 269 [160 30 [/NREETHE |1 19 /@ 173
P ENCES AR s 887(158 |13 |/MNREPUTH [13 #FH 22 [Eih 6.74
RF/INRFHBAE (298 & 2 LU AR 1223|159 |17 [/NREETH [14  F 15 |HfEh [ 703
KF /|5 FrHBAE | 298 & 3 L&k 140 |158 [4 [/MREUTH [13 & 23 |E#h 107.56
RF/INRFHBAE (298 F4 I 140 [158 [14 [/NREIUTH [13 F 24 [E#h 107.56
KFE/NRFHBAE (298 &S L&k 140 158 [15 [/"DNRETH[13 FE 25 |Eih 107.72
KF/INRFHBAE (298 &6 LIk 140 158 [16 /MR TH[13 F 26 |Eih 107.55
KE/NRFHBAE (298 F7 L&k 138|158 [17 ['"DNRETH[13 FH 27 |Eih 106.48
KF/NRFHAAE [298 &8 LIk 138|158 [18 |['NRMETH [13 #F 29 |Eih 106.48
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RFE/NRFMHAAE 298 F 10 L%k 140 [158 (28 |'NRMIETH[13 F 19 |Eih 107.55
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RFE/INRFHAAE [298 F 12 L%k 140 158 (26 |/NRMETH[13 FEF 17 |Eih 107.69
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KF/INEFHBAE (298 & 14 LAk 140 [158 24 |"NRPETH [13 & 15 |E# 107.41
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KE/NRFHBAE (298 F 17 L4k 138 [158 |19 |"MNRPTH [13 & 30 |FE#h 106.15
KE/NGFHBAE (298 & 18 Lk 138|158 (20 |'"MRETH[13 FHF 31 |Eih 106.02
KE/NRFHBAE[298 FE 19 L4k 138 [158 |22 |"NRPOTH [13 & 13 |E# 105.79
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FINRFHBAE 303 &6 1 163 [158 |7 [/MNREUTH[13 FE 11 [E#s 132.34
F/NRF#EEE (303 F7 i 163 [158 [8 [/hNERETH[13 F 12 [E# 132.49
= I/NRFHBAE [303 25 8 1A 162 [158 |9 |/NRETH[13 FE3I |Ei 132.18
FINRFHBAR [303 &9 p 162 158 [10 [/MRPATH [13 #FH 4 [Eih 132.23
FINRFHEAE [303 F 10 1 157 [158 11 hNERmTHE[3 HF5 [E# 128.11

KN AEA R 303 5 11 I 2461158 [12 [/NRPEOTH |13 &8 [Eih 2.00
K=/ AHBA R 304 3 1 1@ 1221 157 |1 [/INRPATH (12 #F 13 |4H 956
KF/INRFHBAE [304 &2 p 330 158 |5 |/MNRPATH |13 #H6 |Eih 256.27
RF/INRFHBAE (304 &3 i 2.78 JHIE
KE/NZFHBAE [304 T4 *H 191|157 [14 [/DMRIETH[12 FF 12 |Eih 149.60
RFE/NMNRFHBAR (304 &S *H 170 [157 [13 [/MRETH 12 FE 14 |Eih 133.60
RFENMNRFFHE 305 &1 1 1066 159 [5 [/NREATH [14 21 [4H 630 |HE
KEINRFHE 305 1 1 1066 159 |9 [/NRPUTH [14 25 |Eih 69.21 | &
RFENMNRFFHE (305 &1 1 1,066 |47 8 |MNRETHI15 F21 |/H 156 |5 E
KEFEINRFFE [305 F:2 E R 59 JHiR
KF/INRFFHE 305 F3 i 109 (212 |20 '"NR—TH |18 ZF 14 |Ei#s 91.74
KEINSFHE 305 &4 1 37 212 |31 [MNR—TH |18 #H 13 |EHh 31.25
KF/INRFFHE 306 &F 1 1 732 [160 [10 [/MNRIETH |1 %3 pui 17 |22
KE/INRFHE  [306 1 1 732|154 (3 |/MNREOTH |17 #F9 |4 270|578l
RFENMNRFFE 306 &1 '+ 732 [47 9 |NRETH[15 & 22 |/ 309 |HE
KENRFFH [306 F2 & 245 [154 |4 [/MNEWTH[17 FE 1 Ji 410 | &
RFENMNRFFE (306 &3 i 39 [154 |4 |MRETH 17 &I H 410 | &6
AKFENMNRFEFE [306 F4 A 10 [154 |4 [PMNREWETH[17 FE 1 1A 410 |B6
RFENMNRFFE [306 &S i 240 154 |4 [hEETH[7 &1 H 410 | &6
AFNRFFHER (307 & X 3183 (168 |15 [/NR-THI3 ZF1 [/H 115 |93
KFINRFFE 307 F '+ 3183 [156 |9 [/hEWMTH[5 &1 H 128 |HE
KENRFEFH [307 & & 3183 [155 |1 INEPUTH |16 73 1A 507 |HE
KFINRFFE 307 F '+ 3183 |154 |8 [/NEmTH[7 ZFHF3 [/E 566 | E
RKFENRFFE 307 F A 3183 [154 (2 |!NEWMTH[17 FS 1 892 [HE
RFENMNRFFE [308 & P 714|155 [3 [/NREETH |16 F 2 |4H 454
AF/NRFFER  [309 Fi Eih 277185 [155 [2  [/DRPUTH [16 & 1 Eith 2,137.43
RFENMNRFFE (309 &2 Eih 48434 [155 (4 [/MNRIEUTH[16 &4 [Eih 373.34
RFNRFFHE 310 F1 X 872 1156 |2 [/NREETH |15 &7 |4 592 | E]
AFINRFFHER (310 F 1 P 872|156 |3 |/MNRITH[15 #F8 | 15 [9HE
KFENRFFE [310 &2 P 671|156 [6 [/MRPUTH |15 F2 |4 540
AFIMRFFHE [310 &3 J 109 SHIl
KRENMNRFEFE [311 F H 2770 [161 |1 INRZTH 17T &HF7 G 1,069 |HZE|
ARF/PMRFFE [311 F M 2770 [161 |2 [/hgE=THB[17 &FEs [ 1016 |5 Z
AFINRFFHER [311 F2 MiEth | 167 161 |13 [MNRZTH[17 FE 14 |EiHh 124.54
RFENMNRFFE [311 &F3 HiEHh 61 [161 [15 ["NRZTH[17 F 15 [E# 12892 | &
KENRFEFE [311 F4 MiEh 241161 |14 INRZTH[17 & 13 |MiEH 1.79
RFENMNRFFE 312 &1 I 1771|156 |1 [/MNRETH[15 F6 |4 1,421
KENRFEFH [312 F2 & 9209 [166 |[6 INRZTH [4 11 |[HH 651 | E|
RFENMNRFFE [312F2 M 909 (156 [4 [|/MNREETH 15 #E9  [HH 87 _|»El
RFINRFHE [312 &3 SH 201 SHiR
KENMNRFEFE [313 F1 1A 1232 [156 |8 [/MNRIETH |15 FH 4 Eih 823.78
FINRFFE [313FE?2 I 165 156 |10 [/NRETHB [15 &S5 Eith 110.51
FINRFFE (314 F A 608 [205 |13 ["NE=TH 22 #5 [ 170 |HE
RKFNRFFEZ 314 F pui| 608 199 12 /MNRARTH |7 &E 12 |/ 113 |22
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FINRFFER (314 B i 608 [77  [17 [/NRINTH|5 &3 |18 166 |21
FINEFHFE [315F1 D 1 |EH 32727199 [3 [IRATHI|[7T #F 1 [Eh [141357 [&6
FINRFFE [BI5F1 D 2 £ 49586 199 [3 [/NRANTHI[7T #FE 1 |E#  [141357 |6
FINRFEEZ 315 %1 D 3 | 495.86 [99 3 MRATH|T &1 Eih 141357 | &6
FINRFEHEEZ  [315 K2 Eih 16198[99 |3 P[IRATH|7 #FE1 |E#h |141357 [
FINRFFE 315 &S Eih 36.36 SHIR
FINRTFEEZ (316 &K1 ITE:S 203 154 |1 D/INREETH |17  FE 7 |MiEH [ 177
FINRFIE 316 52 1 297 (154 |6 [|/MNRETH 17 &S5 [E# 348.58 [ &8t
=INREHE 316 B3 JKEREL 13 JH iR
FINRFHE (316 Z4 KERER | 33 Hilk
FINRFEFZ 316 F5 IS 112_[99 |3 |"hgEARTH|7 &1 |Eth 141357 [H
=INREEE 316 K6 #k 79 IR
FINRFEFZ 316 B 7 1A 181 (99 |3 [/MNRATH|7T #F1 | 141357 [AH
ENEEE Y M RET I 132 HIR

AKFPNRFEFZ 316 B9 £ih 161.98 |154 |7 [/NRIITH [17 #6 [ 162.46
KFENRFEHE 316 510 1 158 154 (6 [/NRETH[17 &5 |&£ih 348.58 | S i
KF/INRFHFE 317 &1 LLI#K 108 JH iR
AFEINEFEE (317 &2 LLIAK 198 197 [8 [/MRATHI13 #H1 [EHh 175.62
KF/INRFHFHE 317 &3 LLI#K 204 JH R
KEINEFHE (317 B4 LLI#£ 8.99 JH R
KF/INRFFHE 317 &5 LLI#K 276 JH iR
KEINEFHE 317 X6 LLI#£ 8.28 JH R
AFDPRFFE [317F7 SRmER| 46 SHiR
KFEINRFEFE [317 &8 Eih 10012195 |4 [/MRATHI[9 F 11 |EHs 100.62
KFENRFEHE 317 &9 £ 7752(96 |17 [/MNRATHI[8 FHE1 |[EH 103.94 [ &6
KEINEFEHE 317 & 10 ITESS 79 JH B
KENR=HE (317 F 11 IS 14 JH R
KFINREEE 317 H12 EHb 2532196  [7 |/NRANTHI|8 FE1 |EM 103.94 [&6F |
AFNRFFE (317 F 14 Eih 10452195 |12 PNVRINTEH[9 &3 | 104.26 | & ff
AFNRFFE (317 & 15 Eih 1170695 |13 [/MRATHI[9 #H4 |Ei 117.33
AFDRFFE 317 F 16 Eith 13920 195 |14 [/MNRANTH |9 #HS5 [Eih 139.21
AFENRFEE [317 F17T e 110.20 [95 15 MRATHI]9 FEe |Eih 110.34
AFDRFFHE 317 F 18 Eith 10805195 |16 [/MNRATH |9 #H7 [=Eih 108.10
KFINEFFE (317 B 19 Eih 112.00 [95 1 MRATHI|9 F8 |Eih 109.67
KFINEFFE 317 & 20 Eih 110.20 |95 2 _|/DRATH9 FE9 |[EH# 110.41
KEINEFEHE 317 & 21 Eih 11020f95 |3 [/IMVRATHI9 Fi10 [Eib 110.09
KFINRFHE 317 522 srmEs| 23 JHiR
KNS EEE 317 23 =ih 074195 |12 [IRANTHI|9 F*E3I |Ei 104.26 | &
RFIMRFFHER 317 & 24 =it 1005195 |6 [/MRATH|[9 FH 13 [Eih 100.57
KFE/NRFFE 317 E25 Eih 10051 (95 17 [/MNRATHI[9 FH 14 |[Ei#h 100.60
RFMRFFHE (317 F 26 =it 1005195 [8 [/MRATHI|[9 FH 15 [Eih 100.40
AXEINRFEHR (317 F27 Eih 1005195 19 PIRINTHI9 Fi16 [Eis 100.63
KEINRFHE  [317 & 28 Eih 100.47 [95 10 MMRATHI9 F1 =i 99.53
AFINRFHFHZ 317 & 29 £ih 10051195 |56 [/INRATHI|9 #F 12 [Eih 100.46
KENMNRFEFE [317 &30 Eih 134.12 [96 5 |[RATHI[8 &S5 |EH 135.31
AFDRFHFZ 317 % 31 £ih 13480196 |4 [/NRATHI8 &7 [Eih 135.41
AFENRFFE  [317 F32 Eih 11666196 |12 /NRINTEH([8 #H9 | 117.49
AXF/INRFHFHZ  |317 %33 £ih 10012196 |11 [/MNRANTH (8 #8 [Eih 100.08
ARF/INRFFER  |317 F 34 ) 10036 |96 |14 [/MNRATH (8 #H 11 [Eih 100.54
KFEINSFIFE 317 &35 Eih 116.70 [96 13 /MRATHI8  F10 |Eih 116.92
RFNRFFHE  [317 F36 Eith 10025196 |2 [/NRATHI[E #H 13 |Eis 10053
AXFINRFHFHZ 317 &37 £ih 10026 196 |1 [/NRANTH (8 & 12 [Eih 100.33
KENMNRFEFHE [317 &38 Eih 115.29 [96 6 |[/NRATHI[8 &4 |EH 115.81
KF/INRFIFE 317 & 39 LL#% 149 [97 20 'MNRATH[13 #FE2 [ 132.19
KEINRFHE (318 1 LLI#£ 3034 194 |1 [PMRANTHI[12 F 1 Uk 1,903 |5 E
FINREEHE 318 B IS 3034 |97 |7 PNRANTHN3 #FF 20 [IUM 630 |7E
FINRFFE 318 B2 LAk 224 197 3 P/MRNTH[13  # 16 |IL#K 195
KEINEFHE (318 X3 ITESS 195 JH iR
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FINRFEE 319 &1 ES 59.05 197 [16 [/NRANTH |13 #F 11 [Eih 128.99 (&6
EINREEE 310 K2 1 39 1185 |3 /MR=TH |11 #F 21 |IH 148 | &8
=NBEEE (319 K3 i@ 354 (98 [2 [/MRATHI[14 FE 11 [|iH 249
FINRFFE  [319 F4 Eih 314.51 |98 6 |/MRATH |14 FE 1 Eih 230.36
FINRFIFE (319 &S I 165 (99 16 |/MRATH|7T FE4 |Eih 159.61
=FINE=EE% 319 &6 1H 678 (98 [5 |/MRATH 14 FE 14 [=EH 497.02
FINRFEFE (319 F7T Eih 6649 97 |16 |/MRINTH |13 #F 11 |EMh 128.99 | &6t
FINRFFE 319 &8 IS 108 [97 |13 [/MRATH |13 &8 |Eih 108.22
FINRFEHE  [319 &9 e 7900(98 |12 [/MNRATH [14 #FHS8 |[Eih 114.20 &6
FINRFEE 319 & 10 g 66 (98 |11 MMRATH|14 FT |[EHb 129.08 [ &6
FINRFEEE 319 &E 11 IS 114 |98 13 [NRATH[14 FE9 [EH# 116.97
FINRFFER  |319 F12 P 152199 [7 [IRATHI|T &S5 [Ei#h 109.94
FINEFEFEE [319 F13 1 165 |99 10 !MRATH |7 F9  |Eih 110.65
FINGRTFEE  |319 & 14 *H 166 |99 1 INEARTH |7 10 |EH 111.51

KEINREEHE 319 B 15 P 82 JH R
KFEINRFHE 319 B 16 1 91 JH R
AFINRFFHER 1319 &F17 P 237 197 19 PIDRANTHI[3 #3 |Eih 170.09
AFINEFHE 319 &% 18 P 238 |97 |19 [MNRATH|13 #H4 |EH 171.31
RFMRFFHE (319 F19 18 183 198 [3 [/INRATHI14 13 [Eh 129.06
KAFEINEFEE 319 & 20 P 148 199 [8 [/IMRATHI|7T 6 [EiHh 110.80
AF/INRFFER 1319 F 21 P 20 (99 [11 PMRANTHI[T 27 |EHh 15.00
AFNRFFE  [319 F22 P 184 198 [14 [/MRANTH [14 #F 12 [Eih 129.63
KFEINRFEE (320 & J 1173 [100 |3 |/NRATHI[6 &2 |1 572 |5E
KAFENRFEHE (320 & I 1173 199 |4 [IRATH|7 F2 |E#h 107.52 | 53 &l
RFNRFFHE (320 & i 1178 |77 21 [NRATHI|S #E4 |4 120 |[RE
KNSR FHE 321 & 1 1021 [160 |20 [/MREOTH |1 ZF 13 [/ 24 |57 E
AXFNRFFHR 321 & i 1021 (156 |7 P[MREETH 15 FE3 |[Eih 122.74 [ &
P ENCEE Y RS P 1021 100 2 [/MRATHI|6 FH3 [Eih 552.01 |2 &l
RF/PDRFFE  [322 F1 I 95 |98 15 MNRATH[14 #F3 |4 77
RFNRFFHR 1322 F2 1 245 198 [8 [/NRATH[14 FEE4 |Eih 199.64
ARF/IMRFFE (323 F i 948 (100 [1 |/MRATH (6  FHE4 |[EHh 651.03
RFNRFFER [324 F 1 X 480 105 |12 [/NRATH|[15 &3 | 324 |5#
KENMNRFEFE [324 &2 Eih 423031105 7 [/MRATH |15 &FE 21 |EiHh 291.23
AXFDRFFE 324 F3 SRAER| 22 JH B
RF/INRFFE (325 F i 611 (105 [8 [/MRATH |15 & 22 |[4& 327 |43
AXFNRFFHE 325 F H 611182 f9 [N\ THI[12 FE25 |4& 80 [#E
AFINRFFER 1326 & i 449 184 |4 [PMRNATHI[1 #F2 |4# 345
KFINSFFE 327 B I 723 (100 [6 [/DRATHI[6 &1 Eih 49573
P ENCEE Y MRREY KRB 13 SHIR
AFINRFFHER  [328 F 1 P 165 [107A[2 [/NRATHIS #HF8 [Eih 12001
KRFNRFFHE  [328 &2 P 23 173 |6 [MNR-TH[23 FH5 [}iEHh 18
AFINRFFHER (328 F3 P 165 [107 A8 [/MNRATHIS #HF9 [Eih 120.20
AFINRFFER (328 &4 Ji 181|107 A[9 [/MRATHIS & 11 [EHh 131.01
AFINRFFHER  [328 FS P 165 [107 Af10 [/MRATHI[5S F 10 [Eih 120.00
AFDRFFE 328 F6 X 181|107 Af11 [/MNRANTHI|S #FE 13 |Ei 131.04
AFINRFFHER (328 F7 P 165 [107 Af12 ["MRATHIS F 12 [Eih 120.05
AFINRFFHER  [328 F8 1 381 (107 A[13 [/MRATH |5 #FHF7 |[MiE 279
AFPRFHFZ 329 F 1 £ih 11985106 |4 [/MNRANTH |16 #9 [Eih 120.12
P ENCEE Y M ER sgmEn] 12 iR
AF/NRFFE (329 F3 N R JH i
KEINR=HE  [329 &4 N R 7.91 SHIR
AXF/INRFER (329 &5 Eih 12189 (106 |2 [/IRINTH |16 #FH7 [ 121.79
ARF/INRFFER 1329 &6 ) 12351106 |3 [/NRATH |16 #H8 [Eih 12351
AFPRFFZ 329 F7 £ih 12520 |[107 A|3 [/MNRATH S &1 [Eih 125.13
AF/INRFFER 1329 &S £ih 12627 |[107 Al4 [NRATHI|S #FHF2 [Eis 126.48
FINRTFHE 329 59 B 12418 [107 A]5  [/MNRATH IS #HE3 [Eih 141.03 [&6f
FINRFFE  [329 F 10 Eih 1678 [107 A[5 |/MNRANTHI|S #H3 |EM 141.03 &6
AFPNRFHFZ 329 F 11 EST) 127741107 B4 [/MNRATH |4 & 11 [Eih 127.82

32




FTRHINEER TR 2849 A
|B 3 ith 2 X3 BR 2R
[ 4= HT &

E HE oy - Ml M O RE [ ®E | BE | e
FINRFEEZ 320 E12 Eih 12218 [107B|5  [/MNRATH[4 F 12 [Eih 122.24
FINRFFEZ [329 F13 Eh 11785 [107B|6  [/MNRATH [4 FH 13 |[Eih 117.96
FINRFFE [0 F i 1,120 [107 A1 /MRATH |5 6 |1 736
FINRFFE  [331 F 1 Eih 15909 [107 BJ13 [/MNRATH [4 &H 71 |[Eih 132.18
FINEFEE (331 F2 e 12211 [107BJ1 [/MNRATH [4 FHS8 |[EiH 128.80
FINRFEE  [331 &3 Eih 10982 [107B|9 |/NRATH |4 F2 [Ein 84.04
FINEFEHEEZ (331 F4a MiE 71_[107B15 [/MRATH |4 F6 |Eih 226.10 | &6t
FINRFFE  [331 FS Eih 187.90 [107 B|14 [/MNRATH [4 &HE 1 |[Eih 143.67
FINEFEEZ [331 F6 e 188.91 [107B|15 [/MNRATH [4 FH6 |[EH 226.10 | &6t
FINRFEE (332 & 1 A 125|105 [6 [/MNRARTH[5 FE4 Eith 94.78
=INSEEE (332 K2 I 311|105 |11 [/MRATHI[5 FE2 |iH 234
FINRFFE  [332 F3 Eih 16198 [107 B|11 [/MNRATH [4 H4 |[Eih 134.81
FINRFEZ (332 F4 Eih 1502 (107 B[15 [/MRATH |4 FH6 |Eih 226.10 [ S
FINEEEE 332 &5 1 188|106 |7 [/MRANTHI([16 F 13 |FEHs 158.46

AF/NRFFE  [332F6 Eih 146.96 [106 |12 [/NVRINTH |16 ZFH 1 [Eis 158.50 | & f3f
KFINSFIFE  |332 &7 1 41 [106 [12 [/NRATHI[6 F1 [Eih 158.50 | & F
AFINRFFER (332 %8 P 505 |107B[12 [/MNRATH|4 #FHFS5 |Eih 420.39
KAFEINEFEE (333 &1 P 199 106 [13 [/MRANTH |16 #F 12 [Eih 166.67
AXFNRFFHE 333 F2 i 157 (106 |6  |[/MRATHI|I6 F 11 |EiHd 132.29
KFINSFIFE 334 &1 I 501|106 9 [/NMRATH 16 #FHFE3 |Fih 366.02
KENSFHE (334 F2 1 99 [105 [3 [/NRATHII5 F 18 [Eith 182.65 |5 fif
KEINR=%i%  [335 &1 I 103|106 [10 |[/MRANTHI|16 #*E4 |Ei 180.02 [ &6
AF/IRFFHE  [335 &2 X 151|106 |10 [/MRANTH[16 ZF4 |Eis 180.02 | &4
KNSR FEEH%E 335 53 1 186 (105 [4 |/MNRISTH |15 F19 |Eih 59.11 |5 E
AXFNRFFHE 335 &3 i 186 [106 |8 |/MNRATHI|I6 F2 |Eid 64.01 [5Zl
KFINREEE 335 35 4 1 189 [105 [3 |/MNRISNTH |15 F 18 |Eih 182.65 | &3
AFNRFFHE 336 &F Eih 1,719.00 (106 |11 [/NRATH (16 FE 5 |[Eih 1,054.01 [ 2l
KNSR FHE 336 5 EH [171900]106 |1 [/MNRATH |16 #FH6 [Eih 485.98 |73 &l
RFNRFFHE (337 &F 1 XH 249 189 (20 [/MRANTH[34 FE 10 |Eih 200.77
AFNRFFHE (337 F2 P 125 [104B|3 |/MRATH 23 F 10 |Eih 111.00
PN EE Y MIEREX ) 139.08 [104 B4 [/NRATH [23 &3 [=ih 139.16
KFINSFHFE |33 &S Eih 191771104 B|5  [/MRATH [23 F4 |Eib 181.04
KEINREH%E 337 &6 I 126 |104B|7 [/NMRANTH([23 ZF 11 |Eis 112.07
AFENRFHHE (337 &7 P 126 |104B[8 [/NRATH |23 #FH2 [Eih 112.00
RF/IRFIFE |337 %8 i 135 [104B[9 [/NVRANTHI[23 #F1 [Eih 120.03
KFINREHE 337 B9 1 65 [104Bf2 |IRATHI23 ZF7 |1 56
AF/INRFFER 1337 F 10 X 19 139 |7 |NRETHI|E FHF22 [Eih 16.38
KENRFEFE 337 F11 1H 27 |89 |14 |/MNRATH |34 #H 37 |EHM 199.14 | &6t
AFEINSRTEE 338 & P 126 199 [1 [/IR=TH |23 F 12 [Eih 122.68 [ &6
AFDPRFHE [339 &F P 3328 [103 |6 [/NRATHI[25 #H3 [ 283 [H&
KFEINRFEIFE  |339 & I 3328 [101 [2 [/NRATHI[27 &5 [/ 1914 |5 E
KNSR EHE 330 52 KEE | 142 JHIR
KFNRFFE (330 H3 KERER | 56 Himk
AFNRFEE (339 B4 KEEE | 59 HiB
AF/INRFEFHE (340 F 1 Ji 321|105 (15 [/MNRATH[15 ZF 13 [Eib 209.24
AFINRFFHER (340 F2 P 79 (105 [22 [/MRATH[15 F 11 [|EHh 132.46 | &5 F
ARF/INRFFER 1340 FS3 Ji 307 [105 |20 [/MRATH[15 #H 12 |Eih 200.12
AXF/NRFEFHE 340 4 X 238 [105 |21 [/MRNTH[156 #& 10 |Eih 155.30
KEFINREH% 340 &5 I 124 1105 |22 [/MRANTHI[15 F 11 |Eih 132.46 | &1
AXFDRFHEE (341 & i 53 HiB
ARFINRFFER  |341 F?2 ) 16558 197 |1 [/NRANTH 13 #F 14 [Eith 160.73
AF/INRTFER  [341 &3 Eih 1628793 B|11 [/NVRINTH |28 F 1 [Eih 157.29
ARFINRFFER 341 &4 E£ih 16290 |103 |4 [/NRATH |25 F 1 [E#s 157.40
RFNRFFHE (342 F1 SH 331 93 Bl7 [NRATHI[28 4 [ 221
AFINRFFE (342 F?2 Ji 177193 B|8 |/MRANTH |28 ZF 17 |Eih 154.37
FINRFFE (342 B3 o 8.87 Hik
FINRFFHR |342 F4 X 8.09 HIl
KFINEFIHE  [342 &5 Eih 10325193 Bl13 [/MRATH[28 F 3 |Fih 104.02
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G2 S B | wE | oo | BE | WE [ R | e
FINRFIFE 342 F6 P 311 (93 Bf14 |[/MRANTHI|28 S5 |4 209
FINREEE 342 & T i 16|97 11 MRATEHN13 #H6  |EiHd 12.82
FINRFEFE 342 F 8 A 40 197 [10 [/MRATH[N3 FES5 |Eih 16051 (&8
FINREEE 343 & 1 1 226 (93 B[15 |[/MNRANTHI|28 #FHE6 |Eih 153.05
FINREHE 343 B2 I 244 (93 Bf22 |/MRANTHI|28 #FE7 |EM 165.03
=NETEE (343 &3 I 63 (105 [2 [/NRATH[5 %171 [Eih 121.38 | 58
FINETEEHE 344 B 1 1A 115 (105 |2 [MRANTH |15 F 17 |EHh 121.38 | &
FINRFEE 344 &2 ] 1771105 [24 [/MRATH [15 % 16 [Eih 120.28
FINEFEFE [344 F3 Ji 254|105 |23 [/MRATH[15 FE 15 [Fih 173.01
=NE =ik 344 4 P 194 1105 [1 [/MRATH[15 % 14 [Eih 132.35
FINRFIFE  |344 FS X 106 |178B|2 [/NR_THI([8 #F5 |EiHb 7137
FINRFEFE  [345 F = 189338 [101 [3 |/MNRATH |27 #F#E3 |EiM 1,428.31
FINRFEFE 345 &2 £ih 4.13 JH B
FINRFFE 346 F 1 P 293 193 Bl6 [/NRATH[28 FE 16 [FEih 231.77

AF/NRFFHE (346 F2 sgmEn| 32 JH iR
AF/INRFFE (346 F3 SRAER| 71 JH i
KFENRFHEZ (346 F4 E£ih 7528 193 A7 [/IMRATHI[29 #FH2 [Eih 75.23
P ENCEE R =ih 6719(93 Bf16 [/NRATH |28 F8 [Eih 67.71
AXFPNRFHHE [346 &6 Eih 6772147 |13 [/MNRETHI[15 5 |Eih 76.20 | & F
AF/INRTFER (346 K7 Eih 6591 [111 Af29 [/NRANTH |19 20 |Eih 67.00 [& 6
AKFDRFFE 346 8 Eih 7394|111 A|]2 [/NRATH 19 #F 16 [Eih 74.22
P ENCEE RS =ih 751293 B[t [/NVRATH[28 % 14 [Eith 75.03
AFINRFFE (346 F 10 AREEH] 960 JH iR
AFDNRFFE  [346 F 11 AR AEH 9.60 JHiR
AXFPNRFHHE  [346 FE 12 Eih 803147 |13 [/MRETHI[I5 ZF5 |Eih 76.20 | &
KFINSFIE 346 & 13 Eih 123 [111 Af29 [/NRANTH[19 #F 20 [Eith 67.00 [& 4
KF/INRFFE 346 K 14 sREESE| 17 JH R
AXFNRFFHE  [346 F 15 SRAER| 97 JH
AFINRFFHER (346 & 16 i 141 193 Af4 [/IRATHI|29 #F9 [=ih 141.06
AFNRFFHE (346 F 17 X 142193 A[5 [/MRATH (29 #F 10 [Eih 142.89
RFNRFFHER 346 F 18 =ih 14570193 A|3 DINRINTH[29 &8 |FEih 144.67
KNS ELE 346 19 E3 14372193 A|2 [/MNRARTH |29 H7T1 |Eih 144.00
KFNRFHE 346 3 20 Eith 13391193 A1 [/IRINTH[29 #6 |FEih 133.94
PN EE N ES =i 454.08 |92 1 INRATHI[30 & 14 |E# 746.21 (&4
RENRFEHE (347 &2 =i 87109092 [2 [/NRATH[30 FH 13 [Eih 683.02 |73 &
KFINRFHE 347 &2 Eih 871.09 |91 2 |MNRATHI31 #H6 |EHM 51.71 [
AFINRFFR [347 &3 Eith 42963192 [1 [/MRINTH |30 & 14 [Eih 746.21 |5
KEINRFHE 347 &4 T 22.71 JH B
AENR=HE (347 &5 Eith 21.47 JHB
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KF/PNRFKIIL[451 F 6 LLIAK 849 (148 (4 |/MRIUTH 18 #FF 12 [IU#k 586
KEPNRFKIL[451 F7 L&k 142 1184 [3 [/MR=TH 8 & 21 |IU# 97
RKENMNRFKINL][452 &1 i 191 (151 |8 |/MNRETH |11 &1 Eith 158.99
AF/NRFIKIIL (452 &2 SRAEE| 46 B
KFE/INRFK)ILL]452 % 3 ] 196|148 [9 [NRIEMTH |18 &6 Eih 120.14 | &6t
KF/INRFIKILL 452 FE 4 1 887(218 (45 |/"MNR—TH |12 # 18 |[FEih 165.82 | &
KE/INRFKIL]452 &5 ] 167 (218 [45 "MNR—TH |12 & 18 |Eih 165.82 | & {3
AF/NRFKINL[452 F6 M 88 iR
AF/DRFKINL[452 FE7 i 127 148 |8 [/NREUTH([18 ZF5 |FEih 127.60
RENMRFIKIILL[452 &8 Eih 13943 (148 |7 |/MNREATH |18 &F 4 |Eih 139.55
KE/NMNRFIKIIL [452 &9 Eih 22930 1148 [5 |/MNRMMTH |18 & 1 Eih 192.34
K=E/NMRFKINL]452 F 10 +H 160 (151 |7 P/MNREATH |11 &S5 |Eih 133.10
AF/PMRFKINL[452 F 11 Ji 171|151 |5 [MREOTH[11 #F7 |EHs 142.65
KE/NMNRFKINL[452 F 12 +H 127 (151 |6 |/MNREATH |11 &6 |Eih 105.53
KF/NRFKINL[452 F 13 I 302151 |4 |/MRPUTH |11 % 26 |3iEhs 2.48
KE/NMNRFKINL]452 F 14 +H 154 1151 |9 [/NRPATH [11  #FF 33 |axmEm| 128
KE/NMRFKINL]452 & 15 '+ 128 [151 [10 /MNREETH |11 F 27 |Eih 106.13
RE/NRFEKINL][452 & 16 +H 121 (151 11 /MNREATH |11 #F 28 |Eith 100.51
KE/NMRFKINL[452 FE 17 *H 121 [151 12 /MNREETH |11 #F 29 |Eih 100.46
KE/NMNRFKINL[452 F 18 +H 120 151 [18 |/MNRIUTH |11 #F 30 |Eih 100.18
KFENRFKINL][452 FE 19 *H 137 _[151 14 PMNRETH |11 F 31 |Eih 114.10
FINRFIKIILL [452 F 20 1 121 (151 [15 /MNREUTH |11 #F 32 |Eith 101.01
FINRFIKIIL [452 & 21 *H 133 [151 16 MNRETH |11 F4 | 111.05
KE/NRFKINL[452 F 22 1 1256 (151 17 /MNREATH (11 #F 3 |Eith 104.00
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FINRFIKJINLL |452 23 P 159 [151 |33 |/NRETH [11 & 2 Eih 131.99
FINRFIKIINIL[453 F 1 LLIAK 505 (151 2 [/DREETH (11 FE 24 [EHh 419.27
FINRFIKIIN W [453 FE 2 Eih 548.46 |151 3 [/NRIUTH |11 & 25 |FEi#h 454.41
ENMCESMEESE LL#k 778151 [1 [/hNRETH 11 FE 9 |EH# 115.84 [ &
FINRFIKJILL 453 FE 4 [IiESS 249 (151 |18 |/NRPETH [11 & 8 Eih 116.14 | &6t
FINRF KL ]453 FE S5 LAk 120|151 |19 [/hREETH[11 FE 11 [EH 100.08
FINRF KL ]453 FE 6 IS 120|151 |20 [/MREUTH [11 #F 12 [E#s 100.15
FINRF KL 453 F T IS 115|151 |21 [/hREETH [11 FE 13 [=Ei 95.95
EMCESIMGEESE LAk 015151 127 |/MRIUTH |11 #F 19 [EH#h 0.12
F/NR KL [453 F9 Lk 008 [151 |32 [/NRPTH [11 & 10 [MiSHh 0.07
FIINRF KL [453 F 10 IS 37 [151 [24 [/NREUTH [11 #F 18 [E#s 31.00
FINRF KL ]453 F 11 IS 147151 [28 [/MREUTH [11 #F 20 [E#s 1.22
FINRFIKIILL [453 F 12 LUK 121 (151 [22 P/MNRIUTH 11 F 14 |Eih 100.56
FINRFKII L [453 13 L#k 120|151 |23 [/MREUTH [11 #F 15 |EHs 100.70

KE /N K)1 1L [453 2 14 ITE:S 37 [151 |25 [/NRPUTH [11  F 17 |Eih 31.28
K2 /NE =K1 1L 453 & 15 s 36 [151 |26 /MNRETH |11 F 16 |Eih 30.26
KF/NRFKIILL[453 2 16 [IE:S 1511151 129 [/MREATH [11 #F 21 |Ei#h 1.25
KNSR KL 453 2 17 LAk 1471151 [30 [/MREUTH [11 #F 22 [E#s 1.22
KNSR =K1 453 & 18 LAk 015 (151 (31 |/MRIUTH |11 #F 23 [E#h 0.12
K==k )1 1L 454 1 L&k 2829 [150 |1 [phEmTHI[9 #FEE2 [lL#& 2,349
KFE/IMNRFKINLWL [454 &2 DRAER 33 JH
KE/NRFKIIL[455 F1 Eith 113181149 [9 [/MNRIUTH ([ &5 Eih 263.36 | &
KE/NR k)11 [455 2 2 ARMER| 46 JH
RF/INRFIKIILL[455 & 3 P 270 (133 Al6  |'"MNRETH [24 F 23 [E#h 189.17
RF/IRFIKINL|455 &4 i 330 (147 8 |/MNREETH |7 &S5 |4 646 | &6t
KF/NR KL ]455 2 5 Eih 16528 [147 |7 [/MNRETH([7 H4 [Ei 143.19
KFE/NRFEKIILL]455 &6 A 413 147 |8 MNEWTH|7 &S5 |4 646 | &4t
RENMNRFEKIIL[455 F7T Eih 173.13[149 |9 |/MNRETH |8 FES5 |Eih 263.36 | & {3
AF/NR KL [455 &8 FEAEMh | 480 [149 |3 |/NREOTHI|8 #FH 20 [Eih 415.08
KF/INRFKIIL[455 FE 9 s 35 |149 |2 [REUTHI([8 F19 [Eih 35.16
KFENRFKINL][455 & 10 Eih 16957 (149 |12 [/MNREETH |8 &7 |Eih 331.67 | &
KF/INRFKIINL[455 F 11 Eih 17280 |149 |12 'NRWTH|8 &7 |Eih 331.67 | &6
KE/NEFKIL[455 & 12 HiERh 56 1149 |12 [/MRIUTHI[8 #FH 7 |Eih 331.67 | &6t
RFE/NMRFIKIIL 455 FE 13 *H 270 [133 Al25 ['NREETH[24 ZFEe6 [Eih 188.90
KFENRFKINL][455 & 14 *H 120 (149 |1 MNRIETH |8  F 14 |Eih 100.07
K=F/NRFKIIL[455 F 15 1 120 [149 [15 [/NREETH([8 #F 16 [Es 100.01
KFE/INRFK)ILL 455 2 16 I 131|149 |17 [/MRIETH([8  #FH 17 |Ei#h 101.34
KNS =K1 L [455 2 17 1 85 [149 [18 [/NRPUTHI[8 #F 18 [Eith 65.88
KFE/INRFK)ILL 455 2 18 I 130|149 |19 [/MRIUTHI[8 #H8 |Eih 100.43
K=F/NRFKINL[455 F 19 1 129 [149 |20 ['NRIUTHI([8 F9 [=£H 100.05
KFENRFKINL][455 & 20 *H 129 (149 |21 [/MNRIUTH 8 F 10 |Eih 100.05
KFENRFIKIILL (455 F& 21 P 129 [149 |22 |'NRPUTAH |8 11 [Eih 100.00
KFENRFKINL 455 F 22 *H 131 (149 |16 "MNRIEETH (8 F 12 |Eih 101.36
KF/INRFKIIL [455 & 23 P 130|149 [14 |'NRMUTH [8 13 |Eih 100.37
KNSR KL 455 25 24 I 1950149 (23 [/MgEPUTH([8 & 15 |Eih 1.50
RFE/NRFKINIL 455 3 25 +H 102 (210 [8 |'MNR—TH |21 F 24 |Eih 224.35 | &
KNS 5K 111|455 % 26 1 8t [210 |9 [/MR—THI[21 & 11 [=ih 194.80 | &
KF/NRFKIIL[456 1 1 558 (142 9 [/MRPUTH 19 & 26 [Eih 530.22 [ &6t
KNSR KL 456 25 2 I 68 142 [11 [/MNRPUTH [19 #F 29 |Eih 121.37 [S 6
KENMNRFIKIILL[456 FE 3 +H 495 1146 |4 [/NRWUUTHI[ F7 [Fih 390.76
KF /N F ok L [456 2 4 J 65 142 [12 [/MNRPETH [19 #F 31 |Eih 121.27 | 56
KE/SEFKIL[456 &5 Y 85 1142 |41 [/MREUTH[19 F 32 |[Eih 122.29 | &6
KFENRFKIIL[456 F6 P 154 (142 |37 |"MNREETH |19 F 35 |Eih 121.15
KFNRFIKIILL 456 & 7 1 156 (142 |38 [/NREUTH [19 #F 36 |Eib 123.16
KFENRFKIIL[456 FE 8 P 178 (142 |39 |/MNRIETH |19 F 34 |Eih 140.55
FINRFIKJILL |456 FE 9 P 153 [142 |40 |"NRPOTH [19 Z 33 |E# 120.55
F/NRFKJIIL[456 F 10 1 128 142 |36 [/NREETH[19 F30 [=Ei 101.42
KRF/IRIFIKINL 457 F&1 pi 48 189 [14 [/MNRNTH([34 F 37 |Eih 199.14 [ &
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FINRFKII L [457 FE2 Eih 68429 (143 [3 [/NRIUTH |6 FF 1 [FEth [129349 [E6
FINRFKJI L [457 25 3 1 721141 |6 [MRATHN  F21 |44 191 | S5
FINRFKJIL[457 & 4 M 142 1141 |6 [NRAEATH[  F21 |4 191 | &6
FINRFKIINL[457 &S E 58842 [142 [10 [/NRETH [19 & 28 [Eih 527.23 |56
=R KL [457 2 6 =i 8214 (142 [10 [/NRETH[19 % 28 [Eih 521.23 | &
FINRFKINL 457 FT sxmEE| 36 HIR
FNREK]L 457 % 8 sgmEn 19 JH iR
FINRFIKIILL [457 &9 Eih 54211[143 [3 [/NREETH |6 21 |=#h |1.20349 [ |
F/hRFKJL[457 FE 10 £ 268031143 [3 |/MNRIUTHI|6 FE 1 |Eih 1,29349 | &4f
FINRF KL 457 B 11 NRAER 9.91 HR
=KL [457 & 12 1A 85 (142 |11 P/MNRIUTH |19 #F 29 |Eih 121.37 | &6t
=N kI 457 2513 ] 32 142 [12 [/MRETH [19  #F 31 |=i#h 121.27 [S 6
=R 457 2 14 1 115 [142 |9 INEEUTH 19 ZF 26 [E£ih 530.22 &
F/NRFKINNL[457 & 15 Eih 16140 (142 |5 [/MNRETH[19 F 21 |[Eih 143.15

KE/NMNRFIKIIL 457 FE 16 Eih 168.73 (142 |28 |/MNRPUTH |19 #F 27 |Eih 132.96
AFIMRFIKINLI[457 FE17 Eih 3731|142 |29 [/MRPUTH [19 F 20 |EiHb 33.10
KF/PNRFK)INL[457 ZE 18 i 243 (141 f21 [MRETH|I #FH22 [/ 218
KNSR =KL 457 2519 1 241 (89 [16 |/MRINTH |34 F 38 |EiMh 200.56
KNSRk )1 1L |457 35 20 I 167[89 |43 [/NRXTH [34 & 36 |[3fEth 1.40
KFENRFKIILL 457 & 21 1 56 (142 |12 /MREATH 19 #F 31 [EhHh 121.27 [ &6
KE/NMNRFKINL[457 F& 22 1 69 (142 |41 PMNRIUTH |19 #F 32 |Eih 122.29 | &
KNSRI [458 B 1 1H 863 143 |2 [/hnREMETHI[6 FHF2 [ 721
KE/NRFIKIILL [458 ZFE 2 I 95 1145 |10 [/NRETHI[4 F4  |EH 112.80 | &4
KFE/NRFKIL]458 & 3 I 50 146 |5 |/MREUTHI|S F4 |[EhHh 49.25
AF/DNRFKINL[459 F 1 1 40 [145 10 NRETH[4 F4 |Eib 112.80 | &5 f
AF/DRFKINL[459 F 2 AgmEn| 49 JHiR
K=K 459 2 3 1@ 759 [147 [2 PMRUUTHI|7T #F8 |4 666
PN e RS I 1404 1143 |1 PNVRIETH |6 &3 |4 1,170
KE /NS 7B (460 2 2 N 6.61 SHiR
KNS R (461 251 1 151|142 |34 [/MNREUTH([19 F24 |EHb 124.07
KE IR EFHERE [461 252 AREEH| 16 JHiR
K= /NRF HBATE [461 25 3 1 151 |142 |6 [/RETH[19 F22 [Eih 124.31
RFINRFAHEATR [461 4 1 151 [142 [33 [/MRPUTH [19 F 23 [Eih 124.19
AFINRFHEATR [461 S P 222 |145 |1 [MNRUTH[4 F7 |EHs 184.55
AF/INRFHEATR [461 &6 i 240 145 [14 [NRIUTH |4 2 #FHe6 |Eis 197.82
KF/INRFHERE [461 &7 @ 86 [145 [16 |[/NRPUTH |4 F 15 |Eih 71.50
AF/INRFHEATR [462 1 J 87 145 |15 [/NRPATH |4 #F 14 |Eih 73.99
AF/NRF A% (462 F 2 ARAER| 112 JH B
K /NE = rEER T [462 & 3 semEn] 19 SHIR
K=/ E AR |462 3 4 =ih 182771145 |2 [/NRIUUTH |4 #HF8 [Eih 21845 [S 8
AF/INRFHEATR [462 &5 i 53 145 |2 |NRIMTH |4 #FHF8 |Eih 218.45 |5 HA
AF/INRFHEATR (462 7 6 8 162 145 |13 [MNRIUTHI|4 #F9 [ 160
AF/INRFrHEARE [462 F 7 XA 128 145 |12 [/NREUTH([4 F5 |Ehb 107.52
AF/INRFHEATR [463 F 1 8 535 (133 A5 [/NRETHI[24 7 |4 422
RF/DNRF AL 463 7 2 ARAES| 62 SHR
AFINRF AR |464 7 1 P 166 144 [1 [/NREOTH |3 #FH 14 [Eih 142.00 [ &6
AF/INRFrHEAR (464 F 2 semEn] 112 SHIR
AF/INRFHEATR [464 F3 P 23 144 |1 PMRIEMTH|3 #HF 14 |EHh 142.00 (&6
AF/INRFEHEAR [464 & 4 X 158 [144 |2 |MRETHI|3 F 15 |Ei 120.56
AFINRFMHEATR 464 FS @ 47 144 |3 |INRIMTH |3 #H 20 |EiHh 36.06
KF/NREFHBAE (465 &1 ITEZS 4661 (144 [17 [/MNRITHI|I3 F2 |Eih 449.57 [
K/ kB 1% | 465 & 1 m: 4661 [144 [9 PIREOTH|3 F3 [IUH 1,880 |9 E
KPR FEBRE [465 & 1 Lk 4661|144 |7 [REWETH[3 &FHF 4 |#iEH | 401 [HE
KNS R (465 25 1 #k 4661 145 [7 [/IRETH[4 F1 |Ei#h 574.00 |7 E
KPR FEBRE [465 & 1 Lk 4661|145 |8 [/NEWTH[4 FE?2 |[Eih 348.00 |5
FINRF AR [465 & 2 ARAEE[ 122 JHR
FINRF A [465 2 3 b 79 (181 |15 [/MNR=TH |34 #F5 |IH 29 [HE
K=/ B e BR{Z |465 35 3 =i 79 (148 [13 |/NRPATH |18 % 13 |HiEH 493 |92
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FINRF AR (465 2% 3 =i 79 1139 |17 [NRETHI[6 7 26 |3#i&Eth 21 |53

FNRF AR [465 F 4 £l 60684 144 [10 [/MRIETH[3 &1 |E#h [191601 [E6F

FINRFHHEATE [465 &S £ih 43810 (144 [6 |/NRPITH |3 F®5 |Eih 328.19

= /N5 AER 1% |465 % 6 I 143 (147 |5 |/EETHE|7 %9 |Eih 101.23

F/INRF A% [465 F 7 Eih 11657 (144 |15 [/MNRETH[3 F 13 [Eih 116.56

=N RF A% |465 & 8 Eith 106.11 144 |11 [MREOTHI[3 FH8 [Eih 106.71

FINRFHBAE [465 &9 Eith 10103144 |13 PNREATH [3 & 11 |Fih 10155

FINRFHHEATE [465 & 10 Eih 10473 144 |14 [NRUUTHI3 F 12 [Ei#h 104.80

=/ F A% [465 2 11 e 8.88 JH

FINRFHHEAE [465 & 12 Eih 10567145 |3 [/NRITHI[4 F 10 [Eih 105.78

FINRFHEA [465 & 13 EST) 104751145 |5 [/NRIUTH |4 #F 12 [Eih 104.89

FINRF A% 465 % 14 E 18897144 |5 [NRIOTH[3 #&7 |EHh 35.62 [l

FINRFREAE [465 & 14 ) 18897 (144 14 [I/NVRIUTHI[3 #H 17 |FEih 111.74 | 5538

= /NRF #HBAE |465 & 15 Eih 149.58 JHk
K= /NRF#HBATE |465 2 16 ESFT) 5.82 JH R
KF/DNRFHEAR 465 F 17 Eith 2.03 JH R
XF/NRFHBAT% [465 % 18 =i 201.24 1144 [18 D/NREUTH |3 & 18 |Fih 150.15
XF/NRF B [465 & 19 £t 201.23 (144 [19 [/MNEEETHI[3 &6 [Eih 150.13
KF/NRFHERZ 465 & 20 LL#k 142 147 T11 [/D®EWTHE [7 15 [Fih 101.01
KIS B {% |465 25 21 IL#k 142|147 12 MRETH[7  #F 16 |Ehb 101.03
KN A ER 1% 465 3 22 LAk 50 (183 [3 [/hRER=THI[9 #FEi12 [IL#k 34
KNS R (466 25 1 1 571 (181 (16 |[/NR=TH |34 #F4 [/ 431
K= /NRoF A TE [466 25 2 sRmEn| 23 JH R
KFINRFrHERE [467 & Eih 154710144 [10 VNREETE (3 2% 1 |=# [1,91601 |56 |
AF/RFEEAE [468 F 1 Eih 33884 (144 [10 [/MRUUTH I3 FHF1 [=Eh [191601 [Sf6
KF/INRFrHBE% [468 F2 £t 181511147 16 [/RETH[7 F 12 |Eih 128.20
KF/INRFHBAE [468 F 3 Eih 6763|147 [15 [/NREOTH |7 #F 10 [Eih 128.16 (& 6
K=F/NRF A% (468 F4 Eh 3788|147 |17 [/NREITH|[7  F 13 [Ei 26.75
RFINRFHEATR (468 F S Eih 198211147 |13 [/NRIETH |7 % 14 [=Eih 140.00
KF /N5 T BA1% (468 & 6 S 21238 147 [14 /NREOTH |7 FH1 [E#h 150.01
RFINRFHEATR (468 7 Eith 11382 (147 |15 [/MREETH[7 F 10 |Eih 128.16 (& 6
AF/NR TR [468 FS Eih 188.56 [147 |16 [/MREETH[7 & 11 |Eth 133.18
AF/NRFHEAE [469 F 1 Eih 1137513 (147 [4 [MRWETH |7 &2 [FH |1.21511
RF/INRFABETR [469 &2 IS 625 (147 [3 [NRETH|[7 #F3 [Fih 52000
AF/INRFEMEARE (469 E 3 g 226 (149 |13 [/MRPIATH 8 &1 |FEih 188.11
RF/NRFHBATE (470 F 1 P 1166 (149 |7 |/MNRIITH (8 #3 |4 993
XF/NRFEAE 470 F 2 Eih 54522 1149 [8 [/MNRIUTH |8 #HF 2 |Eih 446.30
RF/NRFHEAER [470 F3 P 446|149 |4 |/NRWUTHI[8 F4 |1 365
KF/INRFBRE 471 &1 M 519 1153 (1 D/MREETH|[2 &7 |48 445
AFINRFHEATR (471 72 P 532|153 [11 [/NRIUTH|[2 #FHe [EHs 435.70
KEINS R (472 & 1@ 892 (153 [5 |/NRETHI|2 #F4 [/ 697
AFINRFMEAR 473 & P 1996 [181 |13 [/NR=TH |34 F7 |/ 229 [HE]
AF/NRFHEAR [473 F XA 1996 153 |10 [/MNRPATH |2 ZFHS5 |1 204 | S E
KF/NRFAHBATE 473 & H 199 153 |2 [/MROUTH[2 #HF8 |4 502 |5&
RF/INRFHEAR (473 & X 1996 153 |4 [/MREETH[2 &9 [i# 583 |9 EI
K /NR AR (474 & H 1034 181 19 [MR=TH 34 #3 | 809
AF/NRFHEAR [475 & XA 1216 185 |1 [/MR=TH |11 ZF 18 |1 454 | S E
AF/DRFHARZ[475 B 1 1216 (181 |7 PMR=TH (34 &1 [M 531 [#E
AF/INRFHBAR (476 F 1 X 1803 185 |11 [/MNR=TH |11 ZF 17 |1H 21 |7E
KNSR (476 251 I 1,803 1187 |1 ['NR=TH 33 ZE5 |/H 564 |5 E
AF/INRFHBAR (476 F 1 XA 1803 187 |2 |[/MR=TH |33 ZFH6 |IH 659 [#E
RF/NRFHBATR 476 F 1 P 1803 [181 8 [/NR=THI[34 F2 [ 23 [HE
ARF/INRFHBATR 476 2 2 i 48 212 [5 [/MR—THI[18 #F29 |Eis 37.11
AFINRFMHEAR 476 &3 P 42 212 |28 [/MNR—TH |18 #H 30 |Eih 32.38
AF/NRFHEAR [477 & XH 1600 153 |6 [/MNREOTH |2 ZH3 |1 1,026

FINRFHBAE 478 F 1 P 427|188 |11 |/MNR=TH 32 #H 3 |3i&Hh | 313

FINR PR [478 25 2 semEn] 122 SHIR
KF/NRF A 478 &3 sRmEn| 24 JH iR
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FINRF AL 478 FE 4 Eih 93411187 |3 |/MR=TH |33 #FHF7 |EMh 93.51
FINRFAAE [478 &S Eih 90401187 |4 [/NR=TH[33 #FH8 |Fih 90.57
/NS F BT [478 & 6 E£ih 8640|187 [5 [/MR=TH 33 %9 [Eih 86.70
FINR T 478 &7 3 8769 (187 [6 [/NR=TH [33 & 10 [Eih 86.41
FI/NR B [478 % 8 E£ih 81331188 [1 [/INR=THI[32 %S5 [EH 83.15
FINRFHBEE [478 &9 =i 7378188 |2 |/NR=TH [32 % 6 |EHs 86.64 | & i
FINR AR 478 F 10 E£ih 7018188 |3 [/NR=THI[32 %7 [Eih 9259 |5
FINRF A% [478 & 11 Eih 69.03 (188 |4 |/NR=TH |32 FHs8 |[Eih 102.56 &6
FINRF B 478 & 12 £ih 26.40 JH B
=N RF A% 478 F 13 sxmEn| 462 HIR
FI/NR B [478 & 14 E£ih 3721188 [12 [/NR=TH 32 %4 [EHh 3.73
=INREMERE [478 2 15 T 1236 [188 [2 [/NR=TH[32 &6 [Ei 86.64 | & f
FINRF AR 478 F 16 Eih 21011188 |3 |/MR=TH |32 #FHF7 |E#h 92.59 | & f
FINRFBAE [478 2 17 i 3209(188 [4 [/MR=THI[32 Z*s8 [=ih 102.56 | &

XF/NRFBR%[478 F 18 £ 327441188 [5 P[/NR=TH 32 FE9 |Fih 240.74
PN AN 1 1266 188 |8 |/MNR=TH |32 #H 14 |IH 45__|5E
KF /NGB [479 & 1@ 1266 1187 |7 [/MNR=TH |33 ZFH4 | 703 |5E
KNS E AL 479 & 1 1266 (149 |5 [NREOTHI|8 ZF 21 [4M 51 |93
KF/INRFHBAE [480 F 1 P 697 [153 |7 |/MNREETHI[2 F 10 |4 643 | & fF
P ENCES A ER 1 287 (153 [7 |/NRIWUTHI|2 #F 10 |4 643 | &Hf
K5 /NRFMEATE [481 & P 965 161 |19 [/NRZTH[17 FE12 [|/@ 631
K /NRoFHBATE [482 25 1 1 879 [153 [8 |/NRPUTHI[2 #H1 |Eih 579.71
AF/INRFHHEA% (482 &2 P 167 (141 |4 PMRETH|I F19 |Eih 12370
K /NRFHERTE [483 & H 267 (187 [9 [/MR=TH([33 H1 |Eih 168.77
KF/INRFHBAE [484 F 1 P 145 148 [10 [/MRPOTH [18 #F 8 [Eih 93.88
RF/NRFHEATR [484 F 2 P 330 [188 [10 [MNR=TH[32 #F2 |Eih 239.89
RF /R 484 &3 i 148 151 [1 [NRETH[11 %9 [=ih 115.84 | & 1A
KNSR (484 & 4 I 154 151 |18 [/MRPUTH [11 #F8 |EiHb 116.14 | &4
AF/INRFHEATR (485 & i 826|188 |9 [/MMNR=TH[32 &H1 [/ 585
AF/INRFHHBAR [486 21 8 245 1188 [14 [/NR=TH[32 FE 12 [Eih 175.05
KFINRFHER % |486 & 2 I 141 (188 |6 |/MNR=TH |32 F 10 |[Eih 100.87
RF/INRFHBATL [486 &3 X 164 [188 [13 ["NR=TH [32 & 11 _|EHh 116.88
RFINRFHBATR (486 4 P 164 [193 [4 |NR=THI|31 FE 17 |Ei 119.38
KF/NR T AHER1E [486 &5 P 176|193 [20 [/NR=TH [31 % 18 [=ih 128.03
AF/INRFHEATR 486 &6 1 180 193 [21 [MNRZ=TH[31 #FH 19 [EHh 131.32
KF /R AHER 1R [486 & 7 P 159 193 [22 [/NR=TH [31 % 20 [Eih 115.82
AF/INRFHEATR [487 1 J 202 189 2 [NR=TH[13 #H3 |[EHh 152.87
RF/INRFHBATE [487 &2 X 241 (189 [3 [NR=TH[13 F2 [EHh 182.29
AF/INRFHEATR [487 &3 i 188 189 [4 [/MR=TH[3 FH1 [EHh 142.74
KE/NRFHEAE [487 2 4 1 215 [189 [7 [/MR=TH[13 #H 13 |Eih 162.66
AF/INRFHEATR [487 &S i 258|189 |6 [MNR=TH[13 FH 14 |[Eih 195.02
XF/INRFHEAE 487 &6 X 200 (189 |5 [/MR=THI[13 #F4 |Eih 151.70
AF/INRFrHEAR (487 F 7 XA 2501189 |8 D/MNR=TH [13  F 15 |3#iEHh 1.89
AF/NRFHEATR [488 1 8 482 |133A[8 [/MNRETHI[24 ZF4 [ 350
KRF/NRF AT 488 7 2 ARFAEH| 064 SHR
/NP rEAE (488 FE 3 SRAEE| 85 JH i
AF/INRFHBAR (488 F 4 XH 166 (139 |14 MNRAETH |6 FE7T |Eih 130.79
KNS EERT [488 & 5 1 126 (185 |2 P[MR=TH |11 ZF 10 [E#s 102.00
RF/INRFHEATR (488 F 6 1 28 185 |28 [/NRE=TH [11 %29 |Eih 22.00
AF/INRFHEATR (488 F 7 P 126 [185 [10 [/MNR=TH |11 F 16 |Ei 102.08
KNSR B {% 488 25 8 J 126 (185 |12 /MNRETH |11 FHF 11 |Eih 102.04
KIS EER (488 & O 1 126 (185 |13 [/MNR=TH |11 8 |[Eis 102.00
KNSR B {% 488 25 10 I 126 (185 |14 [/MR=TH |11 FET |EHs 102.04
K= /NS R B {% 488 35 11 I 127 1185 |15 [MR=TH[11 F15 |EHb 102.00
KF/INRFrHBAT% (488 2 12 Ji] 181|185 |16 [/MNR=TH [11 & 14 |Ei#s 144.61
FINRFHHEAR [488 F 13 P 127 J185 |17 MR=TH 11 FE 12 [Eih 102.05
=/NRF A% [488 & 14 1 127 1185 |18 [/MR=TH [11 #F 13 |Eib 102.16
KNS EAE [488 & 15 1@ 28 [185 (29 [/NR=TH [11 # 28 [Eih 22.01

57




ERTNRIBR TH28%9A
B #ith 2 et BR R

IE 442 %ﬁm%
S hE =T I Mkl L I 2 RE [ ®a [ BE | e

=INR A% 488 2 16 J 524|185 [23 [/NR=TH 11 F19 [/ 4.15

= I/NRFHBAE |488 F 17 P 218 (185 (24 [/MNRE=TH[11 #H9 |if 174

FINR TR (489 FE 1 e 139 (185 [3 [/INR=TH[11 2 21 |8 148 | &

=\ E AR 1% | 489 & 2 I 33 (99 |9 PPMRATHI[T %8 |Eih 30.66

FINRFHBA% (489 F3 i 172 {185 |4 [MNR=TH 11 F 25 |[/H 150

=INR E AR |489 3 4 I 172|185 |25 [/MNR=TH |11 # 26 |/ 150

=/NREERTE 489 &5 e 172 (185 |26 [/NR=TH |11 #F 27 |/ 150

=/Ng B 1% |489 256 I 292(185 |27 [/MNRE=TH |11 #H 20 [/ 2.00

=N R AR £ (490 3 1 1 97 [185 |9 [/MR=TH[11 FHe |Eih 79.99

=N AR {% |490 35 2 I 97 [185 |19 [/"MNR=TH |11 &5 |Ei 80.23

FINRF A [490 & 3 p 178|185 [20 [/MNR=TH 11 4 [EHh 145.00

FINRFHHEA [490 F 4 P 148 [185 [21 [/MNR=TH |11 #H3 |Eih 120.21

FINRF A [490 &5 p 125 185 [22 [/NR=TH[11 FH2 [EHh 102.00

= NEl == BH % [490 % 6 1 142 1189 [1 [MNER=TH[13 &7 [Eih 113.65
AF/INRFHBAE [490 F T p 153 189 [9 [MR=TH[13 8 [EH 122.10
K /N o #BA TR (490 & 8 1 149 (189 |10 ["ME=TH[13 &9 |Eih 119.38
AF/INRFHBEAE 490 FE 9 i 140 [189 |11 [MR=TH[13 F 10 |Ei 111.54
AF/NRFBA [490 F 10 P 137 _[189 |12 [/MNR=TH |13 & 12 |Eth 109.77
AF/INRFEHEARE [490 11 Jd 153 [189 [13 [MR=TH[13 FE 11 |Ei 122.62
K /N o #BA R (490 & 12 1 168 (189 |14 ["NE=TH[13 &6 |Eih 133.84
XF/DRFHBAE 490 & 13 P 137 J189 |15 MR=TH[13 FES5 |Ei 109.10
K /NRoFHBRTE [490 25 14 H 202 [190 [1 [/MR=THI[12 %6 |Eih 156.60
KT /R F A% [491 & J 525 (190 |2 [/MR=THI[12 #H5 |Eih 426.41
RF/NRFHEATE (492 F P 1259 [190 |3 [/R=TH[12 F4 |Eth 998.58
KT /NRF A% 493 & J 568 (190 [4 [/MR=THI[12 %3 |Eih 45001
K /NRFHBAE [494 2 1 1 304 190 |6 |/MNR=TH[12 #F2 |3 | 210
KF/INRFHBAE [494 F2 p 330 J190 [5 [MNR=TH[12 FH1 [EHh 256.22
KIS AT 495 35 1 1871 [192 |1 PMR=THI5 #&HS5 [ 1397 |5&
AF/INRFHEATR 495 & J 1871 (97 |5 [/IRATH[3 ZF 18 [/ 90 |5nE
AT /R T A% (496 & P 1084 [192 |8 PMR=THI|S #H4 [Eis 734.92 |53 &l
AF/NRFHBAR [496 & X 1084 181 |5 |/MR=TH |34 ZFH 24 | 66 |5
XF/DRFHEAE 497 F 8 866 (192 |2 |[/NR=THI([5 #Fe6 |3t | 648
AF/NRFHEAR [498 & pi 912 1192 [3 [/MR=TH|[5 &1 |Eih 683.50
AF/NRFHEAR [499 F 1 1 628 (192 [5 |/NR=THI|5 &9 |Eih 464.25
ARF/NRFHHBAR (499 &2 MiEHh 55 (192 [6 [/NR=THI[5 FH 10 [HMigth 54 |&8
K=/ AR (499 3 3 P 271 (192 |9 PMR=THI([5 #3 |3iEH | 200
RFINRFAMEATR (490 4 X 270 [192 |10 [/MR=THI([5 #H2 |Eih 200.38
K/ R FAHERTE [500 & H 178 139 [20 [/MRATH |6 # 25 |[H 11
AF/NRFHEATR [501 1 H 700 192 [4 [NR=THI|5 &8 |[EHh 524.38
KF/NRF B 501 &2 H 424 139 [8 [/NRETHI[6 #F23 [M 180 |7&
K/ R BA1E 501 & 2 H 424 1139 [19 ['"NREETH[6 224 |H 107 |57&
K /N o #BAE [501 % 3 EREH 19 [192 |6 |/MNR=THI|5 #F 10 |3fEiHh 54 |&ft
K2R AR |501 3 4 M 236|168 [4 [/NR=-TH|[3 #F 23 |=Eih 140.87
K= /NRF #HBATE [502 2 1 H 119 197 |4 PMRATHI|13 #® 17 |H 88
KNSR R 502 25 2 B 174 184 |27 [/NR=TH |8 & 10 |=#s 125.52
K=/ R = AR (502 & 3 H 11184 [19 /NR=THI[8 & 11 |[Eih 145.46 (&6
KF/NREFHEAE (502 & 4 H 32 [184 [21 'NE=THI[8 & 12 [=ih 12551 | &4
K=/ E A% 502 355 H 196|184 |20 [/NR=TH([8 & 13 |=ih 145.45 (5
AF/NRFHBAR [503 F 1 XH 469 1191 (4 [IR=THI6 &2 |Eih 367.59
KT /R T A% [503 2 sgmEn| 38 JH i
AF/NRF B [503 & 3 Eih 18783 (191 |5 [/MNR=THI[6 &H3 [Ei 176.33
AF/NRF A% [503 F 4 SRAEE| 947 JH i
AF/NRF B [503 &5 Eih 16764 (191 |8 [/NR=THI[6 FH6 [Eih 162.90
AF/DRFHEEZ[503 &6 AR AEH 9.75 JHIR
AF/NRFrER [503 & 7 Eih 11310 [191 |10 "MR=THI[6 &S [=Eih 114.53

FINRF AR [503 & 8 sgmEE[ 10 JH iR

FINRF A% [503 F9 Eih 12483 (191 |9 [/MNR=THI[6 FH71 [=EiH 124.31
AF/PNRFHEAE [504 F 1 XM 1509 (141 |1 [/IMNRBETHN FI17 [ 763 |9 E|

58




EEH/INRMX FR 2849 A

|BEth B xR R
[E| " T4
S hE =T I Mkl L I 2 RE [ ®a [ BE | e
FI/NRFHEATE [504 25 1 i@ 1509 77 |15 [/DRATHI[S Fe6 | 165 |53
F/ANVREF B (504 F 1 P 1509 [82 24 [/NRJ\TH |12 %22 |/ 117 (73
FINRFEHBA [504 FE 1 i 1509 (82 |7 P/MRJ\TH 12 7 23 |1 135 |9E
=/NR B {% 504 25 2 I 123 SHIR
FINRF R [504 2 3 il 726 HiB
=INR E AR |504 3 4 1 12 SHIR
FINRF A [504 &5 p 131|186 [14 [[NR=TH[7 %7 [EHh 107.85
F/NREF B (504 26 P 206 [186 |13 [/NR=TH|7 %6 |TEih 204.26
FINEF B [504 7 Eith 17014186 |11 [IR=TH[7 #&4 |EHh 164.02
FINRFHERE [505 F 1 Eih 14683 1186 |7 [/MNR=TH |7 #F 15 [EiHh 153.30
=N B |505 % 2 KEEE | 353 HiB
F/NREF B (505 2 3 P 139 [186 [1 [/NR=THI[7 %9 [=th 139.90
=/NRF B |505 & 4 e 2.57 JH R
FINRFHBA% [505 &5 Eih 2.15 SHIR
K= /R F A% [505 & 6 Eh 149271186 |5 I/MNR=TH |7 F 1 Eith 176.40
KF/NREBFE [505 & 7 £t 12782186 |3 [/NR=TH|[7 & 11 |Eib 128.55
RF/NRF BT [505 % 8 18 21 Hik
K /NE = EER [505 % O Eih 2.19 SHIR
XF/NRF R [506 & H 191 (184 |19 [/MR=TH |8 FE 11 |[Eih 145.46 |5
KF/NRFMBAE [507 & H 142 [184 [21 [/MNR=THI[8 #FHF 12 [Eih 12551 | & 6f
KF/NRF AR [508 &1 H 268 JH R
XF/NRF B [508 & 2 ARFEEE 3.30 JHiR
AF/DRFEEAEZ[508 27 H 9.91 JH iR
AT/ RF A [508 ZE 8 H 9.91 JH R
RF/INRF BT [508 &9 H 567 iz
K INR R ETE [500 1 I 555|184 [11 [/NR=THI[8 &1 [Eih 468.64 |5 ff
KFINRFIRAETE|509 & 2 i 22 1184 |11 [/MR=THI[8 F 1 Eith 468.64 | &0t
KNS E A ELE 500 3 3 1 37 _[183 [25 'NR=THI[9 F7 |[=Eth 149.15 [S 6
KAF/NRFF AL 510 3 1 P 604 [184 (28 [/NR=THI[8 #H7 |Eih 513.21 [&6f
RFNRFIRETE[510 F2 S 9378185 [6 [/NR=TH [11 & 23 |Eih 97.50
KFENRFHREE]|510 FES Eih 20287 |184 [15 /MNR=TH |8 &S5 |Fih 191.77
RF/INRFIREIE|510 FE4 Eh 16528 |184 |14 |/NR=TH |8 F4 |Eih 163.63
KFEINREFELE|510 &5 I 33 184 28 '"MNR=THI|8 FE71 |[Ei 51321 | &6t
KFEINRF S ETE 510 5 6 S 7722185 |8 [/MNR=TH[11 &1 |[£H 77.02
KFEINRFFRELE 511 &1 Eih 16500 [184 |17 ['"MNR=TH[8 &8 [=Eih 167.39
AFNRFIREE[511 &2 P 396 184 |5 [INR=THI[8 #FH28 |Eis 340.01
ARFINRFFRIEIE|512 F 1 i 159 |74 |2 [MRATHN3 FHs [MigH [ 132 |&6
KE/INREFFEAE 512 2 2 1 168 |74 |3 [/NRINTH|3 FE7 [MiEH | 132
KEINRFHETE 512 &3 M 168 |74 |6 [MRANTHI([13 ZFE6 |3 | 132
KREINRFFEAE 512 25 4 1 168 |74 |7 [MNRNTH|13 FES5 [MiEH | 132
KEINRFHEIE 512 &5 I 86 (74 [8 [/NgEN\TH[3 FE4 [HEwh [ 132 [&6
RFINRFIRIEIE|513 ZE 1 8 56 (149 [6 |/MREOTH 8 22 | 35
KNS E S ELE 513 25 2 1@ 660 (183 [15 [/NR=THI|9 #FF9 [/ 406
AF/INRFIRIETE[513 &S 1 240 (184 (1 /MR=THI|8 Fi18 [Eih 147.00
AFIDRFFETE|513 &4 X 268 [184 [25 ["NRZ=TH|[8 #& 19 [Ei 164.00
KEINSRFIEIE 514 & 1 P 143 (181 |6 |/MNR=TH |34 F 25 |[EiHs 120.12
AFIDNRFIRAETE[514 FE2 XH 148 (181 |18 [/MNR=TH |34 FE 26 |Eih 124.07
AF/INRFIFRIETE[514 FES 1 148|181 |19 NR=TH [34 F 27 |Eih 124.07
AFINRFIRAETE|514 &4 XH 143 (181 |20 [/MNR=TH |34 FE 28 |[Eih 120.14
RFENRFFREE[514 &S P 144 1181 [21 [/MRZ=TH |34 29 [Eih 120.16
AFINRFFREE[514 6 P 148|181 [22 [/NR=TH |34 F 30 |Ei 124.11
RFENRFIREE[514 BT P 148 181 [23 [/MRZ=TH [34 & 31 [Eih 124.15
AFINRFIREE[514 &8 P 143|181 [24 [NR=TH |34 F32 |Eit 120.14
AFNRFFREE[514 FO P 81 [183 |7 [NR=THI[9 #FHi6 |Eih 68.60
AFINRFIRATE|515 &1 i 1190 (181 |4 |/MNR=TH |34 F 11 [EHb 949.00
FINRFFHEE|515 &2 i 39 [181 [10 [/MR=TH (34 %9 |=ih 40
FINRFIIEIE|516 & 1 i 708 1181 [3 [/MNR=TH |34 & 23 |Eih 481.13
KFEINRFFHIEIE|516 & 2 £ 212711181 [12 /MNR=TH |34 F 12 |Fith 169.20

59



EEH/INRMX FR 2849 A

|BEth B xR R
2] . T4
G2 E B | wE | oo | BE | WE [ R | e

FINEFHREIE|516 & 3 Eih 21.39 JH i

FINRFEFRIEIE 517 & L#k 185|182 |15 [/MNR=TH [10 % 10 |Eih 22052 | &

= NS ETE 518 E 1 1 50 |141 29 PNEETH[  #H29 |Eih 38.44

= INR SR EE 518 3 2 1 80 [141 [24 /MNEFETHN F 11 =i 62.22

FINRFIETE[518 &3 i 161|141 119 MRETH[ — F 10 |Ei#h 124.31

NS ESEIE 518 3 4 1 110 144 |21 [/MREUTH[3 F 16 |EHs 84.48

=EINREFRETE 519 B 1 e 995 144 [8 [/NREATH I3 ZF 19 [/ 691

FINRFIREIE 519 F 2 semEs| 19 SHIR

=INREFRETE 520 2 1 I 1097 [137 |1 PMRATHI|23 &S5 [ 780

FINRFIREE 520 F 2 nemEn| 23 SHIR

FINRFIRETE [521 T i 2006 136 [8 |/NREAETH[21 20 [ 62 |7 E!

FINRFHRIELE 521 25 1 2006 1137 (2 P/NRETH 23 FHF4  |4# 1,369 [53

FINRFIRAEIE 522 1 P 163 1181 [26 [/NR=TH |34 & 19 [Eih 108.73

FINRFIRIEIE 522 7 2 A 52 [182 [15 ["MR=TH [10 #& 10 |Eih 22052 [ ¢
KFNRFFRETE|522 &3 i 159 1181 |27 [/MNR=TH (34 F20 [Eih 105.87
KNSR ETE |522 & 4 I 351 [181 28 |'"NR=TH |34 #F 22 |Eih 105.48 [ &
KEINRFFETE 523 B 1 P 158 (181 |28 '"NR=TH |34 F 22 |[Eib 105.48 | &6
KEINS F I ETE 523 K 2 I 208 (181 (29 |/MR=TH [34 & 21 [Eih 134.92
KFINRTF 7 A AE 523 3 3 J 178 181 [25 [/NR=TH [34 % 18 [Eih 115.76
KENMNEFHRETE]523 &4 R 171 [181 |2 /"NR=THB 34 #F 17 |E#h 111.05
KFINRFIRAETE|523 &S i 169 181 |30 [/NR=TH [34 F 14 [Ei 140.70 | &6
KNSR FEHELE 523 256 1 14 1181 |31 [/MNR=TH (34 ZFE 13 |Eith 107.72 (S8
AFINRFIETE[523 FET XH 14 1181 132 /MNR=TH[34 FHi15 |[EH 105.20 |54
KNSR FE S ELE 523 25 8 1 16 1181 |1 [/NR=TH|[34 16 |Fih 106.67 (& #f
AFINRFIRELE [524 F 1 P 217 (182 |12 [/MR=TH[10 %6 |Eih 161.06
RF/INRFIRETE [524 &2 P 217 (182 [21 [/"MR=TH 10 &S5 [E#h 160.71
AFINRFIRELE [524 F 3 i 178|182 [22 MR=TH|[10 F7 |Ei 132.06
RF/INRFIRETE (524 T4 P 178 [182 [23 ['NR=TH[10 #F4 |[EH 132.34
RF/INRFIRIELE 525 # 1 i 486173 |15 [NRATH |1 &S5 |4 313
KF/INRF IR EIE (525 & 2 18 356|182 [2 [/MNR=TH[10 2 12 |=ih 221.72
RFNRFIREIE[525 &3 ] 12 182 |18 PNR=TH[10 # 13 [Eih 8.00
AF/DRFFRETE|525 2 4 H 180 [182 |19 [/NR=TH[10 & 14 [Eth 113.14
RFINRFIAIE 525 &5 Al 193 [182 [20 [/NR=TH [10 15 [Eifh 12022
KNS Rl [526 & P 925 [182 |1 [/NR=TH |10 & 11 |/ 270 |5 &
RFINRFIEE[526 & 1 925 141 |18 /NRETH|1 F9 |/ 355 |9
ARF/INRFIREE[527 & 1 179 141 |27 [NRETH[H FEi15 [EH 110.30
AF/INRF AL 527 &2 P 179 [141 |28 /NRAETH|1 FH 16 |Eih 110.50
KEINRFIETE 527 & 3 1 174 141 |26 |[/MRETAB |1 & 14 [Eih 107.41
AFINRFIRAETE [527 #F 4 XA 187|141 |25 [MRATH[1  #F 13 |Eib 115.71
KAE IR ETE 527 &5 P 73 [141 [30 [/PRETH[ #FH28 [Eih 4518
KEINRFHETE 527 6 I 1256 (141 |20 [/MRETH|1 #F 12 |Eh 77.32
AFINRFFRETE 528 & 1A 509 [141 [16 ["NRETH[N #FH7 |Eih 322.02
AFDRFFREE[529 F XA 1024 140 |2 |[/MNRETH|2 FHE3 |1 356 |5 E
AF/DRFFRETE[529 & 1 1024 (124 |5 PMRATH [T F4 [ 35 [HE
RFNRFIRETE 529 & i 1024 [69 |9 P/MNRATH[10O FH4 |[/H 2713 |7E|
AF/INREFRET 530 & P 1183 140 |1 [MRATHI[2 #HF4 |4 782
P ENCEE S ARER KRS | 175 HiR
RFENRFIREIE[531 F 1 P 563 146 |6 |/NRPATH |5 #HS5 |EiMh 39373
KEINRFHETE 531 & 2 Mg 48 41 7 [MRETEH[1 F 23 [HEH 75 |&f6
KE/PNREFRELE 532 &1 1H 370 (141 [9 PMRETH|I #F25 [/ 256
RFINRFIRETE 532 # 2 MiE 42 a1 |7 [NRETH[1  #FE23 [#iEHh 75| &H
AFENMRFFHREE]532 F3 P 196 184 [9 [MR=THI[8 26 [Eih 150.00 | &
AF/NRFIRETE 532 &4 ] 207 (182 [3 |/MR=TH|10 F 16 |Eih 128.49
AFE/INREFRIETE (532 &S P 207|182 |16 [/MNR=TH [10 F® 17 [=Eih 12848
KF/NRFFHEE]532 &6 I 207|182 [17 [/MR=TH[10 & 18 |Eih 128.63

FINRFHRETE[533 & H 89 182 [5 [/MR=THI[10 F20 |Eih 52.00

=N AL 534 B I 76 [182 |4 ['NR=TH[10 F 19 [E#h 159.01 (S8
KIS A ETE 535 B 1 [ 145|181 |1 [/MR=TH |34 F 16 |Eth 106.67 [& 6

60




ERTNRIBR TH28%9A
B #ith 2 et BR R

IE 442 %ﬁm%

G2 S B R | oo | BE | e | WE | e
F/NRFFRIETE [535 B 2 p 144 181 [32 [/NR=TH[34 FE 15 [Eih 105.20 (&6
FINRFIEIE 535 & 3 P 46 [181 [30 [/NR=TH [34 % 14 |Eih 140.70 [
FINRFFIETE|535 &4 J 148 1181 [31 [/NRZ=TH |34 & 13 [Eih 107.72 & 6
FINRFIRETIE [535 &S Y 242 (182 [11 [/"MR=TH 10 &3 [E# 189.89
FINRFIRFEIE|536 1 P 149 [183 [8 |/INR=THI|9 FE 17 |Ei 114.55
FINRFIRETE [536 F 2 Y 140 183 [18 ['NR=TH|[9 F 18 [EH 107.63
FINRFIRIETE[536 B 3 P 144|183 [21 [MR=TH|9 FE21 |Ei 110.44
FINRFIRETE[536 F4 P 183 [183 [19 ["NR=THI[9 F19 [EH 140.48
FINRFIRETE [536 &S Je 179 1183 |20 [/MNR=THI[9 F20 [Eih 137.98
FINRFIRIETE 537 & 1 A 714 [183 [t [MR=THI|9 ZF 10 |4 518
FINRFIIETE (537 E 2 p 51 |90 19 [/MNRATHI32 #FH4 |EHh 120.12 [ &6
FINRF AT 538 & 1 1173 [184 |2 MR=THI[8 20 [/ 208 [9E
FINRFIRIETE 538 & i 1173 [183 |14 [/MR=THI[9 #Es8 [Eih 446.58 [ &l
FINRFIRELE 539 25 1 1523 1183 |11 [/MR=TH 9 FH1 |/H 228 |5 E

AF/INRFIRETE 539 &+ Ji 1523 [183 |12 /IMRZ=THI|9 &2 [/ 433 |5@
XF/NRFHRELE 539 & 1 1523|183 |6 |[/MNR=TH |9 FH 15 |IH 289 [HE
KF IR T SR EAE |540 2 1 J 33 184 |9 [INR=THI[8 26 |Eih 150.00 (& 6
RF/INRFIRETE [540 &2 P 313 (184 [10 ['"MNR=TH 8 & 27 [E# 182.87
KFINRF IR AL [541 2= H 42 184 |8 [/NR=THI[8 #25 [H 370 |&#t
RFINRFIRIETE |542 ZE 1 H 153 [183 [22 [/MNR=TH |9 FH4 |Eih 132.31
ARFINRFIRELE [542 F2 H 125 [183 |13 [/MNR=TH|9 FE3I |Ei 108.05
RF/INRFIRETE [542 & 3 i} 153 [183 [23 [/NR=THI[9 &5 [E#s 132.34
AFINRFIREIE[542 F4 H 124|183 [24 NR=THI|9 FE6 |Ei 107.38
AF/DRF I EIE 542 5 H 138|183 [25 /NR=THI|9 FE7I |[Eih 149.15 | 56
RF/INRFIRETE [543 F 1 H 497 (184 [8 |/"MNR=TH 8 # 25 |H 370 [&6t
KF/INRFFEIE [543 &6 H 232 HiR
AFINRFIRELE [544 F 1 H 287 [138 2 [NRETH|[1T FH4 |EHh 578.85 |5 f
KF/INRFFEIE (544 7 2 H 221 HiR
KF/INRFIRETE [545 FB 1 H 199 (183 |10 [/NR=TH|9 #FH 25 |Eih 135.06
KF/INRFFEIE 545 & 6 H 216 HiR
KREINRF S AT [545 2 7 H 102_[183 [17 /NR=TH[9 24 [£ih 69.12
KEINR FFEAE |546 21 H 376|182 {10 [/NR=THI[10 %*2 |MA 266
RF/INRFIRGETE [546 & 2 H 208 (183 [9 [/MR=TH |9 #FE22 [=Ei 135.06
KF/INRF IR EIE 546 & 3 H 101 [183 [16 ["MR=THI[9 & 23 [Eih 65.94
REFINRFPIRELE 547 & 1 H 309 [183 |4 [/MR=TH[9 & 13 |EHh 239.87
KF/INRFFEIE 547 & 6 H 255 HiR
AF/DRFIREIE 548 1 H 568 (182 |9 [/MR=THI[10 #1 |H 361
RF/INRFIREE[549 FE H 413 (182 |6 |/MNR=TH |10 & 21 |31FHh | 269
KFINRE IR ELE |549 &6 ] 91 SHIR
KIS E A SETE 550 35 1 M 505 138 |2 'MNRATH|7T FE4 [Ei 578.85 | & {3
RF/INRFIRETE [550 & 6 H 108 SHIR
KF/INRFFETE 551 & H 765 [141 [12 MNRETH|I FE1 | 473.61
KEINB = AETE 551 &6 H 311 HiR
KF/INRFFETE 552 &1 H 208 [141 (22 /MRETH[ #HF3 |Eh 132.36
KEINR S ETE |552 3 4 H 114 JHiRk
KF/INRFEFEE 552 &S H 256 (141 [13 P/MREAETH[ #H4 |EHh 162.55
KT /INRF FriEAE |552 25 6 H 029|141 [23 MRETH|1 FE2 |Ei 0.18
KF/INRFFETE 553 &1 H 458 [141 |11 PMREAETH[  #F 27 |Eih 408.21 &8
RF/INRFIRETE|553 # 6 H 86 [141 [11 MNRATH[M #H27 |Eih 40821 [S 6
KF/INRFEFREE 553 &7 H 84 [141 |11 PMRAETH[M #F27 |Eih 408.21 &8
AF/INRFIRETE 553 &S H 40 41 (11 PMRETHN F27 |Eih 408.21 | &
KRFINRF IR 5L 553 25 10 H 142 JH R
KEINRE SR AL |553 & 11 H 8.10 iR
AF/INREFRIETE [553 F12 H 24 JH IR
RFINRFHREIE|553 F 13 H 11 iR
FINRFFRETE 554 =1 H 397 [141 |10 /MRETH[ #F 26 |Eih 271.20
FINRFHATE 554 E 6 H 26 HIR
AFIDRFFRETE][554 FT H 278 JH iR

61




EEH/INRMX FR 2849 A

IE %ﬁi‘mgﬂll\\ﬁ
IE 4% %ﬁm%

e BE mE [ E | = |EE g BE | BE | WE | =
RKENRFFRETE [554 &8 H 185 [141 |3 INERRETH |1 & 18 [Eih 164.47
XE/NREEEILFI[555 F1 H 308 |77 1 INEJNTH |5 ) Eih 188.25
XF/NRFEEILFT[555 F?2 H 168 |77 20 /DNRI\THI FE10 |Eih 103.93
AFENRFEELIUFT|555 &3 A 1274 (191 |1 INR=TH |6 &9 Eih 796.03
KFNRFELIUFT556 B 1 =] 489 [184 |6 INR=TH |8 23 |H 314
KFENRFEZIUAT[556 &2 A 118 JHIR
KFENRFELIUFT557 B =] 199 [139 |9 INERRTH |6 & 2 H 124
AF/NRFEZIURT|557 F2 A 71 SHiR
AXF/NRFEEEILF[558 F1 H 164 142 [13 |'"NRIETH[19 #FH 37 |Eih 186.38 | & BF
AFENRFEEILAT[558 F2 H 115 JHIR
KFNRFELIUFT559 &1 =] 259 138 |4 INEERETH |7 =7 Eith 153.48
AF/NRFELILFI[559 FE2 A 187 138 |6 INRRETH |7 &9 Eih 110.67
AXF/IMRFEEL G559 FE3 H 219 [138 |7 INERRETH |7 2 Eih 130.00
AXFE/NRFELILF[559 F4 A 188 [138 |8 INRRETH |7 & 10 [Eih 110.85
RFE/NRFELIUFT|559 &S =] 251 [138 |9 INERRTH |7 &1 Eih 148.57
RENRFEELILFT[559 &6 H 39 [138 [10 "NERHRTH |7 X Eih 23.62
AXF/NRFEEILAT[560 F1 H 126|142 [13 /MR TH[19 #F 37 |Eih 186.38 | & BF
KENRFELILFT]560 F2 H 309 142 [35 [/MRPUTH |19 FE 38 [Eih 198.48
XF/PMRFEZILG561 & H 386 [181 |14 ['NR=TH |34 #FH 6 H 30 [HE
AFNRFEZLF[561 F H 386 139 [10 "NRETEI[6 &FE3 [H 216 |2 E
AF/PMRFEELILI562 FE1 H 200 [139 |15 ["NRETEI6 8 Eih 184.12
KRENMRFEZILH[562 &2 2] 277 (139 |6 INERRETH |6 & 21 |=Eih 220.16 | &1
KFENRFEELIUAT|563 & H 485 (139 [11 |/"NRETH 6 & 4 H 99 [HZ
RFENRFELILF 563 & 2] 485 139 |3 INERRETH |6 & 16 |=Eih 215.36 | ZEl
RFENRFEELIUFT564 B 1 H 89 [182 |4 INRETHI10 FE 19 |Eih 159.01 | &4t
RFENRFELILFT 564 T2 H 99 [182 |4 INER=TH 10 FE 19 [Eih 159.01 | &4t
AFDRFELIIF565 F 1 H 203 [129 |1 INRFAETH |8 & 14 |=ih 136.31
RFENRFELILFT[565 &2 2] 202 129 [19 [/'hNRETH |8 & 16 |=Eih 136.19
RFENRFEEEL U566 & pai 185 [136 [12 ['NRRETH[21 &HE 1 }+H 116
KRENRFEEZILFT[567 F H 495 [130 |2 INERETHI|28 # 32 |H 290
AXF/NRFEZILAT|[568 & H 85 139 [16 [/MRATHI[6 F9 Eih 183.71 [ &6
AFNMRFEE LA [568 F2 JKEREL 16 HR
AXF/NRFEZILAT[569 T £2] 618 (138 |5 |'MNEHRTH|7 &S5 Eih 728.93 &3
RFENRFEZLILF[570 & H 95 [139 [12 |'"NRETH |6 &5 E# 116.02 | &4t
XFE/NREEEILFT[571 F1 H 76 [139 |6 |/MNRATHI6 & 21 |Eih 220.16 [ &
AFNRFEEILF[571 F2 £2] 39 |73 7 hRATEN EF1 I 1,281 | &
XF/NRFEEEILAT[571 &3 H 56 |73 7 hMRATH E 1 I 1281 |&6F
KRENRFEEZLFI[572 & H 49 [139 |4 INERETH |6 17 |=ih 29.13
AFDMRFELIFN[573 F A 89 [139 [12 I'"NEHETH |6 %5 EHh 116.02 | &4t
KENRFELILAT|574 T A 72 139 |13 ['"NRRETH]6 % 6 Eih 74.85
XFE/NRFEEEILFI[575 F1 I 84 139 [21 [/"NRERETHI[6 FE14 |E£Hh 130.90 | & 6F
RKFENRFELILFT[575 FE2 o 63 [139 |2 INRAETH |6 & 13 [=Eih 156.19 | &4t
XFE/NREEEILAT[575 &3 1A 39 [139 [22 |'"hNERETH |6 15 |EHh 33.24
RKFENRFELILF[576 T H 152 [139 |1 INRAETH |6 12 |HA 144 | &4
AFNRFEZIFNS7T B H 459 138 |5 |'MNRARTH|7 #ES Eih 728.93 &
RKFENMRFELILFT[578 F 1 2] 100 [136 |4 INRFETH |21 FE 17 |FEH 193.09 | & 6
KENMNRFEZIUAT[578 &2 H 72 [136 |1 INEETHI[21 FE12 [Eih 136.09 | &4t
RFENRFELIUFT578 T3 H 21 |136 |3 INRETH |21 #FE 16 |FEih 134.86 | & 6
KENMNRFEZIIA579 &1 H 146 [136 |1 INEETHI[21 FE12 [Eih 136.09 | &4t
RKFENRFELILFT[579 FE 2 2] 218 [136 [22 |/hNRATH 21 FE 10 |FEih 136.06
AFDMRFELIF[579 F3 H 70 [136 [23 |/'MNEAETH |21 &FE Eih 136.00 | & 43t
KENMNRFELILFT]|579 T4 H 241 (136 |24 'NREATH [21 FE 11 |HigH 1.49
XFE/NREEEILAT[579 &S H 0411136 |25 [/NRETH [21 #F 13 |#iEH 0.25
KFENRFELIUFT[580 F H 85 [139 |16 |[/NRETH 6 &9 Eih 183.71 | &
AF/NRFEEZILAT[581 & H 119 139 [16 |['"hNREETH |6 ) Eih 183.71 | & #
RKFENRFELILFT[582 F 1 =2} 220 [136 |5 INERRETHI|21 S =ih 137.01
AFIMRFEEZILGT]|582 F2 JKERER [ 297 SHiR
AXF/NRFEZ G582 F3 H 42 1136 (20 ['"MREETH[21 FE 19 |EHh 160.91 [& Bt

62




EEH/INRMX FR 2849 A

IE %ﬁi‘mgﬂll\\ﬁ
IE 4% %ﬁm%

HE3 E wE [ EE | D= By T
KF/NRFELIUFT|582 FE4 H 99 [136 [21 [/MNRETH 21 FE 18 |Eih 129.73 | &4t
AFE/NRFEEZEILAT[583 F A 1,137 [136 [6 ["MNRATH |21 &H7 Eih 747.40
KFENRFELIUFT584 FE 1 H 208 (136 [20 |/hNRERATHI21 FE 19 |FEih 160.91 | & f
AF/NRFELILF[584 FE2 A 105 [136 21 ["NRAETH[21 &+ 18 |EH 129.73 | &4
KFNRFELIUFT|585 & 1 H 5691139 |16 [/NRFATH |6 9 Eith 183.71 | &6
AF/NRFELILF[585 FE2 A 377 1139 [24 [/NRETH |6 & 10 [Eih 235.18
XF/NRFEEEILAI[586 F Ja 413 141 117 U"NRETEB 1 x 8 E#h 65.28 [ Zl
AFENRFEELIUFT|586 & P 413 (136 [11 |'"MNERAETH |21 & 25 |/H 47 |H=E
KENRFEE L] |586 F& A 413 130 |3 INERETH |28 Z 33 |1H 43 |9 E
AF/NMRFELILF[586 F i 413 |73 2 INERATH 1 & 21 [@ 100 |9=
XFNRFEEEILAI[587 F Ja 370 [136 |15 ["NRETH |21 #&5 J 252
AFPMRFELILFI[588 FE 1 A 188 135 |4 INERETHI|22 #F*S Eih 122.33
AF/IMRFEL G588 FE 2 Je] 192 [135 12 [/NRRTH[22 &9 Eih 124.70
AXF/NMRFELILF[588 FE3 i 192 [135 |13 ['NREHRTH[22 FE 10 |EH 12457
AF/PMRFEELILG[588 F 4 Ja 188 135 |14 ['"NRETHI[22 ZFH 11 |Eih 122.27
RFENRFEELILFT[588 &S A 122 [135 20 ["NRATH[22 FHF7 semEi| 166 |4
RFENRFEEELIUFT|589 & 1 i 135 1135 |20 [/NEFETH 22 &FHE7 sepai| 166 |4
RFENRFELILFT[589 &2 A 189 [135 |15 [/NRATH[22 FH6 Eih 122.49
XF/NRFELILFT[589 FE 3 G 192 [135 |16 ["NREHRTH[22 &S5 Eih 124.77
RENRFELILF[589 &4 A 192 (135 |17 'NRAERTH |22 FHF 4 Eih 124.79
RFE/NRFEELIUFT|589 &S JG 183 1135 |18 [/NEFHETH 22 &3 Eih 118.68
AXFNMRFEEZILAT[589 F6 P 6011135 [19 ['"NRAETH [22 FE2 [MiEH 3.87
RFE/NRFEELIUAT|590 & G 743 |133 Bl4 INERRETHI|25 ZFHE6 Eih 504.62
RFENRFELILF 591 T A 816 135 |7 INERRETH 22 &1 1A 956 |&H
XF/IMRFEELILG[592 FE Ji] 661 [135 |7 [/NRFETH 22 FE 1 J 956 |& 1
RFENRFELILF[593 &1 A 245 1136 |19 [/"NRETH |21 T 24 [4@ 164
RFE/NRFELIUFT|593 &2 JG 287 (136 [18 |/hNEATH 21 23 |Eih 191.76
RENRFELILFT[593 &3 A 213 1136 [10 [/"hNRETH |21 FE 22 [Eih 142.74
AFDMRFELIAFN594 F 1 G 986 [137 |3 INERRETHI|23 #FS3 I 637
RFENRFEELILFT[594 FE 2 i 60 [188 |7 INR=TH 32 FE 13 [Eih 43.70
AF/NMRFEZILUF595 T P 1847 1136 9 |/MNREAETH |21 & 21 |/H 77 |HE
AFNRFELILF]595 F I 1847 [133B|5 [/NRETH[25 ZF 1 I 1412 |5 E
AF/NRFEEZILGN595 & P 1,847 [130 (23 ['MNRATH |28 F 20 | 27 |73
KENRFELILAT596 T & 790 133 Al4 [/MNRFETH[24 FS8 1A 614
AKFDNRFEZLIUFT]|597 &1 pui| 25 |76 6 [/NRINTHI|[2 &E17 |EH 19.34
AKFNRFELIUFT|597 FE2 & 29 HR
KF/NMRFELILFT[597 FEF3 4N FLE 6.61 B
KFNRFELIFT|597 FH4 A 3.30 SHIR
AFDMRFELIF[597 &FS G 233 [142 |3 [/hRETHB 19 FHF 17 |=E# 177.13
KENRFELILFT597 F6 & 195 [142 |4 |/NRPETH[19 FH 18 |E#h 148.99
XF/NRFEEELAT[597 &7 1 157 [142 [30 [/hRPEUTH[19 &FE 19 |E#h 120.00
KENRFELILFT]|597 FES8 J] 280 (142 |31 [/MREETH |19 #F 25 [Eih 213.73
AFNMRFELIAF598 F 1 Eih 836.36 [133 B3 INRRTH |25 &2 EHh 151009 | &
KRFENRFELILFT[598 FE 2 Eith 185201136 |14 [/NREETEH |21 FHF 4 Eih 141.47
AFIMRFEEZILG]|598 F3 Eih 6.61 |76 5 |IRINTEBI2 FEi11 |Eih 283.13 | &
RENRFELILF[598 F 4 Eih 132.15 [141 |5 INERRETH |1 & 20 [=Eih 105.89
AF/NRFEEZILAT[599 & Eih 13223 (133 B2 |'"NEETH|[25 &S Eih 137.29
RFENRFELILFI[600 F 1 L4k 1,001 [133 B]|1 INRETH |25 F 4 Eih 775.90
XF/NRFEEE LA (600 F2 Eih 41322133 Bl6 [/NRETH |25 & 3 Eih 320.20
KFE/NRFELILFT[600 F 3 Eith 995.04 [133 B3 INRETHI|25 FE 2 Eih 1,510.09 | & 63
AF/NMRFELIUFI601 F1 Eih 115.34 [133 A2 INRRETH 24 ZF 16 |E£ih 101.07
RFENRFELIUFT601 F2 AR FREEE 23 SEIR
AXF/MRFELILFI[601 F3 Eih 11527 [133 Al16 |'NRATH [24 &F& 17 |EH# 101.17
RENRFELILFI[601 FH4 =i 11533 [133 A|18 ["NRATH [24 ZFE 19 |E# 101.08
AF/DMRFELILFI[601 FES Eih 13464 [133 A|17 |'"NRATH [24 & 18 [E# 118.02
KFENRFELILFET[601 FE6 Eih 21013 [133 A[19 [/"NREATH |24 F 20 |FEih 184.27
AFNRFEELAT[601 F7 Eih 70486 [133 A[3 [/NRETH [24 FE22 [Ei#h 623.01
KFENMNRFELILFT]|601 FES8 Efh 98.64 [133 Af[20 ["NRETH |24 FE 21 |Eih 86.52

63




EEH/INRMX FR 2849 A

IE%ﬁi‘mgﬂll\\ﬁ
I=] It EES

HE3 E wE [ EE | D= By T
KFENRFELILFT[602 TF Ll #& 1,047 [133 A1 INRFETH 24 FE 15 |[IU# 796
AXF/PMRFELILFEI603 &1 L&k 182 |65 3 INEATH |5 & 13 |lu#k 128
XF/PMRFEEZLILGI[603 FE2 Jei] 876 [132 |5 INRETHI[26 # 15 |Eih 646.96
AF/NRFEZIURT]|603 F3 LLI#K 365 |77 3 |NRINTHI|5 FE12 |HiEH | 255
KFENRFELIUFT|604 T i 1,100 [136 |7 INRRETHI|21 &6 I 118 |9 =
AXF/NMRFELILFI[604 F P 1,100 |135 1 INRAETH[22 F 15 |Ei#h 389.06 |52 El
KFENRFELIUFT|604 T JG 1,100 [132 |6 INRFETHI[26 FE 1 Eith 302.59 [ E
AXF/NMRFELILFI[605 F i 899 [135 |2 INERETH 22 F 16 [H@ 569
AF/PMRFEZLILGI[606 FE 1 Ja 200 [135 |3 [/hRETH |22 217 |E# 133.06
AXF/NMRFELILF[606 FE2 i 258 [135 |9 INERETH |22 F 18 [Eih 164.55
AF/IMRFEZEILGI[606 FE3 Ja 200 [135 |10 /"hNRETH |22 2 19 |E# 133.18
AXFE/NRFELILF[606 FE 4 i 258 135 |11 [/"hNRETH 22 FE 20 [Eih 164.58
KEPMRFEEILF 607 FT1 H 370 (128 |10 |'"hNRATHI[10 FEO H 274 |&#
AXF/NMRFELILFI[607 FE2 J 62 136 [13 ['"NEETH |21 #FHE2 Eih 143.33 | & 6
KFE/NMNRFELIUFT|608 T 1 JG 159 1136 |13 [/NREETH 21 #FHF 2 Eith 143.33 |56t
RFENRFEELILFT[608 T 2 A 213 1136 [17 ["NRETH |21 &3 Eih 139.33
KFE/NRFEELIUAT|609 & JG 244 1134 |12 [/NREETH |20 ZF*F5 Eih 21503 | &{#
RENRFELILF[610 FE1 A 274 (131 |6 INRRETH |27 &1 1A 180
XFDMRFEEZILET]|610 T2 *H 99 (134 (21 I/MNRATH |20 FEF 7 Eih 131.80 [ & 6F
RENRFELILF[610 FE 3 A 204 1134 (22 [/NRETHI|20 #F*S8 Eih 134.88
KFENRFEELIUFT610 T4 I 232 [134 (23 |/hNREATHI20 ZFE 10 |Eih 153.07
KENRFEZILFT610 FES i 478 (134 |24 'NRATH [20 F&E 14 |H#iEHh 3.17
AFE/NRFEZLILAT611 FE 1 LUK 66 HR
RENRFELILFI[611 FE2 NREAER 19 SE IR
AXFE/IMRFEEZILEI[611 FE3 L £k 185 130 (22 ['"DNRETH[28 FHF 19 [MiEih 145
KRENMNRFEEZILFT[611 T4 L&k 168 [132 |8 INERRETHI|26 FE 14 [Eih 113.72
XFE/PMRFEEZILEI[611 FES TiE:S 991 1832 [3 [/NEETHI|26 &S5 Eih 680.20
KRENMRFEZILEI[611 &6 L&k 188 [132 |2 INERRETHI|26 FE 10 [Eih 132.51
AXFMRFELIFI[611 F7T LAk 991 [132 |1 INRRETHI|26 &FHE Eih 671.00
AFNMNRFEZIUFT|611 &S g3 149 HiR
AFDMRFELILFI[611 F9 Eih 11564 [130 [30 |[/NRATH [28 FH 27 [=E# 115.62
KENRFEZILFT611 FE10 Eih 8976|130 [29 ["NRETH |28 # 26 |=Eih 89.88
AXFNMRFELIFI[611 F 11 Eih 81.00[130 [28 [/NRETH[28 #& 25 |Eih 80.78
RENRFELILFI[611 F12 Eith 104.00 (130 27 |"NRATH [28 FH 24 |=E# 104.09
AXFDMRFELIF[611 F 13 Eih 7326 (130 [17 |'"hREREATH |28 FH 14 |Eih 74.28
KENRFELILFT611 F 14 LLI#k 10 JHiR
AXFDMRFELIF[611 F 15 LAk 9.29 SEHIR
KENRFEZILAT611 T 16 Eih 67721130 [19 [/"NREETH 28 #H 16 |=Eih 69.44
AXFE/MREEZLILI[611 FE17 Eih 8999130 [26 [/NRETH[28 & 23 |Eih 90.78
KFNRFELIUFT|611 & 18 Eih 93371130 [25 [/"NRERETH[28 #FHF22 |E£Hh 94.26
KENMNRFEZILFT611 FE19 LAk 2.99 HR
RENRFELILFI[611 FE 20 Eih 6895130 [16 [/MNRAETH |28 F 13 |Eih 68.54
AXFMRFELIFI[611 F 21 L4k 73 130 [15 [/"NRETH |28 ZFE 12 |[E£ih 73.39
AFNRFEZIUAT611 F 22 LLI#k 73 |130 |14 [/MNRETH (28 FE 11 [Eih 73.56
AXFE/NRFEEZILAT[611 FE23 Eih 7368 (130 [13 ["NRETH |28 Z&F 10 |E# 73.85
KENRFELILFI[611 T 24 Eih 105.37 [130 |12 [/NRATH |28 FE 9 Eih 106.18
AXFE/NRFEEZILAT[611 FE25 Eih 9435130 [4 [|/NRETH[28 FH 7 Eih 94.41
RENRFELILFI[611 T 26 =i 74211130 |5 INRAETHI|28 &FE6 Eih 75.02
AXFE/NRFEEZILAT[611 FE27 Lk 77 [130 |6 [|[/NRERETHI|28 ZES Eih 77.94
KRENRFELILFI[611 T 28 L #k 79 130 |7 INRRETH |28 4 Eih 81.06
AXFMRFELILF[611 F 29 L4k 80 (130 [8 |'"NERETHI[28 &ES3 Eih 80.08
AFMRFEEILF[611 F30 tL#k 41 [130 |10 '"MNRETH |28 FH 1 LLIAK 42
AXFDMRFELIFI[611 F 31 L4k 170 [132 |9 INRRETH |26 #& 2 Eih 115.01
KRENRFELILFI[611 F 32 L £k 158 [132 |10 "NRATH[26 ZE 3 Eih 107.79
AXFE/NRFEEZILAT[611 FE33 Lk 166 [132 [11 ['"NREETH |26 & 4 Eih 112.47
KFENMNRFELILFT]611 FH34 Lk 168 132 [4 [/NRETHI[26 ZFHE 12 |Eih 113.77
AFENRFEELIUFT|611 &35 L £k 159 [132 |7 INRRETHI|26 FE 13 [Eih 107.85
KENRFEL L6111 736 L £k 188 [132 |12 ["NRATH[26 FE 11 |FEH 132.52

64




FEH/PNRE EF284%9A8
IE %ﬁiﬂgﬂll\\ﬁ
I=] &

HE3 E BE | W | D= [ BE [ BE | e
KFENRFELILFT[611 F 37 LAk 208 [132 [13 |/ H |26 & Eith 146.44
AFENRFEEZLIUFT|611 & 38 LL#£ 213 [132 [14 |/ B [26 & Eih 149.59
RKFENMNRFELIUFT|611 FE 39 L #K 192 1132 |15 |/ 26 & Eith 134.94
ARENREELIUFT612 &1 G 326 [130 |1 / 28 & o 257
RFMNRFEEZIAN612 2 SRAER 3.30 SHIR |
AFNRFEELAT[612 FS3 P 417 1130 |31 [/MNRFAETH |28 ZF 28 [ 180 |9 =
XF/NRFELIUFT[612 FE3 Ja 417 [130 [32 [/ 28 # 29 |4@ 135 |HE
KFNRFELLF]612 F4 1H 326 [130 [33 [/1 28 7 30 [/ 670 |&6t
RKFENRFELIUFT|613 T JG 578 (130 [33 |/ 28 & 30 |}A 670 |&#
AENREEZLIUFT614 &1 i 148 131 |1 I 27 FE 13 |EH 117.21
XF/NRFELIUFT[614 FE2 Ja 144 131 |12 [/© 21 #H 14 |Eih 115.05
AFENRFEELIUFT614 &3 i 144 131 [13 |/ 27 & 15 |EH 114.90
KFENRFELIUFT614 T4 JG 143 1131 |17 |/p 27 &E 12 |=Eih 113.31
AFENRFEELIUFT|614 &S i 199 [131 [18 [/} 27 T 11 |EH 158.48
AXF/IMRFELILGI[614 FE6 Ja 212 131 |19 /hWNRETH |27 #& 10 |E# 168.01
RENRFELILFI|614 BT A 146 [131 |16 [/NRATH[27 F9 Eih 116.01
ARFENRFELIUAT|614 &8 G 144 1131 |15 [UNREFETHB 27 #FHFS8 Eih 114.81
RENRFELILF[614 9 A 144 [131 |14 NREATH[27 &HF7 Eih 114.79
KFENMNRFELIUFT614 ZF10 G 32 (131 |23 [/"hNRAETHI27 &FES Eih 129.76 | &4t
AFNMRFEZLILIFT[614 F 11 i 46 1131 |9 [MRATH[27 Fe [Ei 108.82 | &4
RFENRFEELIUFT615 B 1 JG 87 131 |9 INRRETHI|27 &6 Eih 108.82 | &4t
AFNRFEEILFT[615 F2 Y 125|131 |23 [/NRAETH([27 FS5 [EH 129.76 | &6
RFE/NRFEELIUFT615 T3 JG 158 [131 22 UNRATH (27 &E 4 =ith 129.61
RENRFELILF[615 FH4 A 133 [131 |8 INERRETH |27 #S3 Eih 108.80
XFDMRFEZ L1616 F 1 Ji] 46 (131 [3 |/hNRETBH 27 FE 17 |=£i# 38.69
AFNRFELIUFT|616 T2 Eih 360.72 [131 |2 INRRETH |27 FE 16 [Eih 293.75
RFENRFEELIUFT|616 3 JG 216|131 |10 ['"MNREETH |27 T 18 [Eih 180.42
RENRFELILFI[616 FH4 A 143 [131 |11 NRAETH[27 FE 19 |EH# 119.34
AF/NRFEZLILAT617 T A goo [131 [7 [/"NRETH |27 #&HF 2 J 531
RENRFELILFI[618 &1 i 264 (131 |5 INRRETH |27 FE 21 [Eih 368.58 | &
AFDMRFELILA618 F2 G 165 [131 |5 INRRETH 27 T 21 |EH 368.58 | &
AFNRFEZIUFT]|618 F3 A 10 HR
RFENRFEEZLIUFT619 T 1 J 173 134 |1 INRRETHI|20 &FE 11 |EHh 131.65
KENRFELILFT619 FE2 & 173 [134 |2 INERETHI|20 FE 12 [Eih 131.76
AFDMRFEZILG]619 F3 ] 168 134 [18 ["NEAETH[20 FE 13 |E#h 128.01
KENMNRFELILFT619 F4 233 134 [19 [/"hNRETH |20 &9 E# 177.25
ARFENRFELIUFT619 &S 172 [134 20 ["NRATH[20 6 EHh 131.12
AF/NRFEEILGF619 F6 87 [134 [21 ['"WRERETHI[20 FHF7 |[E£Hh 131.80 [ &4
KENMNRFEZIUAT620 F % 1268 [134 [3 ["NgRETHEI[20 F 15 [IU# 181 |&6
AFIMRFEZILET[621 &1 H 74 [128 |8 |/MNRERFAETH|10 FS5 |Eih 154.02 [ &4
XF/NRFEEEILAT[621 FE2 A 196 [128 |9 INERRETHI1I0 &6 Eih 154.02
AFIMRFEEZILAT[621 FE3 H 27 128 [10 ["MNREATH |10 #F9 H 274 | &6
KENRFEZIUFT621 &4 H 97 [128 |21 VNRETHI[10 F 2 |E#s 121.34 | &4
AFNRFEZIUFI622 T H 125 |63 10 /"MRATEH |7 E1 Eih 90.32
AFDMRFELILF[623 F H 267 142 |8 [/MNEETHIN19 16 |[H 189
KENRFELILAT]624 F 1 H 339 |9 10 PMRATEH[9 FH4 Eih 225.88
AFDMRFELILF[624 FE2 A 138 |65 14 [/MNEATH |5 & 7 Eih 130.11 | &6t
RENRFEZIUFT[624 F 3 H 16 [134 |6 INEERETH[20 & 22 |HMiEH 11
AXFDMRFELILF[624 F4 A 38 [136 |3 INRRETH |21 & 16 |E£ih 134.86 | &6
RENRFEZIUFT[624 FES H 38 136 |4 INERETH[21 &E 17 |Eih 193.09 | & 6
XFE/NRFEEEILAT[624 &6 H 144 |65 15 /MNEATH |5 &8 Eih 110.06
KENRFELILFT]625 F A 175 134 [7 [/DMRETH[20 F 1 MEFEHD 120
AF/DMRFELIIF[625 F2 K ERER 99 SHIR
KENRFELILAT]626 F 1 H 163 136 [2 [/"DNRETH[21 FE 14 |Eih 11557
KENMNRFEZIUAT[626 T2 H 148 [136 [23 ["NREETHI[21 FH9 |E#s 136.00 | & 43
KFENRFELILFET[626 FEF3 2] 129 [136 |3 JiN H[21 #F 16 |=E#h 134.86 |56
AF/DMRFELILF[626 F4 A 130 136 |4 I B 21 F 17 |E# 193.09 | & 4
KFENMNRFELILFT]626 FES H 164 136 [16 ['"NRETHI[21 ZFHE 15 |Eih 115.67

65



EEH/INRMX FR 2849 A

IE %ﬁi‘mgﬂll\\ﬁ
IE 4% %ﬁm%

HE3 E wE [ EE | D= By BE [ ®E | mE | e
RFENRFELINF[627 T H 247 |[138 |1 INRAETH |7 6 Eith 42225 | &
KFENMNRFEZIUAT[627 T2 A 53 [139 [1 INRETHI ZFE12 (A 144 | &
AXF/NRFEEILAT[627 FES3 H 226 (139 23 |["NRETE 6 %11 |H 151
AFENRFEZILFT628 F 1 ] 426 [138 1 [hNRETE[7T FHEe [Ei 42225 | &
RFENRFEL AT 628 FE2 H 152 [139 |2 INEERETH |6 & 13 |=ih 156.19 | &6
AFENRFEZILF629 F 1 ] 3t 139 [+ [hgEETEI[e Fi12 [H 144 | &6
RKEPMRFEEILF]|629 T2 H 10 [139 |2 INRRETEH |6 # 13 |[=ih 156.19 | & 63
KFENMNRFEZIUAT[629 &3 H 9% [139 |21 /NRETE |6 #F 14 |Eih 130.90 [ &3
AXF/PMRFEL G630 FE H 89 133 Af10 ['/NRETH |24 ZF3 E#h 51.46
AENREEZLIUFT631 &1 H 182 [133 A9 INRRETH |24 T 24 [Eih 105.50
RFENRFELIUAT631 2 =] 182 [133 A[21 [/NERTHB[24 & 25 |=Eih 105.68
AFNRFEELAT[631 FS3 H 292 [133 Al22 ['NERRTH |24 26 [FEih 169.00
AF/PMRFEELILEI[631 FE 4 H 207 133 Al[23 [/NEETH |24 &1 Eih 120.05
AFENRFEEZIUFT|631 &S H 119 |133 Al24 [/NEFETH |24 &2 Eih 69.00
AF/PMRFEZILGI[631 FE6 H 157 139 |5 INRRTH |6 19 [E£ib 104.60
KENRFELILFT]631 FE7T A 371 [139 |25 ["NRETE |6 % 20 |Eih 246.56
ARFE/NRFEELIUFT|631 &8 H 214 [139 [26 |/"NRETH 6 & 18 [EHh 142.49
AFNRFEEIIF[632 F1 H 172 (129 [22 /NRETHI|8 # 23 |A 149 |58
XFDMRFEEZILGT]632 F2 H 217 1138 |3 [/MNRFETH |7 & 13 |[H 145
RENRFEELILFT[632 ZE 3 2] 161 [129 |8 INERETH |8 22 |A 110
KFENRFEELUFT|632 T4 H 220 (138 [11 |'"hNRETH |7 14 [H 147
RENRFEELILFT[632 &S H 220 138 |12 [/"NRETH |7 & 3 H 146
AFE/NRFELIUFT|632 &6 H 220 (138 [13 |'"hNRETH |7 11 |H 146
RENRFEELILFT[632 T 2] 3.18[138 |14 ['NREATH |7 12 |[A 2.00
RFENRFEELIUFT633 &1 H 204 |[129 |7 INRFETH |8 %3 H 149
RFENRFEELILFT[633 FE 2 2] 151 [129 |20 |"NREATH |8 & 4 H 110
ARFE/NRFEELIUFT|633 3 H 151 [129 |21 |"NRETH |8 21 (A 110
RENRFELILF[633 F4 2] 2111129 |23 [/NRETH |8 & 20 (A 1.54
XF/NRFEEILAT[633 FES H 42 (129 (22 'hNEETHEI8 FE23 |H 149 &6
AFNRFELILF634 F 1 H 208 [128 |4 |/hNRETHI[10 #FHF21 [FEis 1,077.99 [& 6
KENMNRFEZILAT[634 &2 JKEREL 69 JHIR
AKFNRFEZIUFT]|634 F3 2] 191 [128 |4 INERETH 10 FE 21 [Eih 1,077.99 | & 63
AFIMRFEZILFT]634 F4 £2] 92 SHiE
AF/NRFEEILG634 FS £2] 46 JHiR
AFDMRFEZLILT635 &F 1 H 941 [128 |2 INRRETH |10 &FE 19 |Eih 690.22
AFNMRFEZILT[635 F2 H 796 184 |7 ['NRE=THI[8 FE 24 |E# 639.22
AXFNMNRFEZILT[637 & H 469 (142 |27 ['MNRETH 19 & 14 |[FEih 305.09
KENRFEZILT (638 F H 505 142 (26 [/NRPUTH 19 FE 13 [Eih 203.89 | Zl
AFDMRFEZLILT (638 F H 505 (133 Al12 ['"hNERETHI[24 &FE 11 |EH 246.20 |l
RENRFEZILT[639 F H 641 196 Bl12 [/NR=TH |29 & 3 H 497
AFDMRFEZLILT (640 F H 975 [129 |6 INRFETH (8 & 2 Eih 302.53 | Zl
AFNRFEZILT|640 T A 975 [128 |12 /"hWRETEB |10 # 13 |E# 420.42 [ Z
AXFENMRFEZLT[641 F H 105 [128 [13 ["hMREETH[10 & 14 |E£Hh 17312 | &6
AFNRFEEZLT[642 F1 H 168 |63 11 hRATHE|7T #FA4 Eih 119.36
XFENMNRFEEILT[642 &2 H 153 |63 18 'MNEATH |7 E3 Eih 107.73
AXFNRFEEILT|642 B3 A 27 |63 17 MNRATEH|7T #F?2 Eih 18.90
AXFENMNRFEEZILUT[642 T4 H 30 |61 6 |"MNRERATH[NS &HE3 £2] 22
AFNRFEEILT|642 FS H 107 |59 9 |MNRATH 17 #HES H 74
AFDMRFELILT(642 F6 A 159 [129 |11 ["hNRATH |8 11 [EHh 118.04
RENRFEELZILT|642 T 7 H 148 [129 |12 ['NREAETH |8 &9 Eih 109.01
XFENMNRFEEILT[642 &S H 155|129 [13 ['"MRATH I8 &HE 7 Eih 114.39
KFENRFELILT[642 FE9 2] 149 1129 |14 [/NRETH [8 # 12 |[=Ei#h 109.92
XFENRFEEZILT[642 F 10 H 148 1129 [15 ['"MNRATH[B &5 Eih 108.96
RKFENRFELILT 642 F 11 A 45 129 [16 [/NRETH |8 & 10 2 33
AFDMRFEELILT (642 F 12 H 72 1129 [17 [/"hNRETH |8 & 8 NS R EER 53
RKFENRFELILT (642 F13 H 39 129 |18 |['hNRETH |8 6 NRRES 29
XENMNRFEZIIT(642 FE 14 H 170129 |9 |"MNRETH |8 F 13 |MiEHh 1.24
RKENRFELILT[643 &1 1A 1175 [127 |7 INERETH 18 & 1 1A 977
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KFENMNRFELIIT 643 FE2 Ji] 367 128 |14 [/"hNRETH |10 ZFE 15 [Eih 306.40
AXFENMRFEZILUT[644 T [ 135|128 [13 ["hREETH[10 F 14 |£Hh 17312 | &8
AFPMRFEZILT[645 FE1 Jei] 27 124 [13 MRETH |11 FE12 |E£ih 21.47
AFNRFELILT[645 FE2 i 251 124 |12 [/"hRETH |11 FEF 13 [Eih 219.88
RFENRFELILUT|645 T3 JG 165 [124 |9 INRRETH |11 &FE Eith 160.61
AFENMRFEELILT[645 FE4 i 94 [124 |10 ['"NERETH |11 FE 10 |EH 70.23
AXFNRFEZILT[645 FES Ja 104 |124 [11 hNRETEH[NH1 FE 11 |Eih 80.25
AFNRFELILT(646 &1 i 317 (128 |1 INERETHI10 FE 16 [Eih 261.87
AXFNRFEZILT (646 F2 Ja 192 [128 [18 ['"hNRETHI[10 ZFH 17 |Eih 158.80
AFNRFELILT[646 FE3 i 164 [128 |19 ['NEHRTH[10 FE 18 |EH 135.12
AXFNRFEZLILT[647 T H 614 [129 |3 [/NRETH I8 & 18 [Eih 410.49
AFNRFELILT (648 FE A 800 [142 25 [/MNREUTH 19 FE 12 [Eih 463.89
RKFENRFELIUT|649 &1 =] 522 124 |4 INRFETH |11 &FES3 H 358
AFNMRFELILT(649 FE2 A 200 (124 |15 |/"hREREATH |11 FE 29 |=Ei 137.11
AXFNRFEZILT[649 FE3 H 200 [124 |14 [/"DRFETH 11 FE 1 E#h 137.15
RENRFELILT[649 FH4 2] 250 124 |16 [/MNRETH |11 FE 28 [Eih 171.94
AFDMRFELILT[649 FS H 168 [124 |17 ['NRETH [11 &FE 2 Eih 115.80
RENRFEZLILT[650 &1 A 818 [124 |3 INERRETH |11 &S A 555
XF/NRFEZILUT[650 FE 2 Mg 136 124 |7 /NRETH[H1 ZH7 Mg 112
KENRFEZILT|651 &1 i 142 [124 |1 INERETH |11 FE 16 [Eih 119.10
AFENRFEEZEELILUT|651 T2 i 138 [124 |2 INRRETH |11 & 27 |Eih 116.04
KENMNRFEZILT|651 F3 i 138 (124 |18 "NRHRERTH [11 &FE 15 |EH# 116.10
AFENRFEEZLILUT|651 T4 JG 138 1124 |19 [/NEFETBH 11 FHE 14 |=ih 116.11
AXFNRFEZILT[651 &S P 52 [124 |20 /NRETB |11 F 17 |E#h 4414
AFDPRFEZLILT|651 F6 pui| 52 (124 (21 MRETH |11 FE 18 |EHh 44.15
RENRFEZLILT|651 &7 A 135 [124 |22 /NREAETH[11 F 21 |EH# 113.00
AFENRFEEELILUT|651 &8 JG 138 1124 |23 [/NEFRETH 11 #FHE 20 |[=ih 116.02
RENRFEZILT[651 &9 A 145 [124 24 /NREAETH[11 F 19 [EH# 121.35
AFDMRFEZILT|651 & 10 G 125 (124 |25 [/NEFRETH [11 #FHE 25 |[=Eih 120.11 | &4t
AFNMRFEEZIT[652 F 1 Eih 9561 (123 |20 ["MNRFATH 12 F 14 |Eih 9751 | &6
AFDMRFELILT[652 F2 AR 69 SEHIR
KRENRFEEZILT|[652 F4 NREAES 14 SE I
AFDMRFEZLILT[652 &FS Eih 112141123 [16 |/DNRETH [12 F 10 |E#h 113.62 | &4t
KENRFELILT|652 F6 Eih 100.38 (123 22 ["NRHRTH [12 F 16 |EH 100.66
XFNRFEEILT[652 &7 Eih 100.09 [123 [21 ['"NRETH [12 #H 15 |Eih 99.78
KENRFELIIT|652 FS8 Eih 1761123 |20 [/"hNRETH |12 TFE 14 [Eih 9751 | &1
AFDMRFEZLILT(652 F9 AR 5.04 SEHIR
RENRFEEZILT[652 F 10 Eih 1211123 |16 [/"hNRETH 12 F 10 [=Eih 113.62 | &4t
AXFE/NMNRFEZILUT[652 F 11 Eih 10025 [123 |18 |'NRRTH[12 & 7 Eih 100.25
AFNRFELILT]652 & 12 Eih 13351 [123 [12 '"hNREETH[12 ZFH 6 Eih 134.21
AFDMRFEZLILT[652 F 13 Eih 400 (123 (17 [/"NRETH [12 & 11 |Eih 4.00
KFNRFEZIUT|652 & 14 Eih 078 (123 |18 ["MNRETH |12 F 12 |Eih 0.75
AXFENMNRFEZILUT[652 &F 15 Eih 322123 |19 ['hNRARTH[12 &H 13 |[EH# 3.24
AFNRFEZLILT|653 F1 A 202 |26 33 "NRETHB 30 FH 20 |asmawm| 426 |&6
AFPMRFEZLILT[653 F2 H 171 123 |10 [/NRFETHB [12 &3 Eih 138.89
RENRFEZILT[653 &3 H 153 [123 |23 'NRARTH[12 E 4 Eih 124.30
KENMNRFEZIIT[653 &4 H 50 |26 42 [/hRETH[30 #& 22 |[HiEh | 422 | &
AXFNRFEEILT|653 BS A 58 |26 34 'NRETHE 30 FE21 [EH# 23353 [& 6
XFENRFEEEILT[653 &6 H 119 |26 39 '"MNRERETH 30 FE24 [Eih 134.80 | &6t
RFENRFELILT[654 & A 439 [123 |8 INERETH 12 F 1 H 305
AFDMRFEZLILT655 &1 H 183 123 |6 INRRTH |12 & 23 |Ei# 136.69
AFPMRFEZILT[655 F2 JKERER | 128 JHiR
AFDMRFEZLILT[655 F3 H 149 [122 |7 INRFETH[13 &1 Eih 110.16
KENMNRFEELILIT]655 F4 H 149 [122 |12 'hRETH[13 F2 Eih 110.00
AFDMRFEZILT|656 &1 H 206 123 |5 INRRTH 12 & 21 |EH 159.41
AXFNRFEZILT|656 F2 JKERER 52 JHiR
AFPMRFEZLILT[656 F3 A 64 [123 (24 'NREETH |12 FE 22 [E£# 49.70
RKFENRFELILT[657 F H 639 [123 |4 INRFETH |12 F 20 |FEih 548.53
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KFENRFELIIT]658 F 1 H 6.00 [21 6 [/hRJ\THI|20 F*2 Eih 5.01
AFPMRFEZLILT[658 FE2 H 203 [121 |9 INERETH 15 &1 Eih 157.39
XF/NRFEZLILUT[658 FE3 H 24 (123 [7 |/WRETB 12 F*24 |E£i 17.98
ARFEPNRFELILT[659 F1 Eih 9985121 |5 [/NRETH[15 FE 12 [E# 151.93 | &4
RKFENRFEELILUT|659 &FE2 Eih 118.99 [121 |8 INRAETHI|I5 FE 15 |FEih 14041 |56t
KFENMNRFELILT|659 &3 Eh 3359121 |7 [/NRETH[15 F 14 [E# 102.71 | &6
AXFNRFEZILUT[659 F4 Eifh 3655 (122 [10 |/NRETH |13 FH 4 E#h 84.94 | &4t
ARFEPNRFEZLILT[659 &S Eh 97.18 [15 Alo  [/NR\THI[25 FHFE8 |EH#s 107.67 | &6
RKFENRFEELILUT|659 &6 Eih 897121 |8 INRAETHII5 FE 15 |FEih 14041 |56t
AFPMRFEZLILT[660 &1 =it 101.01 121 |13 [/NRETHB[15 &S Eih 101.23
RKEPMRFEEILT|660 &8 A 7.18 SR
XF/NMRFEZLILT[660 F9 P 189 SHIR
KEPMRFEEILTI660 F 10 A 1.27 SR
AFNMRFEZILT (660 F 11 =it 100.95 [123 |1 INERETH 12 FE 17 [Eih 101.65
AXFEPMRFEZILT (660 FE 12 =iy 10099 (121 |12 NRATH [15 &E 4 Eih 101.22
RENRFEELILT[660 F 13 Eih 106.06 [121 |11 [/NRATH [15 &HF 3 Eih 105.88
AXFPMRFEZILT|[660 FE 14 Eih 10093123 [2 ['"NRETH[12 ZFH 18 |Eih 101.55
KENRFEZILT 660 FE15 Eih 10595 (123 [3 [/MRETH[12 FE 19 |Eih 106.62
AFPMRFEZILT(661 FE1 Eih 86.99 /120 [15 [/"NERETHB 14 #H 10 |Eih 87.20
AFNRFEELT|661 F2 P 4.09 JHiR
KFENRFEZLILT[661 S EMAM | 188 JHIR |
KF/NRFEZIUT 661 F4 Eh 160771121 |2 [/NRATH |15 &6 |Eh 33045 | &6t
AFENRFEEZLILUT|661 TS Eith 20156 [121 |2 INRRETHI|I5 &6 Eih 33045 | &
RENRFEZILT[661 &6 Eih 12468 [121 |14 [/NRATH |15 FHF7 Eih 125.56
AXFEPMRFEZILT[661 F7 Eih 168.43 [121 |1 INERRETH 15 &9 Eih 165.54
RENRFEZILT[661 &8 Eih 85391120 [17 VNRERETB |14 #FH 12 |=Eih 86.03
AFENRFEEZLILUT|661 9 Eih 82.58 [118 |9 INERRETHI|16 #FES Eih 83.29
RENRFELILT[661 F 10 Eih 79371116 |16 [/"hNRETH 31 F 1 Eih 80.33
AXFE/NRFEZILUT[661 F 11 Eih 6141 (116 [13 /MNRATH 31 FE 19 [EH#h 62.29
RFENRFELILT (661 F12 Eih 57.72 |19 2 INEINTH 21 &7 Eih 57.72
AFDMRFELILT (661 F 13 Eih 57.78 |71 15 [/NRATE [2 & 20 |[=Eih 57.70
KENRFELZILT|661 F14 Eih 7302 [122 |3 INERRETH |13 &S E# 73.89
AXFDMRFEZILT|661 F15 Eih 8823(118 [7 |'NREETHI[16 &3 Eih 88.23
RFENRFELILT (661 T 16 Eih 80391120 [11 [/NEETH |14 #FHS8 Eih 81.17
KENMNRFEZIIT|661 FE17 P 30 JHIR
KFNRFEZILT|661 & 18 A 0.04 SE I
KENMNRFEZIIT|661 FE19 Eih 8.14 JHIR
KFNRFEZIUT|661 20 Eih 13.46 JHiR
AFDMRFEZLILT662 &1 Eih 22017 (116 |11 [/"hRERATH |31 & 18 |Eih 221.36 | &1
AFNMRFEZILT[662 F2 JKEREL 33 JHiR
AFDMRFEZLILT[662 F3 H 148 116 [12 [/NREFETEBE |31 #FHE: 4 Eih 148.94
RENRFEELILT[663 &1 H 1,260 [126 |1 INRFETHI19 FE 17 |48 1,019
AXFENMNRFEEILT[663 &2 pui 92 |33 30 '"MRETH |28 FH4 1 80
KENMNRFELILT]663 F3 A 19 [116 |3 [MNRFETHI[31 F12 [/@ 13
ARFEDNRFEZLILT (663 F4 BEAM | 109 SHIR
KENRFELILT|663 FES & 760 (117 |2 /NRFETHI[30 FE6 =i 723.60
RKFENRFEZLILT[663 &6 BEAM | 545 SHIR
RENRFEELZILT|663 7 H 2031 (125 |11 /MNRATHI[29 ZES G 1,400
AFPMRFEZLILT(663 FS8 Eih 182.67 [118 |1 INRRTHI|16 T 14 |EH 252.40 | &1
RENRFEZILT[663 &9 =i 12559 [117 |8 INRAETHI|30 ZF 4 Eih 124.36
AXFNMRFEZILT|663 & 10 I 207 (118 [10 |'"hREATHI[16 &FE 11 |EH 165.51
RENRFEZILT[663 & 11 Eih 3364 (125 |6 INRETHI|29 F 13 |FEHh 250.27 | &1
AFDMRFEEZILT (663 F12 e 495 (118 |14 ['"NRATH |16 FHE 9 A 419 [H=F
RENRFELILT (663 F 12 J 495 [117 |6 INRAETHI|30 #F2 G 15 [9=
AXFENMNRFEZILUT[663 FE12 J] 495 117 |10 "MNRATH |30 FH 7 Eih 9.01 [5F
RKFENRFELILT[663 F 13 NREAES 94 SEIR
XFENRFEEZILT (663 FF 14 [ 477 (117 |5 |IMNRAETH|30 FHF 1 P 408
AFNMRFEZILT[663 F15 1 1461 1209 19 [/MR—TH[20 #F 4 |/H 740 |HE|
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RKFENRFELILT[663 F 15 I 1461 [126 |15 B [19 F 11 |E#h 379.81 | Z|
AXFDMRFEZILT (663 F 16 A 327 (117 |1 / H[30 #* 8 Eih 299.63
RKFENRFELILT|663 FE17 AR FREEE 10 SEIR
XF/NMRFEZILUT[663 F18 Eih 91.19 (119 |4 17 & 12 |=E# 90.06
AXFEPMRFEZILT (663 FE 19 Eifh 90.88 [119 |5 17 #F& 13 [=Eih 91.56
XF/NMRFELILT[663 FF 20 Eith 9457119 |6 17 & 14 |=H# 9455
AFPMRFEZILT (663 FE 21 Eifh 11433 [119 |7 17 #F& 15 [Eih 114.73
AXFNMRFEZLILT (663 FE 22 nempER| 156 SEHIE
RKFENRFELIUT|663 & 23 Eih 103.15 [126 |14 |/ 19 & 10 |[EH# 104.80
AXFNMRFEZILT|663 & 24 Eih 101.05 [126 [13 |/ 19 &9 Eih 101.68
AXFPMRFEZILT (663 FE 25 Eih 101.09 [126 [12 |/ 19 FE8 Eih 101.44
AXFNMRFEZILT (663 FE 26 Eih 115.79 [126 |11 |/ 19 &7 Eih 116.77
AXFPMRFEZILT (663 FE 27 Eifh 118.16 [126  [10 |/ 19 FE6 Eih 119.11
AXFNMRFEZILT (663 FE 28 Eih 9521 [126 |9 / 19 &5 Eih 95.36
AXFPMRFEZILT (663 FE 29 Eifh 100.08 [126 [8 19 FE4 Eih 100.48
RENRFELILT[663 & 30 Eih 10053 |[126 |6 19 &2 Eih 100.98
AFPMRFEZILT (663 F 31 Eih 34871125 |6 29 #F* 13 |Eih 250.27 | &
RFENRFEELILT (663 7 32 Eih 1258 [125 |6 29 FE 13 [=Eih 250.27 | &
AFDMRFEZLILT (663 F 33 Eih 119.00 [117 ]9 30 &S5 Eih 119.00
RFENRFELILT (663 & 34 Eih 11059 [117 |7 30 &3 Eih 110.32
AKFENRFEEELILUT|663 & 35 Eih 11235 [117 |4 30 F 10 |=EH# 112.74
RFENRFEELILT (663 7 36 Eih 107.80 |117 |3 30 &9 Eih 108.95
AXF/NMNRFEZILT[663 37 Eih 101.08 [125 |2 29 &9 Eih 101.58
RFENRFEELILT (663 7 38 Eih 104.89 [125 |3 29 FE 10 [=Eih 106.34
KFENRFEEELILUT|663 & 39 Eith 106.91 ]125 |5 29 F12 |=EH# 111.39 | &6t
AFDMRFEZILT[663 F 40 Eih 10.13 125 [6 29 E13 =i 25027 | &6t
RFENRFEEELIUT|663 & 41 Eih 105.70 [125 |6 29 #FE 13 [EHb 250.27 | & {#
RFENRFEELILT (663 FE42 Eih 535125 |5 29 12 |EH 111.39 | &4t
AFDMRFEELILT (663 F 43 Eih 119.11 [125 |4 29 FE 11 |EHh 120.71 | &6t
RFENRFELILT (663 & 44 Eih 096 [125 |4 29 11 |EH 120.71 | & 6t
AFDMRFEELILT (663 F45 Eih 120.74 |119 |8 17 &1 Eih 121.41
RFENRFEELILT (663 FH 46 SR FREEE 88 SEIR
AFDMRFEELILT (663 F47 AR 42 SEHIR
RFENRFEELILT (663 FH 48 Eith 127.38 [119 [10 17 & 3 Eih 128.85
AXF/NMNRFEZILT[663 F49 Eih 101.05 [119 |11 17 &4 Eih 101.82
RFENRFEZLILT[663 F 50 AR FREEE 5.18 SEIR
AXFDMRFEZILT (663 F51 Eih 91.89 [118 |1 16 & 14 |Eh 25240 | &3
RFENRFEELILT (663 F52 Eih 101.60 [119 [12 17 &S Eih 102.92
KENMNRFEZIIT 663 FE53 1 11 JHIR
RENRFELILT (663 & 54 AR FREEE 3.68 SEIR
AXFDMRFEZILT[663 F 55 AR 0.87 SEHIR
KFENRFELILT[663 F 56 Eih 30.11 {125 |6 29 & 13 |=Eih 250.27 | & #
AXFDMRFEZILT (663 F57 Eih 14314 [118 |4 16 7 18 |=Eih 143.08
RKFENRFELILT[663 FE 58 ] 153 118 |5 16 &1 Eih 145.39
AXFDMRFEZILT (663 F59 Eih 20282 [119 |3 17 & 11 |EH 187.38
RFENRFEZLILT[663 F 60 KA 141 112 |19 3 & 14 [4@ 108
AFDMRFEZILT (663 F61 pui 197 [112 |18 3 & 13 [ 151
AFNRFELILT][663 262 P 264|127 |5 18 &7 Eih 207.51
AFDMRFEZILT (663 FH63 Eih 119.10 [127 |2 18 & 4 Eih 95.17
KFNRFEZIIT|663 & 64 Efh 15.53 JHiR
KENMNRFEZIIT[663 & 65 Ji] 481 JHIR
KFNRFEZILIT|663 & 66 Eih 8.79 JHiR
KENMNRFEZIIT 663 FE67 Ji] 7.45 JHIR
RKFENRFELILT (663 F 68 J 7.95 SEIR
AFDMRFEZILT (663 F 69 A 239 |33 25 28 &3 i 213
KENRFEZILT (663 F 70 A 139 119 |1 B [17 &8 Eih 111.31
AFNMRFEZILT(663 F 71 P 63 [119 |14 B[17 &7 EH 118.10 | &6t
KFENRFELILT[663 F 72 I 167 119 |15 17 &9 Eith 134.09
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KFENRFELILT[663 F 73 JG 55 119 |2 INRAETH |17 FE 10 |FEih 134.19 | & 6
AXFNMRFEZILT|663 & 74 i 84 [119 |14 [!"NRERETH |17 &HFF 7 Eih 118.10 | &4t
AXFNRFEEILUT[663 FT5 1 147 119 [13 'hNRETH[7 ZFH 6 Eith 118.15
XF/NMRFEZILUT[663 F 76 P 964 [125 |10 "MNRATH |29 FH6 P 707
AXFNRFEEILUT[663 F 77 *H 101 126 |2 [/NRETHI[19 ZFHE 20 |Eih 82.98
AXFNMRFEZILT (663 F T8 J 333 [127 |1 INERRETHI|18 #S3 Eih 259.58
AXFNRFEEILUT[663 F79 Ja 2062 [127 |6 |/NRERTH[18 FHE2 Eih 1,676.41
AXFNMRFEZILT|663 &80 i 248 1160 [12 [/NRPUTH |1 E 1A 195
AXFNRFEEILUT[663 F 81 Ja 1370 [179 |1 INRZTH |2 % 6 Eih 1,050.81
AXFNMRFEZILT (663 & 82 i 228 |46 5 INERETHI|16 #FHE?2 Eih 198.68
AFPMRFEZILT]663 FS83 *H 507 |47 10 PMNRETH[15 F 1 *H 429
XF/NMRFELILUT (663 &84 P 71 (112 17 |/MNRIRTH |3 & 12 |HH 56
AXFNRFEEILUT[663 F85 Je] 520 [118 |11 [/MRATH |16 & 13 [ 403
AXFNMRFEZILT (663 & 86 i 232 (118 |13 |'"hNREATH |16 &FHE 16 |EH 191.90
AXFNRFEEILUT[663 F87 *H 159 118 [16 ['"NRETHI[16 ZFHE 17 |Eih 131.27
RENRFEELILT (663 7 88 A 114 119 |2 INERRETH 17 FE 10 [Eih 134.19 | &4t
AKFENRFEEZLILUT|663 &89 JG 475 1126 [18 [/"MNEETH 19 FEF 19 [EHb 384.77
RENRFELILT[663 FF 90 A 367 126 |19 [/"hNRETH 19 FE 18 [Eih 297.68
AXFDMRFEZILT 663 91 P 188|126 [16 [/MNRATH |19 F 16 |/H 144
AFNRFEZILT|663 F 92 P 187 (126 [20 "MNRETH 19 FE 15 4@ 144
AXFENRFEEELILUT|663 & 93 i 188 1126 |21 [/NEFRETH 19 #FHE 14 |=ih 144.96
RFENRFELILT (663 & 94 A 188 [126 |22 "NRAETH[19 &+ 13 |EH# 145.22
RKFENRFEEELILUT|663 & 95 JG 189 1126 |23 [/NEFRETH 19 FHE 12 |[=ih 145.92
AFNMRFEEILT[663 F96 *H 64 |46 17 !MRETB 16 &3  |Eih 55.75
AFENRFEEELILUT|663 & 97 JG 181 118 |18 [/NEFRETH |16 &FHE 12 |=ih 145.06
AFNRFEELT|664 F A 459 |66 12 /MNRATH (3 1 1A 345 | &4
RFENRFEEELIUT|665 &1 i 153125 [14 |/"NRETHI[29 ZFH 4 I 1.18
RFENRFEZILT[665 &2 A 245 1125 [15 [/"NRETH |29 #&HE?2 Eih 178.60
AFPMRFEZLILT[665 F3 A 454 1125 |12 [/NRETH 29 FE 1 Eih 348.35
KENRFEELILIT|665 F4 A 89 [125 [13 '"NREHETH[29 FE3 E# 178.78 | &4t
XF/NRFEEILT[665 &S A 150 |125 [13 [/"MRFATH[29 F 3 Eih 178.78 | & 6
KENR =52 666 5 1 LAk 289 (133 A[13 /"MNRAETH [24 F 12 [lLu# 221
KEINR S HH 666 25 2 sRmESE| 19 JH R
KNS F S EHH (666 % 3 eSS 19 JHIR
AFENRFE i [666 F 4 LAk 113 [137 |4 INRRETHI23 #FH6 EHh 134.00 | &4t
KEINRFEH (666 FS Lk 148 137 [7 |'"DNRERETH|[23 F 2 E# 118.96
KFENRFEFiH (666 &6 LAk 126 204 |23 [/NE=TH |21 &HE 12 |=ih 116.02
RKENRFEFih (666 FE 7 LAk 204 1131 |4 [/NRETH |27 TFE 20 [Eih 172.46
RFENRFEHH 667 &1 tL#k 290 [196 B|17 ["NR=THB 29 &HE 1 LLIAK 87 |HE
e S R IS 290 (73 |5 [MRATHI[T #F35 |EMh 123.00 [ &
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KFENEFEHE [711 F32 Eih 920112 |8 [/NRATHI[3S FH3 |[Ei 132.36 &
KXFEPNRFEHE |711 %33 Eih 255|117 |2 [/MRNTH([23 #F3 |Eis 206.95 | &
AFPDRFHFE [711 F34 £t 252117 11 D/RINTH[23 FES5 |Fhb 10743 | &4
RFENRFEHZE [712 F1 Eih 663.01 |18 7 |IhNRNTH[22 &5 |[EH 532.00
AFNEFHE (112 F2 ARAEE| 46 JH i
KFNREEZE 712 253 Eih 1323518 |4 [/NRJ\TH |22 & 1 Eith 132.32
AXEINRTHE [112 K4 Ei 2399018 |9 [/hgRN\TH[22 FH4 [Eih 19.42
KENSFHE (713 & IS 489 [22 |7 [/hgRNTHI[27 %4 |=ih 412.02
KNS HE  [714 & | Lk 297 (22 6 [MWRINTHI[27 F3 |=Eih 268.00
KEINRFEHE 714 &2 g 99 31 |6 [MNERETHI[22 ®2 |Eih 99.23
AZNRFTHE 714 &3 LLI#K 95 JH R
KFINREEHZE  |714 3 4 ITESS 12 (30 |1 PMRETH|23 #FHF 14 |Eih 146.02 | &6
KENSFHE 714 &S eSS 120 [31 1 IMNRETHI|22 &S5 |Eih 108.40
KNSR EEZE 714 56 L#k 127 130 |2 [/MRETHI[23 ZF15 |Eib 115.08
KNS HE 714 & Lk 81 (30 [4 |/MRETHI([23 %18 |Eih 82.68
KNSR EEZE 714 58 Lk 166 (30 |18 P/MNRETHI|23 #F 1 |EHs 162.78
KENRFHZE [714 &9 Eih 89.93 [30 12 'MRETBH 23 &S5 |Eih 101.19
KENS=EZE  |714 H10 g 23 JHIR
FINRFHE (714 & 11 L&k 92 JHIR
FINREEZE 714 12 LAk 49 JHi
AFPMRFHE [714 F13 Eih 122.21 |31 3 [MRETHI22 #H71 [£i 104.41
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FINRFHZE (7114 F 14 Eih 200.59 |31 5 |IMNRETH|22 FHF 1 Eith 190.15
FINREHZE 714 & 15 IS 116 |31 8 |MNRETHI|22 #F4 |[EH 116.11
FINRTHE [/14 & 16 = 160.78 |30 6 INRETH |23 FE 20 |Eih 145.21
FINRFHZE (714 17 Eih 103.50 [31 7 _[RETH[22 #F3 |Eih 103.35
FINRFHE (714 F 18 Eh 11730130 |19 /MRETH |23 F 2 |Fih 116.71
FINRFHZE 714 219 Eih 10884 (30 J10 [/MRETH[23 FHE3I [Eih 108.68
FINRFHE [714 F 20 Eih 96.25 |30 1 [MRETH[23 #F4 =i 97.83
FINRFHRZE [714 & 21 L 85 |30 13 '"MNRETH |23 #6 Eith 87.03
FINRFHE (7114 %22 L&k 55 JHIR
FINREEZE  |714 3 23 LAk 19 JH Rk
FINRFHE (7114 %24 L&k 34 JHIR
FINREEZE  |714 325 LAk 17 JHk
FINRFHE (714 %26 Eih 0.41 SHIR
FINREEZE 714 27 IS 34 JHk

KEINREHE  |714 28 LAk 35 JH R
KEINSFEZE (714 25 29 LA 32 JH B
KENR=FEHZE  |714 &30 IS 0.10 JH R
AFENRFHE [714 & 31 Eih 1.44 JH B
KENRFEHZE  |714 & 32 Eith 28.75 JH R
KEINSFEZE  [714 % 33 ITESS 50 JH
KFENREHE |714 &34 I 128 130 121 [/MRETHI[23 F 16 |Ei#h 116.14
XFENRFHE [7115 T Eih 151.48 |22 3 MRINTH 271 F12 [Ei#h 132.00
KNS FEHZE  [715 &2 LLI#K 6.61 JH iR
AFNMRFHE (715 &3 Eith 13852 (22 |4 PIRANTHI|27 ZFH1 [Eis 139.42
AENRZEHZE (716 &2 ITEZ3 29 [142 [42 [NRPUTH 19 F 39 |Eih 18.00
KEINEFEZE  [716 %3 LLI#£ 76 JH B
KENRFEHZE  [719 H1 IS 230 HR
AFDRFHZE 719 F2 Eih 115129 |2 [RETH[24 2 |Eih 102.23 | &5
KENSFEZE (719 &3 =ih 8206 [29 [3 [/NRETH[24 HEE1 [Eih 100.63 | &
KFNREEZE 719 &4 IS 70 130 |18 [/MRETHI([23 F 11 |EHb 130.18 | & F
AENRZHZE (719 &5 LLIAK 117 (30 [17 [/MRETH[23 # 10 [HiEHh | 118
KNSR EEZE 719 &6 LLI#K 135130 16 [/MRETHI|23 F*9 |Ei 135.21
KFEINRFHE |719 &7 I 200 [30 14 MNRETHI([23 F71 | 190.50
AF/NERFHE [720 F 1 LLI#£ 156 (22 |2 [/MgENTH[27 FH9 |[Eih 136.01
KNS FEZE (720 &2 LAk 31 JHIR
KEINRFEZE (720 %3 1L #£ 102 JH IR
KEINRFEHE (720 &4 #k 33 130 [t [MRETHI[23 FH 14 |Eih 146.02 (&6t
KNS EEZE 720 5 g 58 [30 [18 [/MNRETHI[23 F 11 [Eith 130.18 | & F
KENS=EZE (720 &6 LAk 78 JHIR
AFPMRFHE [720 F7 £t 10236129 |1 [/MNRETH([24 #F3 |Eis 102.96
AFENRFEHZE (720 &8 =i 10056 (29 |2 [/MVRETH([24 #F2 |Eih 102.23 [& 6
KFNRFEHE [720 F9 Eh 18.25 [29 3 |MRETH |24 FH 1 Eith 100.63 | &
AXF/NRFHZE [720 F 10 IS 167 [22 |8 |/NRINTHI|27 F 11 |Ei 145.23
KE/NRFHFHE 720 & 11 1L #& 157 122 |9 PDRINTH|27 #F 10 |EHh 136.55
AFNMRFHE [720 F 12 LI %K 168 (22 |10 [/MRNTH |27 #HF5 |Eh 146.35
KEINSFEZE (720 13 eSS 148 [22 11 _MNRIANTH 27 &6 |Eih 12948
KENR=EZE  [720 514 L#k 210122 |12 MRANTH[27 #FH 7 |3#5EH 1.81
KNS EEE 721 & e 254 |22 1 PMRNTHI27 #F8 |Ei#s 179.31
KENREZE (722 &1 A 76 |16 |3 [MRANTHI[24 ZF6 |Eis 7212
AXFDNRFHE 122 F2 SRAEH| 46 JH B
AFE/NRFHE 7122 &3 Eih 16528 [16 |6 |[/NRANTH |24 #FH1 |[Eih 165.54
RKENMNRFEHE 722 F4 +H 165 |16 5 [IhNRJ\TH[24 &9 |EiH 164.83
KENSFHE (722 5 J 17 116 [10 [/MRATHI[24 %7 [Eih 10261 | &56F
AFDRFEHE (722 F6 1 91 [16  [10 [/MRN\THI[24 F7 [Eih 10261 |5 4F
KFINREEZE 723 251 1@ 800 |15 BI6 [/MNR/NTH [14 F 17 [Eih 507.83 [
FINRTHE (723 &1 1@ 800 [9 15 MNRATHI[19 ZF 16 |4 93 |HE
FINGEHE 723 &2 SgmEE] 26 iR
AXFDPRFHE 7123 F2 AREEH] 26 JH iR
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FINRFHE (723 &3 1 240 |16 7 _IMNRINTH 24 FE2 |EH 188.42
FINREEE 723 &4 I 139 |16 9 |!MNR/IN\THI[24 FE3 Eih 110.10 | & 6
FINRFHE (723 FS i 5 16 |1 [MRANTHI([24 F4 |Eib 11257 (S8
FINRFHE 724 & ] 1,004 [15 B|7  [/NRATH 14 FE 18 [Eih 755.89
FINERFHE [125F1 I 264 |15 A[3 [/NRI\THI25 FE9 |Fih 338.09 | &6t
FINREFHE [725 F2 AR AEH 9.91 SHIR
FINRFHE (725 &3 Sikgei] 56 10 14 DNRATHE[28 F 2 |8 swwwss | &6
FINREEZE 725 34 = i 33 JHiRk
FINRFHE (725 &b M 220 [12 2 [/RIANTHI([29 F 11 |J#iEH | 160
FINRFHE [725 %6 Eih 23139 [15 Al4 [/RIN\THI[25 F 1 [Eih 207.88
FINRFHE [125 &7 £ 231.00 115 A[5 PMRIA\THI|25 F2 |Eih 209.86
SINETEHE 7125 E8 P 104 [15 A[3 hRATE[25 FE9 [E 338.09 [ &t
FINRFHFZE (725 F9 Eh 22661 [15 A7 [/DRI\TH (25 FE4 [EHh 209.56
FINREEZE 725 & 10 I 22 JHIR

AFIMRFEE 725 F 11 ] 147 |15 Bl2 [/MRATH[14 F 14 |EHb 125.00 (&8
KFINREEZE 725 K12 I 27 |15 BI3 [hRATH[14 Fi15 [Eih 12574 | &6
KFENREHE 726 B 1 SR 720 10 4 MNRATH |28 FH 2 |ZwH| ssmne (S5
KFENERFHE (726 &2 sgmEs| 33 SHIR
KFENRFHE |726 &3 IS 26|15 Bl2 [MRATHI[4 Fi14 |[Eih 125.00 | &6
KFINSFEE 726 &4 LLI#%& 10 |15 A3 |"MRI\TH|25 &9 Eih 338.09 | &6
KNS FEZE (726 &5 =R 19 JH iR
KEINEFEZE 726 X6 B R 42 JH R
KNS FEHZE (726 &7 ITESS 8.95 HiR
AFNRFHE (727 F 1 Eih 79008 (11 |6 |/NRATH|29 #FHF 1 |Eih 604.19
KEINREHE 727 &2 sRmEn| 23 JH iR
KFE/INRFEE 728 &1 Y 929 [14 1 [hRANTHI[26 F 10 |Ei#h 704.02
KNS FEZE (728 &2 srmEs| 13 JH iR
KEINEFEZE (728 %3 A 88 |11 8 |'"hNRATHI[29 &E3 P 65
RENRTHE 728 &4 1 95 |1 68 ["NRATH [27 #F25 |Eih 147.15 | & 6
AFINRFEHE 729 1 P 198 |14 |14 [MRANTHI26 FE6 |[Eih 183.25
ARFNRFHE (720 F2 ARAEHE| 59 SHR
AFNRFHE [729 &E3 Eih 1615014 |3 [/IRATHI[26 F 11 [Eih 289.57 |5
KEINRFHE (729 &4 W 27 (23 Al10 MRI\TH |19 &3 |Eih 141.76 | &6
AFENRFHE [729 &S £t 26016 [14  [5 [/hRI\TH[26 F8 [Eih 240.17 [S 4
AXFINRFHE 729 &6 Eih 16090 (14 13 [/MNRIN\TH[26 F 11 [Eih 28957 |5 #
AFNERFHE (129 F 7 Eih 165.00 14 |10 [/MRNTH [26 F 16 [Eih 22454 | &6
KEINRFEHE (729 &8 1@ 23 [14 [11 /MRANTHI26 ZF1 |[Eih 113.97 | &6
KNS EEZE 729 &9 I 55 114 |8 [/MRIANTHI[26 Fi14 |Eih 52.93
AENRZEHZE (729 & 10 I 199 |14 |7 [/MRNTHI[26 %13 [Eih 171.08
KENREEZE 720 & 11 HrEih 098f{14 |5 |/NEINTHI26 %8 |[Eih 240.17 | &
XFNERFHE [729 F 12 FEIEH 058 {14 |5 [|/MR/I\TH |26 &8 [FEih 240.17 [ & H
KENRFHZE [729 13 R 155 [14 16 'MNRATHB 26 F2 |£ih 113.77
KENR=EZE  [729 & 14 I 19 (14 117 PMRINTHI|26 #HF3 |Eih 1418
KENREEZE 729 K15 I 34 |11 7 _IMNRATHI29 F2 |/H 26
KNSR EEZE 730 & 1@ 1326 [13 |2 PhRANTHI|28 ZF12 |4 1,161
ARFNMNRFHE 1731 F1 1 509 112 (3 [D/MRI\THI29 #FF8 |Fih 433.01
AFINRFHE [131 F2 P 257 |26 |7 [/MRETHI[30 36 [Eih 269.66
KEINSFEHZE (731 X3 P 105 JH i
AFNRFHZE [731 F4 Eih 16528 (26 16 [/MNRETH [30 #FH 35 [Eih 167.19
KNSR EEZE 731 &5 I 661126 |38 [/MRETH([30 F 38 |Eib 543
KEINREEZE 731 &6 I 171 (13 |16 /MNRINTH|28 #FS5 |Eih 159.44
ARFIMRFHE (7131 &7 1 264 [13 9 |/RINTEH[28 #F9 [EH# 267.34 [ &6
XFNRFHE 731 &S Eih 193.58 [13 10 /MRNTEH 28 FE 10 |Ehh 181.81
KFENRFHE [731 FE9 1 56 |13 9 |/RINTEHE[28 #F9 [EH# 267.34 [ &6
KAF/NRFHE 731 & 10 AREES] 144 JH R
FINRFHE (731 & 11 1 29 JHIR
FINRFHZE (731 F 12 Eih 14463 (12 17 [/MNRIN\TH[29 FHE3I [Eih 144.64
KFENRFHFE [731 F 13 Eih 101.99 |12 6 |MNR/INTH[29 FE2 [E#h 102.01
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FINRFEHZE 1731 F14 Eih 113.91 [12 5 [IRINTHI[29 FE 1 Eith 113.11
FINGFEHE 731 F15 Eih 100.00 [12 4 PMNEIANTH[29 FH 14 [Eih 100.31
FINRFHE 731 F16 Je 158 [13 12 [MNRANTHI([28 Fe [Eih 147.41
FINGRFHE 731 17 1 194 [12 13 /MRINTH |29 F 12 |Eih 165.23
FINRFHE 731 F18 Je 89 |12 14 [NRIANTHI[29 F 13 [E#h 75.77
NS EEE 732 351 I 188 |26 9 |[/MNRETH[30 &40 |Ei 174.35
FINETHE (132 &2 1 13 [13 [3 [/NR/AN\THI[28 FE2 [£ih 121.84 | & 6
NS EEZE 732 53 1 109 SHIR
FINRFHE (732 F4 Je 231 [26 8 |/NRETHI|30 FE39 |EiMh 218.00
FINRFHZE (732 %5 I 114 |13 " PhRANTH[28 #HF3 |Eis 100.69
FINRFHZE (7132 F6 Je 194 [13 13 [NRATHI([28 F4 [EH 170.59
= NE B EE 733 &1 I 399 [13 4 [/hRANTHI[28 #E 13 |=Eih 281.01
FINRFEHE (733 %2 L#k 96 [26 [11 [/MRETHI[30 43 [Eih 109.82 | &6t
=INREEZE 733 &3 #k 158 IR

AXFNRFHE [733 F4 N EE JH iR
AFDRFHE 733 FS =i 4442513 [ [IRIANTH[28 FE1 |Ei 395.01
RENREHE 733 %6 Lk 83 [14 10 [/MR/\NTHI[26 % 16 [Eih 22454 | SO
KFINRFEZE 733 &7 LL#k 132 |14 |11 [MRANTHI[26 ZF1 |EHb 11397 | &84
KENSFEZE  [733 %8 IS 19 JH R
KENRFHE 733 &9 m: 96 |26 [46 [/NRETH[30 44 |Eih 11001 |5 6f |
KFEPNREHE 733 F10 L #k 92 (26 (47 [/NREETH[30 F 46 [Eih 10749 | & 6F
KFINRFEZE 733 511 #k 262{26 |50 [/MNEETH |30 FH45 [Eih 2.35
KENRFHE  [734 E ITE:S 24126 |11 PNVRETH[30 % 43 |Eis 109.82 | &
KEINSFEZE 734 %2 1L #£ 16 JH R
KNS FEHZE (734 &3 IS 37 JH R
KFINREEZE  |734 354 #k 24 126 [46 [/NRETH[30 44 |Eih 11001 |5 6f |
KENRFEHZE |/34 &5 g 25 |26 47 NRETHI[30 #E46 [Eih 107.49 | S5 6f
KFINREEZE 734 &6 LL#k 157 126 |12 MRETH[30 49 |Eib 14273
KEINSRFEHE (734 &7 L#k 131 |26 |48 [/MRETH([30 47 |Eib 119.02
AFPDRFHE 734 FES8 LLI#k 11 [26 [49 [/MNRETH |30 & 48 |Eih 100.93
KFEINRFHE |734 &9 IESS 178 |26 13 'MREETH 30 F50 |Eih 162.00
RENRZHE 735 &1 s 689 (26 (14 [/NRETH[30 ZE 1 |jffEM# | 597
KNS FEZE  [735 &2 IS 27 JH R
AFENRFTHE 736 &1 ANRFEE 3.04 JHiR
KFEINRFEHE  |736 &2 Eih 6760126 |19 [/MNRETH[0 6 |Eis 11215 [
AFENRFHE 736 &3 Eih 15147 (26 126 [/MRETH [30 FH 13 |[Eih 140.34
KNSR FEZE  |736 &4 J 13 JHR
AFENRTFHE 736 &5 ANRFEE 7.96 JHiR
KENB=EZE  [736 &6 M 61 SHIR
KEINREEZE 736 &7 I 68 126 [21 [/MNRETHI[0 FHE8 |Eis 195.13 [S 8
KFEINRFHE |736 &8 I 139 |26 21 /MRETH (30 &8 [Eih 195.13 | &
KENRFEHZE [736 F9 Eih 182.36 [26 24 INEETH[30 FE 11 |EHh 175.52
KEINR=EZE  [736 & 10 BT 7.20 JH ik
AKFENRFTHE 736 &K 11 DNRFEE 6.85 JHiR
KEINSRFEE (736 K12 Eih 42.25 26 19 /MRETEH |30 FE6 |Eih 112.15 [ &6
AFNRFEHE [736 F 13 =i 138.23 [26 18 MMNRETHI[30 #FHFS5 |[Eih 138.71
KE/INEFEZE 736 & 14 Eih 149.85 [26 15 /MRETEH |30 FE2 |Eih 21972 | &6t
AXFNMNEFHE 736 F 15 Eih 95.23 [26 16 [/MNRETHI[30 #FHF3I [=Eih 96.94
KEINRFEZE (736 & 16 Eih 97.13 [26 15 /MRETEH |30 FE2 |Eih 21972 | &6t
AFNRFHE [736 F 17 N JH i
KNSR EEZE 736 2 18 semEn] 14 iR
KFENRFEHE [736 F19 ngmEn] 14 JHiR
KFINREEZE 736 25 20 sgmEE] 10 iR
AFDRFHE 736 & 21 Ehh 11116126 |20 [/MNRETH 30 #HF 7 [Eih 118.42 | &5
KEINSRFEHE 736 2 22 Eih 627126 |20 [/MNRETH [30 FE 7 |=ib 11842 | &
FINETHE  [/13] &1 1 84 |26 |41 [/NRETHI[30 %26 |E 136.01 | &6
EINREEE 73] &2 H 82 JH R
XFIRFHE (137 &3 A 23 Hif
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FINRFHE |7137 F4 MiEth | 164 [26 |29 [/INRETHI30 F 16 [Eis 184.02
FINRFHZE [737 FS Pl 216 |26 (32 [/MRETH[30 FE19 |Eih 24424 | &6t
FINRFHZE (7137 F6 Eh 218.17 |26 27 |/MRETH |30 #+E 14 |Eih 202.29
FINRFHE [137 &7 MiEH 42 126 [32 NRETH[30 F 19 [Eih 24424 |5 0F
FINRFHE (137 &8 MiE | 13 Hi
NS EEZE 737 &0 1 14 JHk
FINRFHE (737 F10 E3 12.27 JHIR
FINRFHE 737 F 11 Higth 2.97 IR
FINRFHE (737 F12 i@ 275126 [33 [/NRETE [30 ZF 20 [|axmeEm| 426 |&6F
FINREEZE 73] & 13 ) 430 (26 |43 |/MRETH |30 #F 23 |3fEiHh 3.92
FINRFHE (737 E 14 I 36 |26 39 /MNRETEH[30 #F 24 [E#h 134.80 | &
FINGRFHZE |737 & 15 I 97 |26 33 '"MRETHI[30 F20 |azmEn| 426 |[&F
FINRFHE 737 & 16 H 202 (26 (34 |[/MRETHI|30 FE 21 |EiMh 23353 | &6t
FINRFTHE 737 H17 J 417 |26 |42 [/MNRETH [30 # 22 M | 422 | &6

AFNRFHE [7137 F 18 Je 146126 140 [/MNRETH([30 F25 |Eih 133.01
AF/NRFHE [7138 F 1 Eih 76088 {26 |35 |[/NEETH [30 FH 28 [Eih 753.00 [&6F
KFENRFHE |738 &2 Eih 76.30 |26 3B _|/MRETH (30 #F 28 [EiHh 753.00 | & ff
AF/INRFEHE 738 &3 ) 23.76 ER
KFE/NRFHE |738 &4 Eih 178.62 [26 33 _/MRETH |30 #F 20 |sxmewl| 426 (&6
AF/NRFEHZE [7138 FS Eih 6512126 |41 [/NEETH[30 FH 26 [FEih 136.01 [&6F
ARFNRFEHZE [738 &6 Eih 9531126 [45 [/NRETH [30 F27 [Eih 94.32
RENRFEHZE 739 &2 @ 185 [26 [5 [/MRETH[30 % 34 [=th 169.28
KNS FEHZE (739 &3 J 119 JH iR
KFINREEZE 740 351 1 165 [26 [4 |/MNRETHI|30 33 |Eih 164.05
AFPNRFTHE [740 E2 Eih 5619112 |9 [/R/ANTHI([29 #F5 |FEib 191.20 | & 8F
KEINEFEZE 740 %3 1 122 JHIR
AF/INRFEHE 740 FH4 Eih 196.36 (26 |1 [/MRETH [30  F 30 [Eih 283.75 | &6
KFINRFEHE (740 &5 S 1383 [26 |51 [/MRETH [30  #F 51 |Fth 13.01
AXFPMRFHE [740 F6 =i 9232126 |2 [/MNRETH([30 31 |Eih 120.13 [S 6
KFNREEZE 740 & 7 =i 1375126 2 |/MNRETH |30 F 31 |EiMh 120.13 | & 4F
KFENERFHFE [740 FS Eih 142.88 |26 3 _|!DRETH (30 #FH 32 |[EiHh 129.21
KENREEZE 741 &2 =i 56.19 [26 1 I/MNRETH |30 F 30 |[Eih 283.75 | &1
KENBZEZE  |74] &3 M 95 SHIR
AFNMRFHE (741 F4 8 9.91 JHIR
AFNRFHZE [741 &FS =it 26028 |12 [1  [/MRANTH[29 & 10 [Eih 24043
AFPDRFHE 741 F6 £ih 15350 |12 |9 [/NRIN\TH[29 F5 [Eih 191.20 | 56
KENRFEZE |74 &7 J 0.30 JHB
RKENEFHE [141 FS Eih 4.18 JHIR
KFENRFHE [741 &9 Eih 147.78 |12 10 [MNRIANTHI([29 FEe6e [Eih 133.90
AFINRFHE 7141 & 10 =i 2599126 |2 [/MNRETHI[30 & 31 [Eih 12013 |5 6F
KENREEHE 742 & Lk 604 |11 3 [hRATHI([29 FE6 |Eih 461.60
RFNRFHE [143 F 1 X 707 (14 2 [IRI\TH26 9 |EHh 153.74 | E
KEINSRFEE (743 251 i 707 |11 4 |/MNRATHI[29 #H5 |/ 190 |5&
AXFDPRFHE 743 F1 A 707 [11 [5 |RATHI[29 FE9 |[Eih 194.62 |5l
KENREZE (743 &2 sgmEn] 19 HiR
AFNEFHE [744 FA =i 1,428.98 [11 1 MNRATHI29 F#8 |Eib 1,212.63
KNSR EEZE 744 252 I 566 |12 12 hRINTH[29 #F9 |4H 37 _|»E
RFINRFHE [744 F2 P 566 |11 |2 [/NRATHI|29 F7 [EHh 442.00 [
KEINRFEHE 744 &3 SgmEE] 56 iR
AFINRFHE 744 F4 Ehh 35.48 JH R
KNSR =EZE  |744 5 J 2.13 JHR
KFINEE KR 745 &1 =iram| 6,078 |10 4 |NRATH (28 #F 2  |[Zwmth| seswse |56
KT /NRF K | 745 3 4 PR 33 |10 |4 PMNRATH (28 # 2 || s |GG
AF/INREXRME (745 &S FRAM|  991(10 |4 PMNRATH |28 F2 || s (SO
PN ES 2 AR sgmEE] 16 iR
FINRF KR (746 & 4 FhE) 14 10 |4 [MNRATHI([28 ZF2 || s |S4F
FINR ok fH | 747 25 1 1 314 |10 |12 [/MNRATHI[28 #HS8 [Eih 294.59
KF/INRF XM 747 &2 sgmEn] 13 IR
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FINRE KR | 747 53 NRFEH 3.30 JHiR

FINR R 747 25 4 1 542 (10 [13 [/MNRATHI28 F9 |[Ei# [219162 |56

FINRF R | 747 &5 I 555 [10 13 [/NRATHI[28 ZF9 [E# 219162 (&6

= N5 o K 8 | 747 25 6 B B 52 SHIR

=INR R 747 T I 62 110 113 [/MRATH |28 #F9 |E#h [2191.62 | &6

= NS R 747 38 P 764 (10 [3 [IRATHI28 F1 [EHh [343419 |[&HF

ENCES 3 AET i 150 10 [1 [/INRATH |28 /11 [MfE# | 127

=/ NSRRI 747 3 10 P 552 |10 |3 [/NRATHI28 F1 |E#s [343419 |8

=N o Kk P | 148 2 1 e 860 [10 [13 [/MRATH([28 9 |EMh [219162 [S6f

= /N5 o K I | 748 25 2 *H 155 |10 13 PMRATHI|28 #9 |Ei 2,191.62 [ S

ENEES AR =R 42 HiE |

FINRF AR 748 E 4 Fgoh| 157 (10 |4 PMRATH |28 F2 || s [0

=N T R | 748 &5 |  154[10 [4 [INRATH |28 2 |Fhcmh| s |S6F

=N 5 o7 A | 748 35 6 1 998 |10 |3 [/NRATHI28 FH1 |[FEih [343419 |&H
KNSR K R | 148 2 7 e 574 (10 3 PI/MRATHI([28 1 |Eh [3434.19 [EFf
KNS R 749 51 1 78110 |10 /MNRATHI|28 F 7 |EM 6.73
P ENCEE S AICEY, S| 823 [10 [4 [NRATH[28 #F2 [xmi|sswsm [S6F
KFINR K R | 749 & 3 ARmAEs| 155 JH IR
PN ES A Y sgmEE] 330 IR
AF/INR TR 749 &5 SR wemer (10 [4 [NRATH[28 2 |Fhmm| e |56 |
KF/NRF K AR 749 %9 FixmAM| 466 [10 |5 |[/NRATH|28 #F3 || 516 [S4F
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178 Al4 INEZTH |7 4 EHh 180.07 1R EE#h
178 Al22 [/NREZTH |7 5 E #h 180.12 |{R B #h
178 Af23 ["NRZ=TH |7 6 E Hh 180.13 [{RE3tth
178 Al6  ['"NRZ=TH [7 8 |Eih 41.00 |{& 52 3h
178 B |9 INEZTH (8 EHh 138.86 |[{REEih
180 Al4 [/NREZTH9 1 E i 268.52 [{R &
176 A5 INRZTH [12 EHh 125.52 |[{REh
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176 A6 INEZTH 12 ZE 3 Eith 125.45 |[{REih
176 A |1 INRZTH 12 Z& 4 EH 125.63 [{£ 2
176 A2 [/MNRZ=ZTH 12 &5 Eih 125.54 |{1& 25
176 A[3 [/'NRZTH|[12 ZFH 6 Eih 125.53 |{Z23Hh
175 |5 INRZTH 13 FE 15 [Eib 213.08 |[{R B
175 |8 [/MNRZTHB 13 FHF 17 |E# 213.20 [{R &
174 13 'hNEZTB 14 FE 10 [E# 7.00 [R B
174 [16 ['"MNREZTH[14 F 13 |EH 7.00 |{R 2340
174 (18 [/NRZTHB |14 ZFE 15 |Eih 66.00 |{R 2
174 120 [/"NRZ=ZTH |14 F 17 |E# 29.00 [{R 224
174 |24 [MRER=TH[14 FEE21 [FEih 500 1R &b
174 |25 [/NRZTH |14 % 22 |E# 10.00 [{R &b
174 27 "hNERZTB 14 FE24 =i 28.00 |2 220
174 130 [/"NRZ=ZTH |14 & 27 |E# 15.00 [{R &b
174 37 'hNEZTB 14 FE34 [=# 25.00 [{R 220
165 |10 [/MNRZTHI[15 F1 Eih 122.34 {72230
165 [11 [/hNRZ_THI[15 &2 Eith 2.00 [R&Hs
165 (22 ["NRZTHBI|15 # 13 |Eih 14.00 [{£ 23t
165 |2 [MMNRZTHN5 ZFE15 |FEih 39.00 [{2583h
165 (23 ["NRZTHB |15 #FH 22 |Eih 10.00 [{£ 233t
164 [10 [/"MNRZ_THI[16 &5 Eih 22.00 {7223
164 |3 INERZTHI|16 &S Eih 8.00 |[{REE#h
162 [12 [/"WRZTH[18 #H4 Eith 2.00 [R&H
162 |20 |/"NRZ=TH |18 &5 Eih 8.00 |[{R & Hh
162 [14 [/WRZ_TH[18 Z 6 Eih 42.00 {7223
162 |15 |[/DNRZTH |18 & 8 Eih 45.01 R &b
162 [18 [/"MRZ=ZTH[18 F 11 |EH 29.00 [{2 583
162 (19 "NRZTHB 18 #FH: 12 |Eih 25.00 £ & i#h
162 [2 [/NRZTH[18 FHF 14 |EH 47.00 [{R583h
162 |3 [/NRE=TH[18 F 15 [Fih 44.00 |1 223
162 |5 [/NRZTHI[|18 FH 17 |=Ei# 6.00 |1 221k
163 |6 [MNRE=TH[9 FE2 [Fi 3.00 & 22h
163 |4 [MNREZTH[N19 &3 Eih 2.00 [{£254h
163 |2 [MhNRE=TH[H9 FHS5 [Fi 28.00 |15 22 3h
169 [10 [/"hREZTHI[20 &4 Eih 26.00 {752 3h
169 |11 [/hMR=THI[20 &H5 [Fih 21.00 |2 22 3h
169 [13 [/"NREZ=THI[20 &7 Eih 53.00 [R5
170 |18 [MRE=THI[21 F2 [Fih 5.00 |{& 22
170 [11 [/"hRZTHI[21 &5 Eih 13.00 |28
170 [15 ['"MREZTH[21 & 10 |EH# 5.00 [R&EH
170 |18 [/"hNRZTH |21 &HF 12 |=Ei# 12.00 |2 581
170 [19 [/"hREZTH[21 #H 13 |E£#h 13.00 [{2 5t
170 |2 [/MNR=THI[21 ZFE 16 [FEih 39.00 [ 52
170 |4 [MNRZ=ZTH |21 F 18 |Eih 42.00 [{2523h
170 |21 [/"hNRZTH |21 %20 |=E# 9.00 |1 22k
172 (4 [/NMNRZ=TH[22 %6 Eih 10.00 |12 &
208 |22 "NRE=TH |1 11 |EHh 1458 1R &
221 6 |'MNR=TH |3 E1 Eih 151.22 12 2E3h
221 (7 'DMR=TH[3 T2 Eih 152.19 |{Z254#h
221 (8 |'MNR=TH |3 E3 Eih 151.78 |12 2Zith
221 (9 |'MR=TH[3 E4 Eih 151.61 {2540
221 |10 [/"hNR=TH I3 &5 Eih 151.69 |{£ 55 h
221 |1 INR=TH |3 6 Eih 151.10 [{Z254h
221 |11 /NR=TH |3 &7 MifElh 2.66 [REH
221 2 "MR=TH[3 &8 Eih 152.29 |{Z 2540
221 (3 |'DNR=TH 3 E9 Eith 151.94 {2 2Z3h
221 (4 |"MRER=TH 3 & 10 |EH 151.73 |{R25#h
221 |5 |'MR=TH (3 & 11 |EH 151.62 |12 2E3h
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192 |7 ["NR=TH 5 =1 MifEHh 71 |[REH
191 |6 [/MNR=TH 6 E4 Eih 8.00 [ &
191 [7 ['"hRE=THI[6 &EE5 [E£# 500 1R 2 #h
186 |16 [/NR=TH |7 &2 Eih 71.00 [R5
186 [10 ['"PhRE=THB|[7 &3 [£# 168.00 |7 223k
186 [12 |"NR=TH |7 5 Eih 8.00 |{R b
186 [15 ['"PMRE=TH|[7 &Es [£# 60.00 [{R 281
186 [2 [/NR=TH [7 & 10 |EH 8.00 [R &
186 [4 [WR=THI[7 12 |£H#h 2.00 [REH
186 [6 [/NR=TH [7 & 14 |EH 7.00 |22
186 [8 [/NRER=TH[7 & 16 [£# 107.20 |7 2230
184 |12 [/NER=THI|8 &2 Eih 160.27 |{Z234h
184 [13 ['"hRE=THI[8 &E3 [£# 11.00 |2 281
184 |16 [/NER=THI|8 &6 Eih 15.00 [{R &b
184 |18 [/NR=THI|8 &Y Eih 72.00 [R5t
184 |4 INR=TH |8 & 22 |=Eih 24115 [{£ & #h
182 |13 ["hNR=TH |10 &S Eih 115.32 |[{1& 25 #h
185 |5 INER=TH |11 FE 22 [Eih 13.00 [{£ 51
185 |7 [/MNR=TH |11 FE 24 |=Eih 10.00 |2 &b
200 B |8 INR=ETH |15 & 4 Eih 20.00 [{£ & i#h
200B[9 |"NE=THB|[15 FES5 Eih 106.36 [{1Z 25 h
200Bl12 |'"hR=THI[15 &FHé6 Eih 18.00 [{£ 231t
200B[{11 "NE=TH |15 FE7 Eih 6.00 |1 22 #h
200 B |2 INBR=ETHI[15 &Y Eih 167.12 |12 B #h
200B[3 |/MNRE=TH |15 FE 10 |EH 10.00 |12 22
200A111 MNR=TH|16 FE2 [FEih 6.17 |22
200 A[8 |'"NE=THBI|16 FES5 Eih 8.00 {7221k
200 A |1 INER=THI|16 &EE6 Eih 132.49 |{R B b
200A[2 |'MNR=TH|16 &7 Eih 134.23 |{1Z25#h
200A110 '"MNER=TH |16 &S [Fih 2171 [R5
200A[9 |'MNR=TH|16 &9 Eih 35.00 {7523k
201 |6 INER=TH 17 &7 Eih 5.00 |[{RE#h
200 [5 |"MNR=TH[17 &S Eih 2.99 [ &
201 15 MNRE=TH |17 FE 11 [Fih 3.00 |22
201 |16 [MMNR=TH |17 #F 13 [FEih 2.00 [RZHs
201 17 MNRE=TH |17 FE 15 [FEih 15.05 [{2 5t
201 |9 |MNR=TH |17 FH 16 [FEih 2.00 [{£ 221k
202 |17 I'NR=ETHI[18 #H5 [Fih 4.00 [RZH#s
202 |4 INER=TH[18 &7 Eih 2.00 |{RE b
203 |17 "NR=TH[19 #H6 Eih 4.00 |{RE3ih
203 19 |/MRE=TH|[19 &S Eih 6.00 [{R &
203 (11 MNR=TH[19 F&22 |[Ei 10.00 [{2 &t
207 [6 |/MNE=THI[20 &2 Eih 211.03 [ &
207 |9 INRETHI|20 F 3 Eih 36.00 |55 #h
207 |2 INR=TH |20 &7 Eih 13.00 [{722h
207 |3 INRETHI|20 FH S8 Eih 32.63 |12 #h
204 (25 [/MNE=TH |21 &2 Eih 6.00 |2 &
204 19 'NRE=THI[21 F3 Eih 6.00 [ 3 th
204 |26 MNR=TH |21 FE 11 [FEih 67.00 [{R 553
204 |5 |IMNRZ=TH |21 #F 14 |18 84 |{®Eh
204 |28 ["Ng=THI[21 #FHF 19 |[Ei 4.00 [BZHs
204 |13 |"MNR=TH |21 #F 20 [=Eih 273.92 |2 &
204 (14 MNRE=TH |21 FE 28 |EH 2.00 [{£ 22k
205 |9 INR=TH 22 &7 Eih 22217 [{& S #h
206 [2 IMNRE=TH[22 FEE10 [EH 166.57 |{Z 2510
199 |4 INRETH |23 FE 20 |FEih 110.34 |[{REh
198 [3 [/MNR=THI[24 &5 |EH# 3.00 |7 824
197 B|11 ['"hNR=TH |25 &3 Eih 3.00 {722
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197 B[13 ['"MNRE=TH[25 &5 |E# 4.00 [REH
197 B[5 [/MNRE=TH[25 & 14 |EH# 2.00 [ &
197 Bl6 [/NR=THI[25 FHE 15 |E# 500 [R &
197 Al12 |'"NRE=TH |26 &6 Eih 16.00 [{£ 23t
197 Al2 [/"WNR=THI[26 &8 |E# 155.01 [{R 220
197 A5 [/MNRE=TH[26 & 10 |EH# 21.00 R 223k
195 |6 INRETHI[27 &2 Eih 20.00 |{REE b
195 |8 INR=ETH 27 &F 4 Eih 20.00 [ & i#h
195 [10 "hNR=THI[27 &HE6 |E# 20.00 |{R 22 3#h
195 [12 |"NR=THB |27 &8 Eih 20.00 [ & i#h
195 [14 [/WR=THI[27 FE 10 |E# 20.00 |{R 22 3#h
196 Al6 [/NER=TH |28 &2 Eih 14.00 |28
196 Al4 [/NR=THI[28 &FE4 |=# 9.00 [E B
196 Al2 [/NER=THI28 &6 Eih 9.00 [R &
196 Bl2 [/WNR=THI[29 #H 14 |E# 3.00 [R&H
196 B |4 INER=TH 29 FE 16 [Eih 3.00 [R5
196 Bl6 [/NR=THI[29 & 18 [FEih 3.00 [R&Hs
194 |8 INER=THI30 &3 Eih 114.00 [{R B #h
194 [4 [NRE=THI[30 & 14 |£Hh 137.27 |22 #h
194 |13 [/"MNR=TH 30 & 15 |=FEih 181.49 [{E231h
194 [12 /MNRE=TH([30 & 16 |EHh 144.12 |22
160 |21 [/MNEHETAH |1 & 14 |Ei#h 149.33 [{R231h
160 |22 [/MNREETH |1 15 |Eih 149.32 |{1Z 25 #b
160 |23 [/MNREEETAH |1 & 16 |Eih 149.33 [{R231h
160 |1 INRIOTH [ 17 [Eih 137.69 |{Z 25 b
144 (12 [/NRPETHE |3 &9 Eih 5.00 |[{REE#h
144 116 [/MNRETH |3 & 10 [=£ih 4.00 [{£ 221
145 |4 [/NEETHI[4 FE 11 [Eih 10.00 |83
145 |6 INEOTH |4 & 13 [EHh 10.00 |{R 2
149 (10 [/NREPUTH |8 6 Eih 49.00 {72 i#h
157 |18 [/MNERETH 12 #FHF2 Eih 8.00 [R&Hn
157 [10 [/hMREIETH[2 &4 |EH 8.00 |2
157 [12 [/hMREETH[12 Z6 Eih 8.00 [R&Hn
157 (4 [MhNEWTB 12 #FH: 17 |Eih 107.00 [{E 231
157 |5 [/hNRmTH[N2 ZFH 18 [Fih 188.88 |{1Z25h
157 |6 INEEUTH 12 &FE 19 [Eih 176.03 [{E 231
148 [6 [/NRIEOTH[18 FHF2 Eih 7.00 {221k
148 |12 [/NREHUTH[18 &HE3 |E# 12.00 |2 281
148 [11 [/MRIOTH [18 & 14 |E#h 18.00 |12 581
142 [16 [/MNREIETH[N9 FE4 |EH 35.00 |22 3h
142 |18 [/"MNEETHI[19 &6 Eih 30.00 [{R 523
142 [20 [/MRIUTH[19 #F 8 Eih 27.00 {2223
142 (22 [/NEETHBI[19 & 10 |E#h 35.00 [{RE2#h
141 [8 [/NRETH |1 & 24 |HiEH 43 |17

INERTH |4 &1 Eih 135.09 [{E£ 5
220 |1 INRAETH |5 1 Eih 135.25 |[{R B
220 |2 /NRERRTHI|G FHE 2 Eih 132.24 {752 3h
220 |3 INRETH |5 # 3 Eih 132.24 |[{R B
220 (4 |'DRERATH 5 &4 Eih 132.24 [ 21
2200 |13 "NRETHI5 #HS5 |i#iEH 3.00 |22
220 |5 INERTH |5 &6 Eih 129.24 [
220 |6 INRETH |5 &7 Eih 132.24 |[{R B
220 (7 I'MREATHI5 &S Eih 133.10 {752 3h
220 |8 INRAETH |5 9 Eih 14547 |[{REh
220 [9 PMNREATHI|S FE10 [EH 134.01 {752 3#h
220 (10 VMRETH IS  FE 11 |Eih 134.02 [{£ 223
220 (11 ['hNRETH |5 & 12 |EH 134.00 [{R 250
220 |12 "MNRATHI|S F 13 [Eih 134.01 [{£ 2230
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INRETHI[S & 14 |£H#h 15.00 |2 281

129 [10o ["MRATH[8 FE15 |EH 121.00 [{R 250
128 |6 INERETH |10 ZFE 23 [E£ih 44.00 |[{RE2 30
124 |6 [/MNRETHI[1 FHe |[HigH 26 |{RE
124 |8 INRFAETH |11 &S Eith 100.24 [{REEh
123 |9 [WMNERFETH 12 FH?2 Eifh 161.43 |{Z234h
123 (11 [/NRETH |12 ZFE5 Eih 400 |[{REBHh
123 |14 ["MNRFETH 12 &S Eih 10.00 [{R &
123 (15 /MNREAETH[12 &9 Eih 16.00 |{REEh
122 |18 [/MNRETH[13 &3 Eifh 117.15 |{Z25#h
122 (11 [/NRETH |13 FES5 Eih 22.00 |fREE#h
122 |14 [MNRERFETHN3 & Eifh 26.00 |17 22 3h
122 |6 INERETH 13 FE 11 [£ih 34.00 [{REE3h
120 |7 [/MNRETH |14 &3 Eifh 32.00 |17 223k
120 |13 [/"MNRETH |14 &6 Eith 93.96 [{2583h
120 [12 |'"NRETH|[14 &7 Eih 15.00 [{£ 233t
120 |14 ["MNREFETH 14 FEO Eith 500 [{R &
120 [16 [/"MREETH[4 FE 11 |EH 4.00 [RZH#s
120 2 [/hRETH[14 F 14 |[HEH 29 |EEE
121 [10o [/"hNREETH[15 %2 Eih 17.00 [R5
121 |15 MNRFETH NS5 &S Eih 3.00 [R&Hs
121 |4 [RETH[NS F 11 [H#iFH ERCEED
121 [6 [/MRAEATH[15 F 13 |EH 13.00 |12 &b
118 |6 INERRETHI|16 #+HE?2 Eih 10.00 [{£ 233t
118 |18 [/MNRFETH |16 &4 Eith 8.00 [R &
119 [9 [WWRETH[7 #FHF2 Eih 9.00 [R5t
127 |13 [/MNRETH|18 &S5 Eih 24.00 |12 583
127 [4 [MNRETH[S FE6 |EH 67.00 | &3
126 |7 [MNRETHN9 &3 Eih 7.00 [R &
126 |17 ["MNRETH 19 FE 21 |[Eih 195.48 [{E231h
134 [4 [MRAETH[20 F 16 |EH 157.05 [{Z25#h
134 |15 [/"MNRFETH |20 F 17 |[FEih 157.00 [{E 231
134 [5 [/"MRAEATH[20 F 20 |EH 131.36 [{R£25Hh
134 |16 [/NRFETH |20 F 21 |[FEih 131.31 [{R 23t
135 8 [/MRAETH([22 F12 |EH 137.20 [{Z254h
135 |5 INERRETH |22 ZFE 13 [Eih 137.18 |{E231h
130 |9 [MNRFETHI|28 FHF2 Eih 8.00 [R&Hn
130 [11 [/MRETH[28 &8 |EH# 5.00 |{& 22
130 [18 ['"MRATH[28 F 15 |EH 2.00 [R&Hs
130 [20 [/"MREETH([28 FE 17 |EH 7.02 |RZh
130 [21 [/"MRATH[28 FH 18 |EH 2.98 |2 &
130 [24 [/NRETH([28 F 21 |EH# 2.00 [R&EH
125 |1 INRETHI[29 #FE8 |HiEH 31 |[REH#
125 [8 [/MNRAETH[29 F 14 |EH 8.00 [R&H
116 |17 ["MNRFAETH |31 &2 Eih 15.00 {2 &b
116 |18 [/"MRETH |31 & 3 Eih 41,00 [12883h
116 |6 [/MNERFHETHI31 &S Eih 25.00 [{RE2Hh
116 |20 /MNRETH 31 FHF9 Eih 500 [R B
116 [8 ["MNRFATH [31 & 16 |HiFHh 22 |REH
116 [14 [/"DMREATH [31  F 20 |E# 30.12 [{£ 223
116 [15 ['"MRATH[31 F 22 |EH# 2.00 [ &
114 |22 [/MNRRTH |1 ES Eih 58.00 {2223
114 |26 [/MNREARTH |1 ) Eih 13.00 [{R &b
114 |5 [MRATH 1 %171 |EH# 36.00 |22
114 |8 [/NRATH |1 & 20 |EH 35.00 [ 52
14 |9 [WWMERATH N %21 |EH 40.00 |[{R 223
114 [17 ["hRATH [ % 30 |EH 4400 [{R 52
114 [18 [/hMRATH |1 % 31 |EH 6.00 [R &
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113 [17 ['"hNRARTH [2 &5 Eith 9.00 |12 #h
113 [18 [/MNRNTH [2 &6 Eih 6.00 |2 Z
113 [4 [/MRARTH[2 F12 |EH 4.00 |22
113 |6 [/MNRARTH |2 & 14 |EH 15.00 [{R &b
113 |9 INRIRTH |2 17 £ 5.00 [fREEih
112 |11 [/"MRARTH |3 %6 Eih 5.10 [{E231h
112 (12 [/MRXTH |3 %7 Eih 7.18 [ Ei#h
112 |15 [/MNRARTH |3 10 |Eih 4.00 {222
112 |1 INRIRTH |3 15 |Eih 122.99 [{E231h
107 B[2 [/MNRARTH[4 FE9 Eih 101.90 [{R234h
99 5 INRRTH |7 % 3 Eih 6.00 [fREEih
96 8 [|IMNgKRTHI|8 &2 Eih 11.00 [{R &
96 9 INERIRTH |8 & 3 HMiEhh 34 |[REH
96 10 /MNRATHI[B F6 Eih 6.00 |{R23h
96 3 INRIRTH |8 14 (£ 139.00 |[{£231h
96 17 [INRATHI[8 & 15 [MfEH 20 |REih
96 15 MNRATEH I8  #FHF 16 |Eih 13.00 |2 223
96 16 [/ZNRATHI[8 & 17 |[MfEH 23 |RZih
95 11 NRATHI[9 F2  |MiEHh 10 |[Re&Eh
87 11 NRATBE 11 &F2 |Ei#h 8.00 |21
87 4 NRATHE[11 #HF7 [E# 20.00 |7 22k
87 13 /MNRATH[M1T FE9 Eih 28.01 |[{7 53
87 15 NRATH [11 F 11 [FEih 3.00 [ &
87 16 /MNRATH |11 F12 |Eih 240.63 |{R B #h
87 9 |IMRATHNI1 F20 |Eih 20.00 |7 224k
97 12 IMNRATH[N3 FE7 Eih 17.00 [{R &t
97 14 IMNRATHN3 Fo Eith 23.00 [{2 583
97 17 MNRATBE 13 &F 12 |Ei#h 11.00 |7 853
97 2 INRARTHN3 #F#E15 |Eih 12.00 {22
98 7 hRATEBNH4 FTE2 |=£H# 78.00 |{R 881
98 10 /MNRATH[14 F6 Eih 18.00 |2 &b
98 1 INRARTHE [14 & 10 |HiEH 35 |
106 [5 [/MNRATHI[6 FE10 |E£Hh 4.00 {2221
111 Bf6  [/MRARTH[18 &3 |EH# 10.00 [{2 5t
111 Bf2 [/NRRTH[18 &S Eih 10.00 |2 &b
111 A5 [MNRATHN9 FHE 1 MifEh 67 |[BZih
111 A[18 [/MNRRTH[19 6 Eih 2.00 [R&Hs
111 A[21 [/MRARTH[9 FE9 Eih 11.00 |{REZih
111 A[23 [/MRARTH[19 F 11 |EH 6.00 [{R &
111 A[25 [/MRARTH[9 FE 13 |EH 44.00 [{REZih
111 A[3 [/MRARTH[9 F17 |EH 26.00 [{R 523
111 A[27 [/MRATH[19 F 18 |EH# 123.48 |12 25 ih
111 A[28 [/MRARTH[19 F 19 |EH 2400 [{RE52Hh
111 A[30 [/MRARTH[19 FE 21 |EH 174.40 |12 2E3h
111 A[32 [/MRARTH[9 F 24 |EHh 11.00 |2 &b
111 A6 [/MRIRTH[19 & 25 |HiEH 37 |&Z#
104 Bf10 [/MNRIRTH([23 F 8 Eih 123.92 |{Z 2540
104 B|11 [/MNRARTH |23 %9 Eih 123.94 |12 2Zih
104 A[5 [/MNRARTH[24 F1 Eih 19.00 |28
104 Al18 [/NRARTH |24 FHE4 Eih 33.00 |28
104 A2 [/MNRIRTH([24 F9 Eih 143.82 |{1Z 2540
104 A[14 [/DRITH [24 F 10 |E# 178.03 [{1&22Zih
104 A[12 [/MRIRTH([24 F12 |EH 6.47 |[{£ 21k
104 Al4 [/DRIRTH[24 F 13 |E# 115.40 {12 2E3h
104 A[13 [/MNRIRTH [24 F 14 |EHh 6.72 1R 2k
93 Bl12 "MNRRTH |28 F 2 Eih 12.00 |25t
93 Bf17 |'MREITH |28 &9 Eih 12.00 |2 &b
93 BJ20 |"MNR/RTH 28 F 10 [FEih 3.00 {722
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93 Bl21 ['MNREATH |28 FE 11 [Eih 12.00 |25
93 Bl19 "NEATH |28 #FHF 13 [=Eih 12.00 |7 224
93 B2 |/MNRIRTH |28 FE 15 |Eih 177.57 12 2E#b
93 B[10 |/"MNR/NTH |28 F 19 |Eih 16.00 [{R &b
93 Al6  |/"MNRATH |29 FE 1 Eih 12.00 |12 583t
92 5 [INRATHI30 FE 16 |HiEHh PCEED
92 6 [/NRANTHI[30 ZFH 17 |#iE#h 16 |[{REh
92 9 [/NRATHI30 FEE18 [EHh 2.00 [R &
92 11 [/NRATHI30 FE19 [E£ih 2.00 [{R 221t
92 13 [/NRATHE[30 20 [=Eih 2.00 [{£ 22k
91 10 /MNRATH 81 F 1 Eih 27.00 {223
91 8 [|IMNRARTHI31 & Eifh 27.00 |73
90 8 [|IMNRKNTHI32 &HES Eih 53.05 |{1R Bt
90 3 hRATHI[32 ZFHF 16 |E 187.33 |{Z254h
89 10 [/NRATHI[34 ZFHF2 [E# 120.49 |7 2230
89 19 [/ZNRATHEI[34 &3 [E# 120.64 [{7 234
89 22 IMNRKRTH 34 FH4 Eith 130.58 |{1Z 25 b
89 23 '"NRATHE 34 FS5 [EH#h 120.60 [{7 234
89 11 [/MNRATHI[34 FE6 Eith 108.01 [{1Z 25 h
89 7 IMNRRTH (34 & 41 |HMiEH 1.24 1R 2230
89 9 [/NRATHI[34 FE42 |Eih 120.62 |{1Z 25 h
89 18 ["MNRATE |34 #F 43 |Ei#h 11.00 |7 833
51 4 [WNEETHI3 &3 Eith 212.15 [{R &
51 8 |'"NRETH]I3 &4 MEFEHD 35 |REH
51 2 |'"MRETH 3 E6 Eith 30.00 [{2 583
42 11 INRETHI6 &7 [E# 7.00 |22
41 13 'MEETH |7 %1 Mg 35 |[RE#
41 15 MNRETH |7 % 3 Eih 16.00 |{R &b
41 18 '"MRETH |7 E6 Eih 2.00 [{£ 221k
41 20 '"hNRETEB |7 FH&8 [EH# 4.00 |{RE3ih
41 23 "MNRETH |7 EF 11 |E 2.00 [R&Hs
41 4 NRETBEI|7 #FHF 21 [E# 6.00 |2
41 6 |'"MNRETH]|[7 & 23 |EH 7.00 {2221k
41 11 NRETH|[7 #HF 28 [Ei# 6.00 1R B
41 12 /MNRETH |7 & 29 |Eih 18.00 |12 581t
48 7 [WhRETHI[9 FH2 |[£H 46.00 {75310
50 A[55 |"MNREETHI[10 FH3 Eih 500 [{R &
50 A7 IIMNRETH |10 F 16 [Fih 3.00 |22
50 Al8 |IMNRETH |10 F 17 [FEih 3.00 [{£ 221k
50 Al13 'hMNEETH |10 F 21 [FEih 2.00 |{RE3ih
50 Al16 ["MNRETH |10 F 24 |Eih 6.00 [{R &
50 Al19 I"MNRETH |10 #F 27 [FEih 6.00 [R B
50 Al24 INRETH |10 #F 32 |azmEm| 28 |{REiH
50 AJ26 "MNRETH |10 #F 34 [FEih 22.00 [{2523h
50 A28 ['NRETH |10 FH 36 [FEih 23.00 [ 523
50 AJ29 "MNRETH |10 #F 37 [FEih 11.00 |12 &
50 A|37 ['MNRETH |10 FH 45 [FEih 7.00 {22k
50 Al40 "MNRETH |10 F 48 [Eih 8.00 [R&H
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50 Al44 'MNRETH |10 #F 52 [FEih 8.00 [R&H
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36 20 '"MRETHI[26 FH9 Eih 8.00 [{£251h
36 2 [/hNREETHI[26 F 11 |E# 2.00 [REFHh
36 3 |'"PRETHI[26 FE 12 |Eih 3.00 {225 Hh
36 11 MNRETBE |26 #F 20 |Ei#h 7.00 [REZh
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33 16 [/MNEETH|28 & 14 |FEih 11.00 |2 &b
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26 28 '"NRETHE[30 FE 15 [EHh 41,00 [{2523h
26 30 '"NRETH 30 F17 |EH#h 18.00 {2 &b
26 31 /hNRETHI[30 ZFHF 18 |Eih 20.00 |17 223
26 36 |[/NRETH 30 FHE29 [FEih 44.00 |22 #h
26 37 'hNRETEB |30 F*H37 [EH# 22.00 [{2583h

101




FEH/PNRE TRE284F 98
|IBFrith FEXFBESR
IE 442 %ﬁm%

HE2 BE wE [ EE | D= By BE [ ®E | mE | e
26 44 INZRETHBI[30 FH 41 |=EH# 132.28 |{E2B1h
26 10 "MNRETHI[30 FE42 [Eih 100.86 [R5
28 28 'MNRETHI31 &HES Eith 6.00 |1 22 #h
28 16 /MNRETH([31 F7 Eih 7.00 |12 22k
28 11 /MNRETH[B1 F9 Eih 16.00 |12 &1
28 2 hRETHI[B1 ZFHE 12 |EH 4.00 {222
28 5 INRETH [31 FE 15 |E# 11.00 |{REEh
28 29 '"hNRETH 31 F 16 [EHh 17.00 {2 &b
28 6 |/NRETHBI31 FHwE17 |Eih 108.74 |22 0
28 19 /NRETHB 31 & 25 |[E# 2.00 [{£ 22k
28 21 UNREETB 31 # 27 |=Eih 9.00 [fREEih
28 24 /NRETHI[B1 ZFHF30 |EH 9.29 |[{£ &k
27 3 _DRETH (32 #F2 |[#iEih 28 |RZ#h
32 1 INRETHI33 #FHS Eih 321.60 [{RZh
76 18 |[/MRJI\TH |2 E2 Eith 9.00 [E B
76 21 '"hNRI\TEB |2 F&5 [EH# 4.00 |{REZHh
76 23 |/MRJ\TH [2 7 Eih 7.00 [R B
76 9 |/MRIN\THEI|2 F20 [EH# 13.00 |7 853
76 11 /MRI\TH |2 & 22 |EH 31.00 [{2583h
76 13 [/NRINTEH|[2 #FH24 [E# 43.00 [{REZih
76 14 |/MRI\TH |2 &z 25 |EH 67.00 |{1R 5
79 6 |[/NRINTEI3 T2 [EH# 56.00 |23 #h
79 7 !hMRI\TH |3 &3 Eith 38.00 [{2 583
79 2 |MNRI\TEI3 F6 [EH 18.00 |7 833
79 3 |'MNRJNTH]3 7 Eith 43.00 |{R 22 3h
78 28 '"NRI\THE |4 F&3 |[EH 5.01 |{REZih
78 20 /MNRIATHI4 FH4 Eith 4.00 {7221k
78 32 '"MNRI\TEI4 FT71 [EH# 5.00 |{REZih
78 33 'hMR/N\TH[4 &S Eih 5.00 [{Z 25 #h
78 37 '"hRI\TE 4 Fi12 [EH# 11.00 |{REZih
78 4 [WMR)\THI4 FE17 |Eth 102.54 |{Z 2540
78 14 NRINTEHI[4 #F27 [E# 21.00 [{REZih
78 15 "NRI\TB |4 %28 |=Eih 17.00 |2 581
78 17 /NRINTHE[4 #FHF 30 [E# 17.00 |{REZih
78 20 'hNRI\TH |4 & 33 |EiH 16.01 [{R &
78 22 "NRI\TEB |4 F35 [EH# 17.00 |{REZih
78 25 UhNRINTHI[4 FHE37 |Eth 26.00 [{Z 523
77 4 |NR)NTHEI|5 #FHF13 [E# 12.44 {7534
77 7 MRINTHI5 F 16 |Eih 5.00 |12 22k
77 9 INEJ\TH |5 & 18 |Eih 3.00 [{E 231
77 11 [/MRJ\TH |5 & 20 |EH 500 [{R &
75 2 |/MNRJ\TH |6 6 Eih 29.00 [{2523h
75 4 |INR)NTHI|6 FE8 [FEi 20.00 [{R 2210
75 5 |!MNRJI\TH |6 9 Eih 27.00 [{2523h
85 2 |/RIANTEBEI10 FE9 |[Eih 446.94 |{R B
84 5 |IMRNATH11 #FES Eih 141.50 {225 3h
15 B[13 [/"hMRATH[14 F2 |EH 51.00 |[{£ &5t
15 Bli16 [/"MNR/N\TH |14 %6 Eih 10.00 |12 &
15 Bl19 [/pMRATH[4 FEE9 [FEi 7.76 |2 B
25 3 |MNRATHI16 #FES Eih 6.00 [R B
25 2 [INRNTH[16 & 10 |Eih 120.51 |{Z 2540
25 11 [RIANTHE[6 ZF 11 [E# 120.50 |12 2Z3h
25 12 INRINTE[16 FE12 [Eih 47.36 |17 23
25 13 /NRI\TB |16 # 13 |#fEH R EEED
24 23 UhNEIN\TH[7 FE 7 |HiEH I CETS
24 22 'hNENTHN7 FES [HiEH NERCEED
24 19 |/MNR\NTH[7 FE9 Mg 41 |[REH
24 21 /"NRI\TEB [17 FE 10 [EH# 2.00 {7221

102




EEH/INRMX FR 2849 A

73 21 |'MRATH

Mt 2.23 |22
H

73 26 |'"NREATH FEih 1.48 |{R B

73 4 |INRATH Eih 140.66 [{Z254#h

73 25 |'NREATH E Hh 177.48 |12 2B ih

73 23 |'NRATH 51& 139.22 |{Z254h

HlWIN|[=]|O|lo|o|N|o |G| ]|WIN

73 24 |!MNRATH E i 139.04 |12 2Zih

71 16 |/"NEATH E i 17.00 |2 &b

71 3 |'MNRATH Eih 115.56 |12 2Eih

71 6 |!NRATH E i 190.35 [{Z25Hh

©o|co|—

71 14 [/NRATH Eih 58.00 {2223

66 13 |'"DNRATH E i 34.00 [{RE2Hh

66 22 !MNRATEH Eih 17.00 |12 &

|IBFrith FEXFBESR
IE 442 %ﬁm%

HE2 BE wE [ EE | D= By BE [ ®E | mE | e
24 2 INEINTH 17 FE 12 [E£ih 3.00 [{R 221t
23 Bl4 |/NRINTB |18 #F 2 |HiEH# 44 |{REEHh
23 A[3 |/MNRINTH[19 %6 Eith 29.00 [{2523h
21 8 |!hMRIN\THI[20 FE4 Eifh 25.00 |73 H#h
19 4 |INRIANTH |21 #F6 Eith 13.00 |12 &
19 5 WhRINTHI[21 FES Eifh 11.00 [{R 55
19 6 [MNRATHI|21 FE Eith 4545 |12 583
18 1 INRANTHI[22 FE 6 Eifh 119.91 {753
17 7 [/MRINTH[23 F2 Eith 29.00 [{2523h
17 8 ['NEJ\THI[23 FE4 |[EH 131.93 {785 #h
17 3 |'MNRJ\NTH |23 #E6 Eith 10.00 |22
17 5 [/hNRJ\THI[23 FHE 8 |[EH 13.00 |7 534
16 2 |IMNRIA\TH |24 FHES Eith 31.00 [{2 583
16 4 [hRINTHI[24 &S [=Eih 3.00 [R &
15 Al6 ["MNRI\TH |25 &3 Eith 10.00 |2 &1
15 A1 INERJ)\TH |25 #&ES E# 160.12 [{£5#h
15 Al2 [/MNRINTHI|25 &6 Eih 174.12 |[{1& 28 #b
15 Als [/MRANTHI[25 &7 |EH# 18.00 |7 234
14 12 /MNRINTH |26 F 4 Eith 99.70 [{2 583
14 13 "MNRINTE |26 &S5 |EHh 22.00 |{R 83
14 15 /MNRINTHI([26 F7 Eih 37.00 [{2 583
14 4 [hRINTHI[26 FE 12 [Eih 21.00 [{RZ#h
14 9 |/MRINTHI[26 F15 |Eih 4500 |12 583
22 5 [WhNRINTHI[27 FHFE?2 |[EH# 10.00 [{R &t
13 7 IDMRINTH|[28 &7 Eih 12.00 |12 &b
13 8 INERJ)\TH |28 #F*S8 E# 70.00 [{RZ#h
13 1 INRJ\TH [28  F 11 |HfEH 49  |RZ#h
12 8 |!MNREJI\THI[29 FE4 Eih 5.00 |{R 2510
12 11 [/MNRINTH[29 F7 Eih 47.00 {7523
73 3 |'"NREATH &2 Eih 130.34 |12 2Zih
73 22 |'MNRATH E 23 [azmEm| 111 [{F2EH
73 16 |[/NEATH & 2 E# 135.32 [{R 23t
73 17 |'"NRATH E2 Eih 132.26 |{Z25#h
73 18 ['NEATH & 2 E# 137.03 [{E 231
73 19 |'"NRATH E2 Eih 136.07 |1 25#h
73 20 'hNRATH & 2 E# 113.74 |12 581

2
3
&3
&3
&3
3
1
1
1
1
&3
4
&6
1
1
1
1
2
1
1
&3
3

DA |WWW|W|W|W|W W ININININ === ]|=]=]=]=]=]=|—=]|—= ||

_u'L_u'L_u'L_m_mJn.m.m.md;‘}_m_m_m_m_m_m_m_m A
Al
=

66 14 |/NRATH 3.00 [{£ 22k
66 18 ['"DNRATH 0 [=E# 3.00 [REH
66 19 |'"NEATH 1 E i 5.00 |1 22k
66 2 |!MNRATEH 4 |Eih 179.03 |12 2Zith
66 7 ['MNRATH 8 |EH 2.00 [{£ 22k
66 9 |!MNRATH 0 |Eih 4.00 [REH
62 29 |'MNRATH 1 £ Hh 30.00 |{& 523k
62 18 |['NRATE 2 |Eih 30.00 [R 2
62 5 |INRATE 4 |Eh 32.00 |{& 22 Hh
64 11 /MNRATH E ih 10.00 |12 &

103




EEH/DNRMX FR284 98
|IBFrith FEXFBESR
12 - EES
HE3 E wE [ EE | D= By T
64 25 ["NRATEI|6 T4 [EH 110.29 |20
64 12 INREATHI6 &S5 [Ei 116.47 [{R 22 #h
64 6 |["MNRATHI|6 FE17 |Eih 11.00 |28t
64 8 |'"NRATHI[6 FE25 |Ei 24.00 |17 22 3h
63 16 /"MNREATEB|7T &8 |Ei 176.79 |22 #h
63 14 [/NERATH |7 &9 Eih 176.69 [{E 21
68 19 MNREATH[1L F6 Eih 15.00 |12 83t
68 15 '"MNRATH 1 &FE7 E#h 14357 [R5
68 16 [/NRATHE[11 &8 [Ei# 14.00 |12 583t
68 18 /"MNRATHI[11 FE 11 [Eih 12.00 |12 &
68 2 |hNRATBE 11 FE12 |[EH#h 175.43 1R 2230
68 3 INRATH |11 & 13 |EH 17.00 [{7231h
68 7 IhNRATE[11 &FE 16 |E# 14.00 |2 224
3 3 hRATHI[21 ZFH 14 |EH 20.00 |22 3h
5 2 |/NRATE |23 FE 10 [EH#h 12.00 |12 583
4 11 MNREATB |26 #F 9 |HiE# | 131 [FE=Em
4 12 UNRATH([26 F 10 |MiEHh 8.55 (R &
4 2 |IMNRATH 26 #F 13 [E#h 15.00 | 833
4 4 |IZNEHATHBI[26 FEi15 |EH 8.00 [{£ 221t
4 6 |'"MNRATHI[26 FE17 |Eih 118.66 |{R231h
1 49 hNRATHI[27T F2 [Fih 11.00 |28t
1 56 ["MNRATH |27 & Eih 46.00 |{R5Z#h
1 62 |[/NRATE |27 F&E 15 [Eih 1.00 |2 2210
1 65 "NRATH 27 F 18 [EH 12.00 |7 833
1 66 [/NRATH [27 & 22 |FEih 35.00 |fREE#h
1 71 "NRATH 27 T 28 [Eih 12.00 |12 &
1 75 [/WRATHI[27 #HE 32 |EH#h 6.00 |1 221k
1 16 /NRATE |27 #F 51 |HfEh I EEED
1 25 ["NRATE |27 FEE58 |Eih 10.00 |12 581
1 26 /MNRATH (27 #F 59 [E#h 9.00 1R B
1 29 "NRATE |27 FE62 |Eih 11.00 |28
1 30 [/"MNRATH |27 #F 63 [E#h 12.00 |7 823
1 33 '"NRATH |27 FEE66 |Eih 11.00 |28
1 34 'NRATHI|27 FH 67 |EH 10.00 |2 281
1 36 |[/NRATH |27 FEE69 [|Eih 11.00 |28
1 41 [IhNREATHI[27 & 73 [Eih 13.00 |2 281
10 8 [IMNRATH 28 T4 |ZHEM] 2715 |REH
10 9 [!MNRATHI[28 &S Eih 76.00 |[{R 2B
INRE—TH [301 F aemER] 3999 B
INE—TH [302 F aeman] 705 [EE
INRE—TH [303 F aemER] 1,189 B
INE—TH [304 & azmEn| 393 |[EER
INE—TH [305 & aemaw] 177 [ER
INR—TH [306 & semEg| 102 [ERK
INR—TH [307 & aemen] 93 [ER
INR—TH [308 & semEr| 426 [ERK
INE—TH [309 & aemen] 348 [EER
INR—TH [310 & semEr| 346 B
INE—TH [311 & aeman] 219 [EER
INR—TH [312 & aemEi] 1,024 [ERK
INRE—TH [313 F NeRER] 1,653 B
INR—TH [314 & semEr| 78 [ERK
INR—TH [315 & aeman] 195 [EER
INR—TH [316 & semEr| 218 [ERK
INR—TH [317 & aemen] 1,842 [EER
INE—TH [401 FE BEKE| 2466 |3l
INR—TH [402 F 12 101 |#8)1138
INRZTHI[6 F NE 3197 [NE

104




EEH/INRMX FR 2849 A

IE IE%ﬁi‘mgﬂll\\ﬁ
4% %ﬁm%

HE3 E BE | mE | O B g BE | WmE [ BE | e
IR ZTH [101 NRAEE| 5007 |ER
INRZTH 102 nemEk| 3469 |EE
IREZTH [103 aemEn| 1,317 | B
INREZTH [104 ARAEE| 153 | BE
INR=TH [105 aemEn| 230 |EE
INRZTH [106 nemEk| 247 [ERH
INR=TH [107 neREn| 1,344 | EE
INRZTH [108 nemER| 1,454 |ERH
INRZTH [109 nemEEr| 794 |[EH
INRZTH |110 semEk| 345 |EE
INRZTH [111 NeAEE| 1,029 B
INEZTH [112 serEk| 539 |EH
INR=TH [113 NRAER| 206 |ER
INEZTH [114 sepEn| 116 |EH

INRZTH |115 agmEk] 1,035 [EE

INEZTH [116 aemEn| 220 [EE

INRZTH [117 sgmE] 319 [EE

INREZTH [118 agmEn] 497 [EE

INRZTH [119 ngmEn| 288 |[EF

INREZTH [120 agmEn] 468 [EE

INEZTH [121 aemEn| 702 |[EE

INEZTH [122 semEi| 660 |[EE

INRZTH [123 nemEw| 287 [EER

INERZTH [124 semEk| 328 |EE

INRZTH [125 agmEn| 118 |[EF

INEZTH [126 aemEn| 969 |[EHE

O [ [ | O | E [ DR |y [ [ | o [ | f e | o e f o | R f e | i | [ e | o | ) [ e | o

INRZTH [127 ngmEk] 3247 |EE

INRETH |2 MrEhh | 4738 [sEM
INR=TH |4 150 |[/NE
INE=TH [14 NE 2497 [NE

INR=TH [101 ngmEE] 2332 |[EE

INE=TH [102 nemEn| 1,496 B

INER=TH [103 agmE®| 144 |EE

INR=TH [104 nemEn| 1,343 [JEE

INR=TH [105 ngRER| 325 B

INE=TH [106 nemEn| 625 |[EE

INR=TH [107 ngmak| 585 B

INR=TH [108 aemEn| 351 [EE

INR=TH [109 nemEn| 252 [EER

INR=TH [110 nemEn| 448 [BE

INNR=TH [ nemaw| 147 [ER

INRE=TH 112 sempEn| 1,107 |EE

INE=TH [113 aemER| 111 aE

INR=TH [114 aemEn] 154 |EE

INE=TH [115 amE®k| 734 B

INR=TH |116 sepEn| 167 |EE

INE=TH [117 agmE®| 474 |EE

INR=TH [118 agmER] 1,115 [EE

INE=TH [119 nemEE| 2711 EE

INR=TH [120 nemEn| 1846 |EE

INE=TH [121 NRmER| 2440 |[EE

INR=TH [122 agmEE] 400 |EE

INE=TH [123 nemEr| 371 [JEE

INR=TH [124 NeAER| 893 |ER

o0 e o e e
S
P

O | TR | | R [ | R | e )R )R | e e R | e o | | o e | ) | R | oy R [ R | e ) | R | e f e [ e

INR=TH [125 aeman| 647 [EE
INR=TH [126 semEk| 661 BN
INR=TH [127 ARAER| 484 |BEE
INR=TH [128 nemEn| 746 EE

105




EEH/INRMX FR 2849 A

. BT B xR R
4% %ﬁm%

HE3 E wE [ EE | D= By T
INR=TH [129 semE| 811 [ERK
INRE=TH [130 nemEw| 723 |EKR
INR=TH [131 azREn| 687 | B
INR=TH [132 aemEn| 961 [EER
INR=TH |133 semakl 2162 |[EE
INE=TH [201 K|t [30)1]
INR=TH 202 2 620 [BEJI|1R
INRIATH 101 ngmE®| 5357 BB
INRETH [102 neREn| 934 |EE
INEPTH [103 semEn| 794 |EE
INREMTH [104 aeREn| 772 | EE
INEPTH [105 semEn| 975 |EE
/INRPETH [106 nemEn| 427 |EE
INEPUTH 107 nmER| 432 |[EE

/INRETH [108 ngmEk] 2037 [EE

INREMETH [109 agman| 285 [EE

/INRIOTH [110

INEPTH [111 azmEr| 901 |EE

INRPOTH [112 ngmEn| 261 [EE

INRMETH [113 aeman| 883 [EE

INRETH [114 ngmEk| 864 |BEE

INRMETH [115 agman| 831 [EE

INRPOTH [116 ngmE| 483 |[EF

MNREMETH [117 agman| 590 [EE

INRIOMTH [118 ngmEk] 1,883 |[EE

INREMETH [119 agman| 255 [EE

3
3
3
3
3
3
3
3
3
ARAER] 1902 B
3
3
3
3
3
3
3
3
3
3

INREPETH [120 agman] 3458 [EE

INERTH |3 MiEHh | 5857 |AEm
INERTH |9 NE 2499 | NE

INEFRTH [101 nmEk| 3,600 [EE

INERTH [102 ngmER] 1,183 | BEE

INEFRTH [103 nzmpE| 169 [BEE

INERTH [104 NERER| 662 B

INERTH [105 nzmER| 554 R

INERTH [106 aRmE®| 456 |SEE

INERTH [107 nemEk] 3,380 [BE

INERTH [108 ngEER| 951 |BEE

INERTH [109 nzmpER| 615 |BEE

INERTH [110 agmER| 701 B

INERTH [111 NRAER| 449 |BE

INERTH [112 ngmEE| 943 | EF

INRATH [113 NRAER| 854 |ER

INERTH [114 nEAER| 536 |Bb

INRATH [115 NRAER| 526 |ER

INERTH 116 nemER| 138 EE

INRATH [117 ~zpER| 87 BN

INERTH [118 nemEn| 781 EE

INRATH [119 NeAER| 627 |ER

INERTH [120 nEAER| 508 B

INRATHE [121 NeAER| 75 |ER

INERTH [122 agmE®| 1512 BB

v

INRATH [123 NRAER| 290 B

INERTH [124 amE®| 544 |EE

v

INRETH [125 semEnl 145 |[EE

D D D KD DD 0 D D0 KD D 0D D D N ED D D D 0D D D K [ DK K4 [

O | TR | | R [ | R | [ R [ | oy R R | e ) | R | e ) | e f o [ | R e | ) | R | o | R [ R |

INERTH [126 amE®| 1,176 B
INRRETH [127 aeREn| 93 | EE
INERTH [128 aemEn| 542 |[EE
INRETH [129 aeman| 228 [EE

106




EEH/INRMX FR 2849 A

- BT B xR R
4% %ﬁm%

3 E BE | mE | O B g T
INRETH [130 azmEn| 237 |[EE
IRAETH [131 aemER| 1285 B
INRATH [132 aemEn| 178 [ER
INERTH [133 aemEk| 508 [EER
NERETH [134 sgmEk| 314 B
INRFETH [201 BEEKEE] 8726 [l
INERERETH 202 12 449  |BBJIIIE
INRRTH [101 nemEk| 2472 ERH
INRIRTH [102 aeREn| 9041 | EE
INRRTH [103 nemER| 80 |ER
INRRT B [104 aemEg| 220 [EH
INRRTH [105 nemER| 45 ERl
INRISTH [106 sgmEk| 323 |[BE
INRRTH [107 nemER| 199 BN

/INRIRTH [108 nemEn| 890 [EE

INRIRTH [109 AREER| 1,400 |BEE

INRIRTH [110 ngmEn| 115 |[EF

INRARTH [111 aeAER| 991 |EE

INRIRTH [112 ngmEn| 244 |[EE

INRARTH [113 NRAER] 1610 B

INRIRTH [114 ngmEn| 195 |[EF

INEIRTH [115 azmER| 603 |EE

INRIRTH [116 nemEw| 338 [EE

INRARTH [117 aemER| 131 |EE

INRIRTH [118 nemEw| 597 [EER

INEIRTH [119 amER| 465 |EE

INRIRTH [120

INRARTH [121 nemER| 237 |EE

INRIRTH [122 3102 |EF

INRIRTH [123 nzmEr| 949 [EE

INRIRTH [124 nemEn| 608 [EE

INRIRTH [125 nzmEr| 188 [EE

INRIRTH [126 nemEn| 661 [EER

INRARTH [127 aeAER| 351 B

INRIRTH [128 nemEn| 526 [EER

INRIRTH [129 NRAER| 46 B

/INRIRTH [130 nemEn| 392 [EER

INRRTH [131 nepER| 714 ER

INRIRTH [132 nemEw| 131 [EER

INRRTH [133 nepER| 142 ER

INRIRTH [134 nemEn| 649 [EE

INRIFRTH 135 amEk| 579 [EE

INRIRT H [136 azpEn| 852 |BER

INRIRTH 137 nemEn| 1587 [BE

INRIRTH [138 apER| 146 B

INRIRTH [139 nemEn| 249 [BE

&
5
&
5
&
5
&
g
%
5
%
5
%
5
%
5
%
5
%
seREr| 1,227 [EK
%
%
%
%
%
%
%
%
%
%
%
%
%
%
%
%
%
%
%
%

INRIRTH [140 azpEn] 1,428 |EE

INE+ETH |8 NE 2598 |[NE

NRETH (28 35 |iiEH 26 |rmeneeen

T D D [ Dk DK D [ (D D D [ D [ D D D [ Db DK D [ bt DD [ D | D [ B (DK D [ D DK (D [ D D [ D D B D D [ (D DK D [ DK [ K [
>
A
3
Tk
5

INRETH 101 agmEk| 5408 [ERR
INEETH [102 azpER| 606 | IR
/INREETH [103 agmEn| 544 B
INEETH [104 azpERr| 550 |BEER
INRETH [105 aemEn| 604 B
INEETH [106 rzpEn| 884 |ERR
INRETH [107 azEER| 311 Bk
IRETH [108 amEn| 522 B
INRETH [109 szpEr| 152 |[ER

107




EEH/INRMX FR 2849 A

- BT B xR R
4% %ﬁm%

HE3 E wE [ EE | D= By T
INRETH [110 semEg| 115 [EH
IMRETH [111 AREEE| 87 |BEE
INRETH [112 nemEn] 1232 [EE
INRETH [113 aemER| 192 |EE
INEETH [114 nemEn] 1251 [EE
INRETH [115 NemER| 198 |EE
INRETH [116 nemEn| 208 [EE
INRETH [117 aemER| 230 |EE
INEETH [118 NRFER 79 |[EE
INRETH [119 ARFAER] 1496 B
INEETH [120 aemEn] 171 [EE
INRETH [121 NzmER| 801 |EE
INRETH [122 nemEn| 198 [EE
INRETH [123 aemER| 52 |EE

INEETH [124 nemEn| 204 [EE

INEETH [125 nemER| 229 |EE

INEETH [126 ngmEn| 350 |[EF

INRETH [127 nemEg| 241 BN

INEETH [128 ngmEn| 267 |EE

INRETH [129 NREEE| 1,401 | B

INRETH [130 ngREE| 616 | B

INEETH [131 agmEn| 93 |[EE

INRETH [132 aemEn] 110 [EF

INRETH [133 semEn| 92 [EH

INRETH [134 nemEn| 627 |EE

INRETH [135 NRAER| 502 |EE

INRETH [136 ngmEE| 559 |BEF

INEETH [137 aeAER| 119 |EE

INEETH [138 nemEE| 119 B

INRETH [139 NRAER| 304 |EE

INEETH [140 NRRER| 396 B

INNRETH [141 AREER| 126 |BEE

INEETH [142 NRREER] 1226 B

O | T | D [T | T ) f R [T [ f e | | [ e | o | e | o [ | R f i | o e f e [ o 0 e | | o [ e | o D [ e | o [

INEETH [143 nzmEr] 1,926 [EE

INEJNTH 1 NE i N

L‘

INRJNTHB [101 NRAER| 5347 B

INERJ\T H [102 ngRER| 809 |BEF

INEJ\T H [103 nzmEr] 1,195 [EE

INEJ\TH [104 wmEn| 214 |EF

2|2

INEJ\T B [105 zma| 138 [EE

INRJ\T H [106 wmEln]| 491 B

2|3

INRJ\TH [107 wREk| 7876 |BEF

/INEJ\TH [108 wRER| 1564 |BL

2|

INRJVTH [109 wREm| 295 |EF

INEJNTH [110 zREn| 721 B

2|

INEJNTH |11 wREm| 730 |[EF

INEJNTH [112 wRElk| 473 BB

2|3

INRJVTH [113 wREm| 1,786 |BEF

INEJNTH [114 wREl| 293 BB

2|

INRJ\TH [115 wmEl| 296 |[BE

INEJ\TH [116 wREk| 2880 BB

2|

INRINTH [117 zmER| 611 B

INEJ\TH [118 wmEw| 302 |EE

2|

INRJNTH [119 %2 AR 69 |BE

D D D KD DD 0 D D0 KD D 0D D D N ED D D D 0D D D K [ DK K4 [

O | TR | | R [ | R |y | )R | R | oy R R | e R | R | e o | ) | | o | R | R |

b) L‘) b) b) b) b) b) b) b) b) b) b) b) b) b) b) b) b) b) b>

INEJNTH [120 wEEK| 686 |BEL
INRJNTH [121 eman| 261 [EE
INRJ\TH [122 ZAER| 262 |BEE
INRJ\TH [123 wmElk| 463 |[BE

108




EEH/INRMX FR 2849 A

|IBFrith FEXFBESR
IE 442 %ﬁm%
HE3 E wE [ EE | D= By T
INRINTH [124 szmEr| 188 [ER
INRJ\TH [125 aemER| 178 B
INRJNT H [126 aemEn| 223 [ER
INRJNTH [127 aemen] 998 [EER
INERJNTH [128 aemEn| 122 [ER
INEJNT B [129 aemER|] 1052 B
INRJNTH [130 agmEn| 365 B
INEJ\TH [131 aemER| 499 B
INRJNT H [132 aemEn] 231 [ER
INRATH [12 NE] 2154 |AE
INRATH [101 nemEk] 6208 [EE
INRATH [102 ARAEE| 639 |BE
INRATH 103 nemEn] 1,363 [BEE
INRAT B [104 ARAEE| 637 |BE

INRATH [105 ngmEn| 536 B

INRATH [106 aemER| 61 |BEE

INRATH [107 agmEn| 733 [EF

INRATH [108 NREER| 270 |EE

INERATH [109 agmEn] 2172 [EE

INRATH [110 ZAER| 64 |BE

INRATH [111 zmEn] 602 |[EF

INRATH [112 ek 394 [EF

INRATHE [113

zmEw| 427 |EE

INRATH [114 wmElk| 538 |BEH

INRATH [115 wmEw| 608 |EE

INRATH [116 #AERE| 430 |BER

INRATH [117 wmEk] 1,639 |[EF

INRATH [118 ZAEE| 106 |BER

INRATHE [119

INRATH [120 ZEEE| 419 |BEF

INRATH [121

#mEi| 3687 |[EE

INRATH [122 zmEn| 7510 [EE

INRATH [123 wmEw| 337 [EE

INRATH [124 eman| 1,155 [EE

INRATH [125 wmEw| 464 |[EE

INRATH [126 EER| 732 |BEE

INRATH [127

zRER| 4711 |ER

INRATH [128 eman| 1265 [EE

INERATH [129 wmEw| 764 |[EE

INRATH [130 ZEEE| 1,714 |BE

INRATH [131 wmER| 636 |BEE

INRATH 132 wmEm| 557 |BF

INRATH [133 wmEw| 133 |[EE

INRATHE [134 zRER| 122 |BE

INRATHE [135

1 124 A 2 02d A 0 02 A A 62 B2 A 2 A A A U2 A B 0 A B A A A B

zmEK| 112 |JEH

INRATH [136 eman| 100 [EE

D [ EDH [ED 0 KD DD 0D KD 0 KD 4 0D KD 4 [ KD DK B [

5
&
5
&
g
%
5
%
5
%
5
%
5
%
5
%
5
%
=mEn| 383 [EIE
1B B
%
%
%
%
%
%
%
%
%
%
%
%
%
%
%
%
%

>

INRATH 137 AmmER] 2000 B

109




